

Form No. MGT-7

Form language

 English Hindi**Annual Return (other than OPCs and Small Companies)**

[Pursuant to sub-section (1) of section 92 of the Companies Act, 2013 and sub-rule (1) of rule 11 of the Companies (Management and Administration) Rules, 2014]

All fields marked in * are mandatory

Refer instruction kit for filing the form

I REGISTRATION AND OTHER DETAILS

i *Corporate Identity Number (CIN)

L24298RJ2010PLC033409

ii (a) *Financial year for which the annual return is being filed (From date) (DD/MM/YYYY)

01/04/2024

(b) *Financial year for which the annual return is being filed (To date) (DD/MM/YYYY)

31/03/2025

(c) *Type of Annual filing

 Original Revised

(d) SRN of MGT-7 filed earlier for the same financial years

iii

Particulars	As on filing date	As on the financial year end date
Name of the company	GOYAL SALT LIMITED	GOYAL SALT LIMITED
Registered office address	Plot No.229-230, Guru Jambheshwar Nagar, Lane No.7 Gandhi Path, Vaishali Nagar,,NA,JAIPUR,Jaipur,Rajasthan,India,302021	Plot No.229-230, Guru Jambheshwar Nagar, Lane No.7 Gandhi Path, Vaishali Nagar,,NA,JAIPUR,Jaipur,Rajasthan,India,302021
Latitude details	26.906085774191254	26.906085774191254
Longitude details	75.74867766432422	75.74867766432422

(a) *Photograph of the registered office of the Company showing external building and name prominently visible

WhatsApp Image 2025-12-26 at 12.05.01 PM.jpeg

(b) *Permanent Account Number (PAN) of the company

AA*****4D

(c) *e-mail ID of the company

*****goyalsalt.in

(d) *Telephone number with STD code

91*****03

(e) Website

https://goyalsaltltd.com

iv *Date of Incorporation (DD/MM/YYYY)

26/11/2010

v (a) *Class of Company (as on the financial year end date)

(Private company/Public Company/One Person Company)

Public company

(b) *Category of the Company (as on the financial year end date)

(Company limited by shares/Company limited by guarantee/Unlimited company)

Company limited by shares

(c) *Sub-category of the Company (as on the financial year end date)

(Indian Non-Government company/Union Government Company/State Government Company/
Guarantee and association company/Subsidiary of Foreign Company)

Indian Non-Government company

vi *Whether company is having share capital (as on the financial year end date)

Yes

No

vii (a) Whether shares listed on recognized Stock Exchange(s)

Yes

No

(b) Details of stock exchanges where shares are listed

S. No.	Stock Exchange Name	Code
1	National Stock Exchange (NSE)	A1024 - National Stock Exchange (NSE)

viii Number of Registrar and Transfer Agent

1

CIN of the Registrar and Transfer Agent	Name of the Registrar and Transfer Agent	Registered office address of the Registrar and Transfer Agents	SEBI registration number of Registrar and Transfer Agent
U99999MH1994PTC076534	BIGSHARE SERVICES PRIVATE LIMITED	Pinnacle Business Park, Office no S6-2 ,6th floor,, Mahakali Caves Road , Next to Ahura Centre, Andheri East,Mumbai,Mumbai,Maharashtra,India,400093	INR000001385

ix * (a) Whether Annual General Meeting (AGM) held

Yes

No

(b) If yes, date of AGM (DD/MM/YYYY)

26/09/2025

(c) Due date of AGM (DD/MM/YYYY)

30/09/2025

(d) Whether any extension for AGM granted

Yes

No

(e) If yes, provide the Service Request Number (SRN) of the GNL-1 application form filed for extension

(f) Extended due date of AGM after grant of extension (DD/MM/YYYY)

(g) Specify the reasons for not holding the same

II PRINCIPAL BUSINESS ACTIVITIES OF THE COMPANY

i *Number of business activities

1

S. No.	Main Activity group code	Description of Main Activity group	Business Activity Code	Description of Business Activity	% of turnover of the company
1	C	Manufacturing	10	Manufacture of Food products	100

III PARTICULARS OF HOLDING, SUBSIDIARY AND ASSOCIATE COMPANIES (INCLUDING JOINT VENTURES)

i *No. of Companies for which information is to be given

0

S. No.	CIN /FCRN	Other registration number	Name of the company	Holding/ Subsidiary/Associate/Jo int Venture	% of shares held

IV SHARE CAPITAL, DEBENTURES AND OTHER SECURITIES OF THE COMPANY

i SHARE CAPITAL

(a) Equity share capital

Particulars	Authorised Capital	Issued capital	Subscribed capital	Paid Up capital
Total number of equity shares	20000000.00	17900250.00	17900250.00	17900250.00
Total amount of equity shares (in rupees)	200000000.00	179002500.00	179002500.00	179002500.00

Number of classes

1

Class of shares	Authorised Capital	Issued capital	Subscribed Capital	Paid Up capital
Equity				
Number of equity shares	20000000	17900250	17900250	17900250
Nominal value per share (in rupees)	10	10	10	10
Total amount of equity shares (in rupees)	200000000.00	179002500.00	179002500	179002500

(b) Preference share capital

Particulars	Authorised Capital	Issued capital	Subscribed capital	Paid Up capital
Total number of preference shares	0.00	0.00	0.00	0.00
Total amount of preference shares (in rupees)	0.00	0.00	0.00	0.00

Number of classes

0

Class of shares	Authorised Capital	Issued capital	Subscribed Capital	Paid Up capital
Number of preference shares				
Nominal value per share (in rupees)				
Total amount of preference shares (in rupees)				

(c) Unclassified share capital

Particulars	Authorised Capital
-------------	--------------------

Total amount of unclassified shares

0

(d) Break-up of paid-up share capital

Particulars	Number of shares			Total Nominal Amount	Total Paid-up amount	Total premium
	Physical	DEMAT	Total			
(i) Equity shares						
At the beginning of the year	0	17900250	17900250.00	179002500	179002500	
Increase during the year	0.00	0.00	0.00	0.00	0.00	0
i Public Issues	0	0	0.00	0	0	
ii Rights issue	0	0	0.00	0	0	
iii Bonus issue	0	0	0.00	0	0	
iv Private Placement/ Preferential allotment	0	0	0.00	0	0	
v ESOPs	0	0	0.00	0	0	
vi Sweat equity shares allotted	0	0	0.00	0	0	
vii Conversion of Preference share	0	0	0.00	0	0	
viii Conversion of Debentures	0	0	0.00	0	0	
ix GDRs/ADRs	0	0	0.00	0	0	
x Others, specify Nil	0	0	0.00	0	0	
Decrease during the year	0.00	0.00	0.00	0.00	0.00	0
i Buy-back of shares	0	0	0.00	0	0	
ii Shares forfeited	0	0	0.00	0	0	
iii Reduction of share capital	0	0	0.00	0	0	
iv Others, specify Nil	0	0	0.00	0	0	
At the end of the year	0.00	17900250.00	17900250.00	179002500.00	179002500.00	
(ii) Preference shares						
At the beginning of the year	0	0	0.00	0	0	

Particulars	Number of shares			Total Nominal Amount	Total Paid-up amount	Total premium
Increase during the year	0.00	0.00	0.00	0.00	0.00	0
i Issues of shares	0	0	0.00	0	0	
ii Re-issue of forfeited shares	0	0	0.00	0	0	
iii Others, specify <input type="text" value="Nil"/>	0	0	0.00	0	0	
Decrease during the year	0.00	0.00	0.00	0.00	0.00	0
i Redemption of shares	0	0	0.00	0	0	
ii Shares forfeited	0	0	0.00	0	0	
iii Reduction of share capital	0	0	0.00	0	0	
iv Others, specify <input type="text"/>			0			
At the end of the year	0.00	0.00	0.00	0.00	0.00	

ISIN of the equity shares of the company

ii Details of stock split/consolidation during the year (for each class of shares)

Class of shares		<input type="text"/>
Before split / Consolidation	Number of shares	
	Face value per share	
After split / consolidation	Number of shares	
	Face value per share	

iii Details of shares/Debentures Transfers since closure date of last financial year (or in the case of the first return at any time since the incorporation of the company)

Nil

Number of transfers

Attachments:

1. Details of shares/Debentures Transfers

iv Debentures (Outstanding as at the end of financial year)**(a) Non-convertible debentures**

*Number of classes

Classes of non-convertible debentures	Number of units	Nominal value per unit	Total value (Outstanding at the end of the year)
Total			

Classes of non-convertible debentures	Outstanding as at the beginning of the year	Increase during the year	Decrease during the year	Outstanding as at the end of the year
Total				

(b) Partly convertible debentures

*Number of classes

Classes of partly convertible debentures	Number of units	Nominal value per unit	Total value (Outstanding at the end of the year)
Total			

Classes of partly convertible debentures	Outstanding as at the beginning of the year	Increase during the year	Decrease during the year	Outstanding as at the end of the year
Total				

(c) Fully convertible debentures

*Number of classes

0

Classes of fully convertible debentures	Number of units	Nominal value per unit	Total value (Outstanding at the end of the year)
Total			

Classes of fully convertible debentures	Outstanding as at the beginning of the year	Increase during the year	Decrease during the year	Outstanding as at the end of the year
Total				

(d) Summary of Indebtedness

Particulars	Outstanding as at the beginning of the year	Increase during the year	Decrease during the year	Outstanding as at the end of the year
Non-convertible debentures	0.00	0.00	0.00	0.00
Partly convertible debentures	0.00	0.00	0.00	0.00
Fully convertible debentures	0.00	0.00	0.00	0.00
Total	0.00	0.00	0.00	0.00

v Securities (other than shares and debentures)

0

Type of Securities	Number of Securities	Nominal Value of each Unit	Total Nominal Value	Paid up Value of each Unit	Total Paid up Value
Total					

V Turnover and net worth of the company (as defined in the Companies Act, 2013)

i *Turnover

1299720490.75

ii * Net worth of the Company

555004130.07

VI SHARE HOLDING PATTERN**A Promoters**

S. No	Category	Equity		Preference	
		Number of shares	Percentage	Number of shares	Percentage
1	Individual/Hindu Undivided Family				
	(i) Indian	12998250	72.61	0	0.00
	(ii) Non-resident Indian (NRI)	0	0.00	0	0.00
	(iii) Foreign national (other than NRI)	0	0.00	0	0.00
2	Government				
	(i) Central Government	0	0.00	0	0.00
	(ii) State Government	0	0.00	0	0.00
	(iii) Government companies	0	0.00	0	0.00
3	Insurance companies	0	0.00	0	0.00
4	Banks	0	0.00	0	0.00
5	Financial institutions	0	0.00	0	0.00
6	Foreign institutional investors	0	0.00	0	0.00
7	Mutual funds	0	0.00	0	0.00
8	Venture capital	0	0.00	0	0.00
9	Body corporate (not mentioned above)	0	0.00	0	0.00

10	Others <input type="text"/>	0	0.00	0	0.00
	Total	12998250.00	72.61	0.00	0

Total number of shareholders (promoters)

B Public/Other than promoters

S. No	Category	Equity		Preference	
		Number of shares	Percentage	Number of shares	Percentage
1	Individual/Hindu Undivided Family				
	(i) Indian	4075800	22.77	0	0.00
	(ii) Non-resident Indian (NRI)	45000	0.25	0	0.00
	(iii) Foreign national (other than NRI)	0	0.00	0	0.00
2	Government				
	(i) Central Government	0	0.00	0	0.00
	(ii) State Government	0	0.00	0	0.00
	(iii) Government companies	0	0.00	0	0.00
3	Insurance companies	0	0.00	0	0.00
4	Banks	0	0.00	0	0.00
5	Financial institutions	0	0.00	0	0.00
6	Foreign institutional investors	82200	0.46	0	0.00
7	Mutual funds	0	0.00	0	0.00
8	Venture capital	0	0.00	0	0.00
9	Body corporate (not mentioned above)	495000	2.77	0	0.00

10	Others AIF, Clearing Member	204000	1.14		
	Total	4902000.00	27.39	0.00	0

Total number of shareholders (other than promoters)

1379

Total number of shareholders (Promoters + Public/Other than promoters)

1389.00

Breakup of total number of shareholders (Promoters + Other than promoters)

Sl.No	Category	
1	Individual - Female	334
2	Individual - Male	565
3	Individual - Transgender	0
4	Other than individuals	490
	Total	1389.00

C Details of Foreign institutional investors' (FIIs) holding shares of the company

1

Name of the FII	Address	Date of Incorporation	Country of Incorporation	Number of shares held	% of shares held
MERU INVESTMENT FUND PCC-CELL 1	c/o ONS FinServ Ltd The Gardens, Ground Floor Bagatelle Office Park Bagatelle, Moka, 80832, Mauritius	11/05/2023	Mauritius	82200	0.46

VII NUMBER OF PROMOTERS, MEMBERS, DEBENTURE HOLDERS

[Details of Promoters, Members (other than promoters), Debenture holders]

Details	At the beginning of the year	At the end of the year
Promoters	10	10
Members (other than promoters)	678	1379
Debenture holders	0	0

VIII DETAILS OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

A Composition of Board of Directors

Category	Number of directors at the beginning of the year		Number of directors at the end of the year		Percentage of shares held by directors as at the end of year	
	Executive	Non-executive	Executive	Non-executive	Executive	Non-executive
A Promoter	3	1	3	1	33.31	6.37
B Non-Promoter	0	2	0	2	0.00	0.00
i Non-Independent	0	0	0	0	0	0
ii Independent	0	2	0	2	0	0
C Nominee Directors representing	0	0	0	0	0.00	0.00
i. Banks and FIs	0	0	0	0	0	0
ii Investing institutions	0	0	0	0	0	0
iii Government	0	0	0	0	0	0
iv Small share holders	0	0	0	0	0	0
v Others	0	0	0	0	0	0
Total	3	3	3	3	33.31	6.37

*Number of Directors and Key managerial personnel (who is not director) as on the financial year end date

8

B (i) Details of directors and Key managerial personnel as on the closure of financial year

Name	DIN/PAN	Designation	Number of equity shares held	Date of cessation (after closure of financial year : If any) (DD/MM/YYYY)
RAJESH GOYAL	03324131	Whole-time director	1507500	
PRAMESH GOYAL	03304953	Managing Director	2189250	
LOKESH GOYAL	07085514	Whole-time director	2265000	
PRIYANKA GOYAL	10200893	Director	1140000	

NARENDRA DEV GARG	10554720	Director	0	
MANISHA GODARA	08116113	Director	0	
AMIT . KUMAR	BKIPK7873A	CFO	15000	
JAYANTI JHA RODA	BJVPJ4877K	Company Secretary	0	31/05/2025

B (ii) *Particulars of change in director(s) and Key managerial personnel during the year

1

Name	DIN/PAN	Designation at the beginning / during the financial year	Date of appointment/ change in designation/ cessation (DD/MM/YYYY)	Nature of change (Appointment/ Change in designation/ Cessation)
NARENDRA DEV GARG	10554720	Additional Director	08/08/2024	Change in designation

IX MEETINGS OF MEMBERS/CLASS OF MEMBERS/ BOARD/COMMITTEES OF THE BOARD OF DIRECTORS

A MEMBERS/CLASS /REQUISITIONED/NCLT/COURT CONVENED MEETINGS

*Number of meetings held

1

Type of meeting	Date of meeting (DD/MM/YYYY)	Total Number of Members entitled to attend meeting	Attendance	
			Number of members attended	% of total shareholding
Annual General Meeting	08/08/2024	1070	22	76.11

B BOARD MEETINGS

*Number of meetings held

8

S.No	Date of meeting (DD/MM/YYYY)	Total Number of directors as on the date of meeting	Attendance	
			Number of directors attended	% of attendance
1	24/04/2024	6	6	100
2	05/07/2024	6	6	100

3	22/07/2024	6	6	100
4	22/08/2024	6	6	100
5	05/11/2024	6	6	100
6	17/12/2024	6	6	100
7	08/01/2025	6	6	100
8	29/03/2025	6	6	100

C COMMITTEE MEETINGS

Number of meetings held

13

S.No	Type of meeting	Date of meeting (DD/MM/YYYY)	Total Number of Members as on the date of meeting	Attendance	
				Number of members attended	% of attendance
1	Audit Committee Meeting	24/04/2024	3	3	100
2	Audit Committee Meeting	05/07/2024	3	3	100
3	Audit Committee Meeting	22/08/2024	3	3	100
4	Audit Committee Meeting	05/11/2024	3	3	100
5	Audit Committee Meeting	29/03/2025	3	3	100
6	Nomination and Remuneration Committee Meeting	22/07/2024	3	3	100
7	Nomination and Remuneration Committee Meeting	25/03/2025	3	3	100
8	Stakeholders Relationship Committee Meeting	05/04/2024	3	3	100
9	Stakeholders Relationship Committee Meeting	12/07/2024	3	3	100
10	Stakeholders Relationship Committee Meeting	09/10/2024	3	3	100

11	Stakeholders Relationship Committee Meeting	25/03/2025	3	3	100
12	Corporate Social Responsibility Committee Meeting	10/07/2024	3	3	100
13	Corporate Social Responsibility Committee Meeting	25/03/2025	3	3	100

D ATTENDANCE OF DIRECTORS

S. No	Name of the Director	Board Meetings			Committee Meetings			Whether attended AGM held on 26/09/2025 (Y/N/NA)
		Number of Meetings which director was entitled to attend	Number of Meetings attended	% of attendance	Number of Meetings which director was entitled to attend	Number of Meetings attended	% of attendance	
1	RAJESH GOYAL	8	8	100	7	7	100	Yes
2	PRAMESH GOYAL	8	8	100	0	0	0	Yes
3	LOKESH GOYAL	8	8	100	4	4	100	Yes
4	PRIYANKA GOYAL	8	8	100	6	6	100	Yes
5	NARENDRA DEV GARG	8	8	100	13	13	100	Yes
6	MANISHA GODARA	8	8	100	9	9	100	Yes

X REMUNERATION OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

Nil

A *Number of Managing Director, Whole-time Directors and/or Manager whose remuneration details to be entered

3

S. No.	Name	Designation	Gross salary	Commission	Stock Option/Sweat equity	Others	Total amount
1	Mr. Rajesh Goyal	Whole-time director	1800000	0	0	0	1800000.00
2	Mr. Pramesh Goyal	Managing Director	1800000	0	0	0	1800000.00

3	Mr. Lokesh Goyal	Whole-time director	1800000	0	0	0	1800000.00
	Total		5400000.00	0.00	0.00	0.00	5400000.00

B *Number of CEO, CFO and Company secretary whose remuneration details to be entered

2

S. No.	Name	Designation	Gross salary	Commission	Stock Option/ Sweat equity	Others	Total amount
1	Amit Kumar	CFO	312000	0	0	0	312000.00
2	Jayanti Jha Roda	Company Secretary	570000	0	0	0	570000.00
	Total		882000.00	0.00	0.00	0.00	882000.00

C *Number of other directors whose remuneration details to be entered

0

S. No.	Name	Designation	Gross salary	Commission	Stock Option/ Sweat equity	Others	Total amount
	Total		0.00	0.00	0.00	0.00	0.00

XI MATTERS RELATED TO CERTIFICATION OF COMPLIANCES AND DISCLOSURES

A *Whether the company has made compliances and disclosures in respect of applicable provisions of the Companies Act, 2013 during the year

Yes

No

B If No, give reasons/observations

XII PENALTY AND PUNISHMENT – DETAILS THEREOF

A *DETAILS OF PENALTIES / PUNISHMENT IMPOSED ON COMPANY/
DIRECTORS/OFFICERS

Nil

Name of the company/ directors/ officers	Name of the court/ concerned Authority	Date of Order (DD/MM/YYYY)	Name of the Act and section under which penalised / punished	Details of penalty/ punishment	Details of appeal (if any) including present status

--	--	--	--	--	--

B *DETAILS OF COMPOUNDING OF OFFENCES

Nil

Name of the company/ directors/ officers	Name of the court/ concerned Authority	Date of Order (DD/MM/YYYY)	Name of the Act and section under which offence committed	Particulars of offence	Amount of compounding (in rupees)

XIII Details of Shareholder / Debenture holder

Number of shareholder/ debenture holder

1389

XIV Attachments

(a) List of share holders, debenture holders

Details of Shareholder or
Debenture holder.xlsm

(b) Optional Attachment(s), if any

MGT 8.pdf
List of shareholders.pdf

XV COMPLIANCE OF SUB-SECTION (2) OF SECTION 92, IN CASE OF LISTED COMPANIES

In case of a listed company or a company having paid up share capital of Ten Crore rupees or more or turnover of Fifty Crore rupees or more, details of company secretary in whole time practice certifying the annual return in Form MGT-8.

I/We certify that:

- (a) The return states the facts, as they stood on the date of the closure of the financial year aforesaid correctly and adequately.
- (b) Unless otherwise expressly stated to the contrary elsewhere in this return, the Company has complied with applicable provisions of the Act during the financial year.
- (c) The company has not, since the date of the closure of the last financial year with reference to which the last return was submitted or in the case of a first return since the date of incorporation of the company, issued any invitation to the public to subscribe for any securities of the company.
- (d) Where the annual return discloses the fact that the number of members, (except in case of one person company), of the company exceeds two hundred, the excess consists wholly of persons who under second proviso to clause (ii) of sub-section (68) of section 2 of the Act are not to be included in reckoning the number of two hundred.

I/ We have examined the registers, records and books and papers of as required to be maintained under the Companies Act, 2013 (the Act) and the rules made thereunder for the financial year ended on (DD/MM/YYYY)

In my/ our opinion and to the best of my information and according to the examinations carried out by me/ us and explanations furnished to me/ us by the company, its officers and agents, I/ we certify that:

A The Annual Return states the facts as at the close of the aforesaid financial year correctly and adequately.

B During the aforesaid financial year the Company has complied with provisions of the Act & Rules made there under in respect of:

- 1 its status under the Act;
- 2 maintenance of registers/records & making entries therein within the time prescribed therefor;
- 3 filing of forms and returns as stated in the annual return, with the Registrar of Companies, Regional Director, Central Government, the Tribunal, Court or other authorities within/beyond the prescribed time;
- 4 calling/ convening/ holding meetings of Board of Directors or its committees, if any, and the meetings of the members of the company on due dates as stated in the annual return in respect of which meetings, proper notices were given and the proceedings including the circular resolutions and resolutions passed by postal ballot, if any, have been properly recorded in the Minute Book/registers maintained for the purpose and the same have been signed;
- 5 closure of Register of Members / Security holders, as the case may be.
- 6 advances/loans to its directors and/or persons or firms or companies referred in section 185 of the Act;
- 7 contracts/arrangements with related parties as specified in section 188 of the Act;
- 8 issue or allotment or transfer or transmission or buy back of securities/ redemption of preference shares or debentures/ alteration or reduction of share capital/ conversion of shares/ securities and issue of security certificates in all instances;
- 9 keeping in abeyance the rights to dividend, rights shares and bonus shares pending registration of transfer of shares in compliance with the provisions of the Act
- 10 declaration/ payment of dividend; transfer of unpaid/ unclaimed dividend/other amounts as applicable to the Investor Education and Protection Fund in accordance with section 125 of the Act;
- 11 signing of audited financial statement as per the provisions of section 134 of the Act and report of directors is as per sub - sections (3), (4) and (5) thereof;
- 12 constitution/ appointment/ re-appointments/ retirement/ filling up casual vacancies/ disclosures of the Directors, Key Managerial Personnel and the remuneration paid to them;
- 13 appointment/ reappointment/ filling up casual vacancies of auditors as per the provisions of section 139 of the Act;
- 14 approvals required to be taken from the Central Government, Tribunal, Regional Director, Registrar, Court or such other authorities under the various provisions of the Act;
- 15 acceptance/ renewal/ repayment of deposits;
- 16 borrowings from its directors, members, public financial institutions, banks and others and creation/ modification/ satisfaction of charges in that respect, wherever applicable;
- 17 loans and investments or guarantees given or providing of securities to other bodies corporate or persons falling under the provisions of section 186 of the Act ;
- 18 alteration of the provisions of the Memorandum and/ or Articles of Association of the Company;

To be digitally signed by

Name

JAI PRAKASH SHARMA

Date (DD/MM/YYYY)

30/12/2025

Place

Jaipur

Whether associate or fellow:

Associate

Fellow

Certificate of practice number

5*6*

XVI Declaration under Rule 9(4) of the Companies (Management and Administration) Rules, 2014

* (a) DIN/PAN/Membership number of Designated Person

64264

* (b) Name of the Designated Person

GOURISHANKAR BOOSAR

Declaration

I am authorised by the Board of Directors of the Company vide resolution number* 6 dated* (DD/MM/YYYY) 26/08/2025 to sign this form and declare that all the requirements of Companies Act, 2013

and the rules made thereunder in respect of the subject matter of this form and matters incidental thereto have been complied with. I further declare that:

- 1 Whatever is stated in this form and in the attachments thereto is true, correct and complete and no information material to the subject matter of this form has been suppressed or concealed and is as per the original records maintained by the company.
- 2 All the required attachments have been completely and legibly attached to this form.

***To be digitally signed by**

***Designation**

(Director /Liquidator/ Interim Resolution Professional (IRP)/Resolution Professional (RP))

Director

***DIN of the Director; or PAN of the Interim Resolution Professional (IRP) or Resolution Professional (RP) or Liquidator**

0*3*4*5*

***To be digitally signed by**

Company Secretary Company secretary in practice

***Whether associate or fellow:**

Associate Fellow

Membership number

6*2*4

Certificate of practice number

Note: Attention is drawn to provisions of Section 448 and 449 of the Companies Act, 2013 which provide for punishment for false statement / certificate and punishment for false evidence respectively.

For office use only:

eForm Service request number (SRN)

AC0916870

eForm filing date (DD/MM/YYYY)

31/12/2025

This eForm has been taken on file maintained by the Registrar of Companies through electronic mode and on the basis of statement of correctness given by the company

**List of Shareholders
of
Goyal Salt Limited
As On 31/03/2025**

SR_NO	TYPE OF SHAREHOLDER/DEBENTURE HOLDER	CATEGORY OF SHAREHOLDER	DETAILS OF SHAREHOLDER	NAME OF SHAREHOLDER/DEBENTURE HOLDER	TYPE OF SECURITIES	DP ID CLIENT ID / ACCOUNT NUMBER	NATIONALITY	GENDER	TYPE OF IDENTIFIER	IDENTIFICATION NUMBER	OCCUPATION	NUMBER OF SECURITIES HELD	NOMINAL VALUE PER SECURITY	TOTAL AMOUNT OF SECURITIES HELD IN INR
1	Individual	Other than promoters	Not applicable	HARI GOPAL GOYAL	Equity	IN30011830176440	India		Income Tax PAN	ABIPG0769K	PROFESSIONAL	600	10	6000
2	Individual	Other than promoters	Not applicable	RAKESH GUPTA	Equity	IN30011830236768	India		Income Tax PAN	AEFPG7579H	PROFESSIONAL	2400	10	24000
3	Individual	Other than promoters	Not applicable	AMIT KUMAR GATTANI HUF	Equity	IN30011830340182	India		Income Tax PAN	AADHA1929D		600	10	6000
4	Individual	Other than promoters	Not applicable	HARI GOPAL GOYAL HUF	Equity	IN30011830414577	India		Income Tax PAN	AABHH6813H		600	10	6000
5	Individual	Other than promoters	Not applicable	REKHA MODANI	Equity	IN30011830535558	India		Income Tax PAN	ACFPM8123M	PROFESSIONAL	600	10	6000
6	Individual	Other than promoters	Not applicable	UMESH GOYAL	Equity	IN30011880053118			Income Tax PAN	AMLPG1780G	PROFESSIONAL	3000	10	30000
7	Individual	Other than promoters	Not applicable	TRUPTI DHAVAL THAKORE	Equity	IN30012610568237	India		Income Tax PAN	ABUPT5335N	HOUSEWIFE	1800	10	18000
8	Individual	Other than promoters	Not applicable	PAWAN KUMAR SOMANI	Equity	IN30020611042879	India		Income Tax PAN	AUEPS5958F	PROFESSIONAL	1200	10	12000
9	Individual	Other than promoters	Not applicable	SATYA NARAYAN CHITLANGIYA	Equity	IN30021411573091	India		Income Tax PAN	ABBPC6142R	PROFESSIONAL	600	10	6000
10	Individual	Other than promoters	Not applicable	SUSHILKUMAR PUKHRAJ	Equity	IN30021412026810	India		Income Tax PAN	AAIHS8473F	PROFESSIONAL	600	10	6000
11	Individual	Other than promoters	Not applicable	KESHAV LAKHOTIA	Equity	IN30021418118673	India		Income Tax PAN	AAPPL3142F	PROFESSIONAL	600	10	6000
12	Individual	Other than promoters	Not applicable	SWATI JAIN	Equity	IN30021418895562	India		Income Tax PAN	AUQPJ8715K	SERVICE	600	10	6000
13	Individual	Other than promoters	Not applicable	SHIVAM JAIN	Equity	IN30021419030515	India		Income Tax PAN	AKPPJ2674N	PROFESSIONAL	3000	10	30000
14	Individual	Other than promoters	Not applicable	NILAKSH BABUBHAI SHAH	Equity	IN30021419075448	India		Income Tax PAN	AEOPS0719N	PROFESSIONAL	1800	10	18000
15	Individual	Other than promoters	Not applicable	SHIKHA AGARWAL	Equity	IN30021421972207	India		Income Tax PAN	AOKPG9595C	HOUSEWIFE	1200	10	12000
16	Individual	Other than promoters	Not applicable	LUKSHAY RASTOGI	Equity	IN30021422623025	India		Income Tax PAN	AXSPR5663B	SERVICE	600	10	6000
17	Individual	Other than promoters	Not applicable	PRASAD RAJENDRA TAPADIYA	Equity	IN30021426015483	India		Income Tax PAN	BFUPT6233C	STUDENT	600	10	6000

18	Entity	Other than promoters	Body corporate (not mentioned above)	COMITASE BUSINESS SOLUTIONS LLP	Equity	IN30021426506790	India		Income Tax PAN	AALFC9239N		6000	10	60000
19	Individual	Other than promoters	Not applicable	NARENDE R MUNOTH	Equity	IN30021426695803	India		Income Tax PAN	ACQPM1094E	PROFESSIONAL	3000	10	30000
20	Individual	Other than promoters	Not applicable	PURUSHO THAMSETTY RAJALBANDI	Equity	IN30021426778429	India		Income Tax PAN	AQRPS1730L	PROFESSIONAL	3000	10	30000
21	Individual	Other than promoters	Not applicable	MINAL BHATTACHARYA	Equity	IN30021426779270	India		Income Tax PAN	AAAPI5955N	SERVICE	26400	10	264000
22	Entity	Other than promoters	Body corporate (not mentioned above)	EQUITY4LIFE LLP	Equity	IN30021426785276	India		Income Tax PAN	AAIFE8732H		12600	10	126000
23	Individual	Other than promoters	Not applicable	ASHOK KUMAR LODHA	Equity	IN30021426830206			Income Tax PAN	ABRFM0414C	PROFESSIONAL	9000	10	90000
24	Entity	Other than promoters	Body corporate (not mentioned above)	RIQ WEALTH PRIVATE LIMITED	Equity	IN30021426877306	India		Income Tax PAN	AALCR0510N		600	10	6000
25	Individual	Other than promoters	Not applicable	SAMBHAV MUNOTH	Equity	IN30021427036193	India		Income Tax PAN	AOYPM7559Q	PROFESSIONAL	6000	10	60000
26	Individual	Other than promoters	Not applicable	LEENA SHARMA	Equity	IN30021427348808			Income Tax PAN	AJJPL0992Q	SERVICE	600	10	6000
27	Individual	Other than promoters	Not applicable	MANISHK UMAR RAMESHK UMAR TAORI	Equity	IN30021427366083			Income Tax PAN	AAUPT0647A	SERVICE	1800	10	18000
28	Individual	Other than promoters	Not applicable	JENNIFER SABRINA MASCARENHAS	Equity	IN30021427461719			Income Tax PAN	HZVPM9777D	AGRICULTURE	600	10	6000
29	Individual	Other than promoters	Not applicable	RAJEEV BHANDARI HUF	Equity	IN30021427465779			Income Tax PAN	AAFHR0003K		600	10	6000
30	Individual	Other than promoters	Not applicable	DEEPAK TOTLA HUF	Equity	IN30021427565895			Income Tax PAN	AAMHD6241A		600	10	6000
31	Individual	Other than promoters	Not applicable	NAVEEN AGARWAL (HUF)	Equity	IN30021427601468			Income Tax PAN	AAFHN4772H		600	10	6000
32	Individual	Other than promoters	Not applicable	SUMIT JAIN	Equity	IN30021430446446	India		Income Tax PAN	AFAPJ0887R	PROFESSIONAL	1200	10	12000
33	Individual	Other than promoters	Not applicable	NAISHADH BHAI SHAH	Equity	IN30021432710928	India		Income Tax PAN	APIJS4973E	PROFESSIONAL	3000	10	30000
34	Individual	Other than promoters	Not applicable	AMITABH SHARMA	Equity	IN30021432881763	India		Income Tax PAN	AXOPS2090R	RESIDENT	1800	10	18000
35	Individual	Other than promoters	Not applicable	SANJAYKUMAR BABURAM JINDGER	Equity	IN30021434164487	India		Income Tax PAN	ABGPJ1788H	PROFESSIONAL	600	10	6000
36	Individual	Other than promoters	Not applicable	NAMITA CHURIWAL	Equity	IN30021434828826	India		Income Tax PAN	AFUPC7130E	PROFESSIONAL	4200	10	42000

37	Individual	Other than promoters	Not applicable	VAISHALI KOTHARI	Equity	IN30021435438154	India		Income Tax PAN	CKXPK2149H	HOUSEWIFE	600	10	6000
38	Individual	Other than promoters	Not applicable	SUMAN SINGH	Equity	IN30021435483813	India		Income Tax PAN	BNFPS7882B	RESIDENT	1800	10	18000
39	Individual	Other than promoters	Not applicable	RAJIV DUBEY	Equity	IN30021435533165	India		Income Tax PAN	BLAPD9343K	PROFESSIONAL	3000	10	30000
40	Individual	Other than promoters	Not applicable	SANJEEV BHARGAVA	Equity	IN30021436222570	India		Income Tax PAN	AELPB0346K	RESIDENT	3000	10	30000
41	Individual	Other than promoters	Not applicable	URMILA CHOUDHARY	Equity	IN30021438635911	India		Income Tax PAN	ACAPC0908K	HOUSEWIFE	2400	10	24000
42	Individual	Other than promoters	Not applicable	MAHENDRA CHOUDHARI	Equity	IN30021438739439	India		Income Tax PAN	ABCPC2410M	PROFESSIONAL	6000	10	60000
43	Individual	Other than promoters	Not applicable	RADHEY SHYAM SINGH	Equity	IN30021439684958	India		Income Tax PAN	EATPS1363F	RESIDENT	600	10	6000
44	Individual	Other than promoters	Not applicable	ANKUR CHAUHAN	Equity	IN30021440753161	India		Income Tax PAN	AIPPC0348A	OTHERS	30600	10	306000
45	Individual	Other than promoters	Not applicable	RITU WASAN	Equity	IN30021442342341	India		Income Tax PAN	AAUPW2795A	PROFESSIONAL	1200	10	12000
46	Individual	Other than promoters	Not applicable	SANCHIT GOYAL	Equity	IN30021442707579	India		Income Tax PAN	ANQPG7001A	PROFESSIONAL	1200	10	12000
47	Individual	Other than promoters	Not applicable	AMARJIT KUMAR	Equity	IN30021450712074			Income Tax PAN	AXTPK3642C	AGRICULTURE	600	10	6000
48	Individual	Other than promoters	Not applicable	RAMAVTAR GANERIWAL	Equity	IN30021451155995			Income Tax PAN	ACPPG7382N	PROFESSIONAL	1800	10	18000
49	Individual	Other than promoters	Not applicable	PRIYANKA SINGH	Equity	IN30021451237755			Income Tax PAN	DGYPP8678G	PROFESSIONAL	21000	10	210000
50	Individual	Other than promoters	Not applicable	RAJAT AGRAWAL	Equity	IN30021455485451			Income Tax PAN	AEPPA1946N	PROFESSIONAL	600	10	6000
51	Individual	Other than promoters	Not applicable	YASH SOMANI	Equity	IN30021458496987			Income Tax PAN	BSRPS5117C	PROFESSIONAL	1800	10	18000
52	Individual	Other than promoters	Not applicable	VINTI SANJAY PUGALIA	Equity	IN30021460009954			Income Tax PAN	HMWPP4528K	STUDENT	3000	10	30000
53	Individual	Other than promoters	Not applicable	JYOTI MAHESH WARI	Equity	IN30021461229123			Income Tax PAN	AKBPJ6351N	PROFESSIONAL	600	10	6000
54	Individual	Other than promoters	Not applicable	DEEPAK KUMAR	Equity	IN30021461531952			Income Tax PAN	BMLPK9274N	AGRICULTURE	1200	10	12000
55	Individual	Other than promoters	Not applicable	PRASHANT KUMAR	Equity	IN30021461628153			Income Tax PAN	BWSPK0526Q	SERVICE	600	10	6000
56	Individual	Other than promoters	Not applicable	Kshitij GANERIWAL	Equity	IN30021467536985			Income Tax PAN	AOPPG5303P	PROFESSIONAL	600	10	6000
57	Individual	Other than promoters	Not applicable	Seema GUPTA	Equity	IN30021467668558			Income Tax PAN	AQRPG5063G	SERVICE	1200	10	12000

58	Individual	Other than promoters	Not applicable	Desai VENKATA RAMANA	Equity	IN30021468284841			Income Tax PAN	AAXPD5451F	PROFESSI ONAL	600	10	6000
59	Individual	Other than promoters	Not applicable	SONAL SANJAY MEHTA	Equity	IN30034311693520	India		Income Tax PAN	BLGPM0403B	PROFESSI ONAL	1200	10	12000
60	Individual	Other than promoters	Not applicable	SUJEET DHADDA	Equity	IN30036011163709			Income Tax PAN	AAKPD9992J	PROFESSI ONAL	600	10	6000
61	Individual	Other than promoters	Not applicable	ASHISH GOEL	Equity	IN30039416972240	India		Income Tax PAN	ALMPG3243J	SERVICE	3000	10	30000
62	Individual	Other than promoters	Not applicable	KISHAN DHOOT	Equity	IN30046810066703	India		Income Tax PAN	AAGPD8011J	PROFESSI ONAL	600	10	6000
63	Individual	Other than promoters	Not applicable	VIKAS BOTHRA	Equity	IN30047641840483	India		Income Tax PAN	AHJPB9616M	SERVICE	1800	10	18000
64	Individual	Other than promoters	Not applicable	MR GUNVANT HARGOVI NDDAS BHATT	Equity	IN30051310114533	India		Income Tax PAN	AEKPB0228D	SERVICE	600	10	6000
65	Individual	Other than promoters	Not applicable	AMIT MAHESH WARY	Equity	IN30051310939357	India		Income Tax PAN	ACCPM2264J	RESIDENT	6000	10	60000
66	Individual	Other than promoters	Not applicable	ANIL KANTIPRA SAD PODDAR	Equity	IN30051310995758	India		Income Tax PAN	AABPP3032A	RESIDENT	16200	10	162000
67	Individual	Other than promoters	Not applicable	HEMA VATKAR	Equity	IN30051312571739	India		Income Tax PAN	ACAPV5170A	SERVICE	600	10	6000
68	Individual	Other than promoters	Not applicable	ABHIMAN YU HOLANI	Equity	IN30051314425322	India		Income Tax PAN	AAIHA6224J	RESIDENT	1200	10	12000
69	Individual	Other than promoters	Not applicable	PARAG DIPAKKU MAR SHAH	Equity	IN30051321705765	India		Income Tax PAN	DZWPS4854Q	SERVICE	600	10	6000
70	Individual	Other than promoters	Not applicable	RASHMI SHARMA	Equity	IN30051381525958	India		Income Tax PAN	BRQPS9208G	HOUSEWI FE	1200	10	12000
71	Individual	Other than promoters	Not applicable	AAKASH AGGARWAL	Equity	IN30051381870914	India		Income Tax PAN	BKRPA2860E	SERVICE	3000	10	30000
72	Individual	Other than promoters	Not applicable	HEMADRI SHARMA	Equity	IN30051383150417	India		Income Tax PAN	BNBPS1323R	HOUSEWI FE	3000	10	30000
73	Individual	Other than promoters	Not applicable	JYOTI	Equity	IN30051386770336	India		Income Tax PAN	CDVPJ0625E	STUDENT	1200	10	12000
74	Individual	Other than promoters	Not applicable	ANIK BANERJEE	Equity	IN30051387665295	India		Income Tax PAN	BGUPB2802A	SERVICE	3000	10	30000
75	Individual	Other than promoters	Not applicable	ABHISHEK AGARWAL	Equity	IN30051387856700	India		Income Tax PAN	ASRPA7052K	SERVICE	600	10	6000
76	Individual	Other than promoters	Not applicable	PRIYANKA AGARWAL	Equity	IN30051387863766	India		Income Tax PAN	BTSPG7977G	HOUSEWI FE	600	10	6000
77	Individual	Other than promoters	Not applicable	BHAAWAN A	Equity	IN30051388496982	India		Income Tax PAN	FVIPB2438H	STUDENT	600	10	6000

78	Individual	Other than promoters	Not applicable	SOURABH SANCHETI	Equity	IN30051390638954			Income Tax PAN	FAIPS7667N	RESIDENT	1800	10	18000
79	Individual	Other than promoters	Not applicable	SATISH RANTA	Equity	IN30051392252769			Income Tax PAN	AOKPR6776E	RESIDENT	600	10	6000
80	Individual	Other than promoters	Not applicable	DEVAL N DERASHREE	Equity	IN30059710115474	India		Income Tax PAN	AGGPD8438D	HOUSEWIFE	600	10	6000
81	Individual	Other than promoters	Not applicable	SANGITABEN AMISHKUMAR SHAH	Equity	IN30063640026709	India		Income Tax PAN	CPZPS6755N	HOUSEWIFE	600	10	6000
82	Individual	Other than promoters	Not applicable	NAVAZBANU ABDULFATAH MISARWALA	Equity	IN30063640030234	India		Income Tax PAN	AOVPM3693Q	HOUSEWIFE	600	10	6000
83	Individual	Other than promoters	Not applicable	AMIT AGARWAL	Equity	IN30069310196943	India		Income Tax PAN	ACYPA5460G	PROFESSIONAL	1200	10	12000
84	Individual	Other than promoters	Not applicable	MAHESH KUMAR JAIN	Equity	IN30077310219630	India		Income Tax PAN	ABWPJ1577C	RESIDENT	3000	10	30000
85	Individual	Other than promoters	Not applicable	VIVEK KUMAR KHURANA	Equity	IN30094010357436	India		Income Tax PAN	AIEPK0045K	PROFESSIONAL	3000	10	30000
86	Individual	Other than promoters	Not applicable	SANDEEP TANEJA	Equity	IN30094010404606	India		Income Tax PAN	ABDPT5922C	PROFESSIONAL	600	10	6000
87	Individual	Other than promoters	Not applicable	VIVEK GOYAL	Equity	IN30094010420105	India		Income Tax PAN	ABJPG7043D	AGRICULTURE	600	10	6000
88	Individual	Other than promoters	Not applicable	CHETAN BAHETI	Equity	IN30096610267752	India		Income Tax PAN	ALFPB4148L	PROFESSIONAL	1800	10	18000
89	Individual	Other than promoters	Not applicable	UMESH GOYAL	Equity	IN30096611370570			Income Tax PAN	AEPPG8392G	PROFESSIONAL	600	10	6000
90	Entity	Other than promoters	Body corporate (not mentioned above)	MARWADI SHARES & FINANCE LIMITED	Equity	IN30097410436303	India		Income Tax PAN	AABCM5192K		3000	10	30000
91	Individual	Other than promoters	Not applicable	DEEPA KIRANKUMAR SOLANKI	Equity	IN30097411540838	India		Income Tax PAN	BEPPS5535A	HOUSEWIFE	600	10	6000
92	Individual	Other than promoters	Not applicable	GIRISH J BORIYA	Equity	IN30097411590365	India		Income Tax PAN	AEVPB7861B	PROFESSIONAL	600	10	6000
93	Individual	Other than promoters	Not applicable	HINAH RAJANI	Equity	IN30097411743803	India		Income Tax PAN	AJKPR9069F	HOUSEWIFE	600	10	6000
94	Individual	Other than promoters	Not applicable	HANSABEN C LIMBASIYA	Equity	IN30097412296433	India		Income Tax PAN	AEBPL3031M	HOUSEWIFE	1200	10	12000
95	Individual	Other than promoters	Not applicable	BHARATKUMAR MOHANBHAI KAGATHARA	Equity	IN30097413226954	India		Income Tax PAN	AFHPP6244B	PROFESSIONAL	600	10	6000
96	Individual	Other than promoters	Not applicable	HANSABEN ASHOKKUMAR SHAH	Equity	IN30098210870895	India		Income Tax PAN	BJBPS4464D	HOUSEWIFE	600	10	6000

97	Individual	Other than promoters	Not applicable	SUJEET DHADDA	Equity	IN30114310923019	India		Income Tax PAN	AAVHS7634F	PROFESSIONAL	1800	10	18000
98	Individual	Other than promoters	Not applicable	CHANDER KANT SINGHAL	Equity	IN30114311391811	India		Income Tax PAN	AUZPS0932N	PROFESSIONAL	600	10	6000
99	Individual	Other than promoters	Not applicable	GOURAV GARG	Equity	IN30114312491649			Income Tax PAN	BNCPG0158B	SERVICE	600	10	6000
100	Individual	Other than promoters	Not applicable	MOHD AZMAT	Equity	IN30114312683913			Income Tax PAN	EDZPA4088L	SERVICE	600	10	6000
101	Individual	Other than promoters	Not applicable	VIPUL JAIN	Equity	IN30115121164408	India		Income Tax PAN	ACQPJ1361B	RESIDENT	1200	10	12000
102	Individual	Other than promoters	Not applicable	VINOD KUMAR AILANI	Equity	IN30115122243767	India		Income Tax PAN	AHFPA8409B	SERVICE	1200	10	12000
103	Individual	Other than promoters	Not applicable	MOHIT AGRAWAL	Equity	IN30115123181574	India		Income Tax PAN	AIUPA6973E	STUDENT	3000	10	30000
104	Individual	Other than promoters	Not applicable	VINIT AGRAWAL	Equity	IN30115123303909	India		Income Tax PAN	AJGPA3744E	STUDENT	600	10	6000
105	Individual	Other than promoters	Not applicable	SACHIN GUPTA	Equity	IN30115127659923			Income Tax PAN	ACIPG1904H	SERVICE	600	10	6000
106	Individual	Other than promoters	Not applicable	KARAN POPALI	Equity	IN30115128057333	India		Income Tax PAN	AXOPP9734F	STUDENT	3000	10	30000
107	Individual	Other than promoters	Not applicable	PRAGATI UPADHYAY	Equity	IN30115128438093	India		Income Tax PAN	ABFPU5828E	HOUSEWIFE	600	10	6000
108	Individual	Other than promoters	Not applicable	SAROJNI GUPTA	Equity	IN30120910061085	India		Income Tax PAN	ADPPG2075B	RESIDENT	3000	10	30000
109	Individual	Other than promoters	Not applicable	VIKAS GUPTA	Equity	IN30120910061093	India		Income Tax PAN	AGYPG8289P	RESIDENT	3000	10	30000
110	Individual	Other than promoters	Not applicable	PANKAJ LUNAWAT	Equity	IN30133017817570	India		Income Tax PAN	AANPL1728K	PROFESSIONAL	600	10	6000
111	Individual	Other than promoters	Not applicable	S. L. AGRAWAL	Equity	IN30133018571088	India		Income Tax PAN	AEDPA9203N	AGRICULTURE	3000	10	30000
112	Entity	Other than promoters	Body corporate (not mentioned above)	MOMENTUM BIOTECH PRIVATE LIMITED	Equity	IN30133041425277	India		Income Tax PAN	AAHCM0528P		3000	10	30000
113	Individual	Other than promoters	Not applicable	Ashish Agrawal	Equity	IN30133041478238			Income Tax PAN	ATKPA8364N	RESIDENT	3000	10	30000
114	Individual	Other than promoters	Not applicable	MADAN GOPAL AGGARWAL AND SONS HIUF	Equity	IN30142810037640	India		Income Tax PAN	AAHHM3064P	PROFESSIONAL	3000	10	30000
115	Individual	Other than promoters	Not applicable	SHARMIN CONTRACTOR	Equity	IN30143682579943	India		Income Tax PAN	ANLPC0739Q	AGRICULTURE	1800	10	18000
116	Individual	Other than promoters	Not applicable	DHARAM CHAND JAIN	Equity	IN30143685013875	India		Income Tax PAN	AIMPJ7331B	PROFESSIONAL	4200	10	42000

117	Individual	Other than promoters	Not applicable	YOGESH KUMAR SHARMA	Equity	IN30143686755843	India		Income Tax PAN	GRIPS5280P	SERVICE	1200	10	12000
118	Individual	Other than promoters	Not applicable	RAGHAV KHANDELWAL	Equity	IN30143687832789	India		Income Tax PAN	MMHPK3431Q	STUDENT	3000	10	30000
119	Individual	Other than promoters	Not applicable	RAJENDRA KUMAR	Equity	IN30143691414714			Income Tax PAN	BMBPK7863B	PROFESSIONAL	3000	10	30000
120	Individual	Other than promoters	Not applicable	NAVRATAN KUMAR SHARMA	Equity	IN30143691415821			Income Tax PAN	BOLPS6798R	PROFESSIONAL	600	10	6000
121	Individual	Other than promoters	Not applicable	VIKRAM PAL SINGH	Equity	IN30143692510969			Income Tax PAN	BGCP5286M	PROFESSIONAL	2400	10	24000
122	Individual	Other than promoters	Not applicable	SHALINI DHADDA	Equity	IN30143692677783			Income Tax PAN	AAKPD9993K	HOUSEWIFE	600	10	6000
123	Individual	Other than promoters	Not applicable	VAIBHAV BAGLA	Equity	IN30143693083531			Income Tax PAN	ACGPB4807J	PROFESSIONAL	600	10	6000
124	Individual	Other than promoters	Not applicable	SURAJ DEVI DHADDA	Equity	IN30143693158120			Income Tax PAN	AAUPD1018P	PROFESSIONAL	1800	10	18000
125	Individual	Other than promoters	Not applicable	PREMLATA SHARMA	Equity	IN30143693159350			Income Tax PAN	FPUPS1222C	HOUSEWIFE	1200	10	12000
126	Individual	Other than promoters	Not applicable	Samiksha Sethi	Equity	IN30143693274095			Income Tax PAN	OOFPS9251Q	STUDENT	3000	10	30000
127	Individual	Other than promoters	Not applicable	SWATI JAIN	Equity	IN30143693610581			Income Tax PAN	AFMPJ7422A	HOUSEWIFE	600	10	6000
128	Individual	Other than promoters	Not applicable	BHAGWAN DASS	Equity	IN30143693611558			Income Tax PAN	DWEPD9301N	PROFESSIONAL	600	10	6000
129	Individual	Other than promoters	Not applicable	ANSHUL AGARWAL	Equity	IN30143693780083			Income Tax PAN	AGWPA5888Q	PROFESSIONAL	3000	10	30000
130	Individual	Other than promoters	Not applicable	SHWETA DEVI MAHESH WARY	Equity	IN30143694051875			Income Tax PAN	ASGPM6861M	PROFESSIONAL	1200	10	12000
131	Individual	Other than promoters	Not applicable	RAMESH KUMAR TODI	Equity	IN30143695273720			Income Tax PAN	AABPT4577A	AGRICULTURE	600	10	6000
132	Individual	Other than promoters	Not applicable	AMIT JAIN	Equity	IN30143696094994			Income Tax PAN	ACMPJ6002F	PROFESSIONAL	600	10	6000
133	Individual	Other than promoters	Not applicable	VINOD KUMAR BANSAL	Equity	IN30143696851227			Income Tax PAN	ALLPB3015G	PROFESSIONAL	4800	10	48000
134	Individual	Other than promoters	Not applicable	MAITREYA SHAH	Equity	IN30148510134339	India		Income Tax PAN	AFGPS3143D	PROFESSIONAL	1800	10	18000
135	Entity	Other than promoters	Body corporate (not mentioned above)	VISHAKHA ACCOUNTING SERVICES PRIVATE LIMITED	Equity	IN30148510849204	India		Income Tax PAN	AABCV1256F		7800	10	78000
136	Individual	Other than promoters	Not applicable	KIRAN KHANDELWAL	Equity	IN30148511161060	India		Income Tax PAN	AJGPK4818D	HOUSEWIFE	600	10	6000

137	Individual	Other than promoters	Not applicable	ALOK KUMAR KHANDEL WAL	Equity	IN30148511168756	India		Income Tax PAN	ADRPK7410Q	PROFESSI ONAL	16800	10	168000
138	Individual	Other than promoters	Not applicable	POOJA NATANI	Equity	IN30148511192824	India		Income Tax PAN	AJEPN0263H	HOUSEWI FE	3600	10	36000
139	Individual	Other than promoters	Not applicable	GANESH NARAYAN GUPTA	Equity	IN30148511196733	India		Income Tax PAN	AEFPG7605C	PROFESSI ONAL	600	10	6000
140	Individual	Other than promoters	Not applicable	RICHA KHANDEL WAL	Equity	IN30148511220951			Income Tax PAN	ARSPG0402H	HOUSEWI FE	1200	10	12000
141	Individual	Other than promoters	Not applicable	SULOCHANA JAIN	Equity	IN30148520016165	India		Income Tax PAN	ABUPJ0251B	HOUSEWI FE	600	10	6000
142	Individual	Other than promoters	Not applicable	AKSHAY JAIN	Equity	IN30148520102490	India		Income Tax PAN	AEWPIJ2795K	PROFESSI ONAL	600	10	6000
143	Individual	Other than promoters	Not applicable	URMILA DEVI	Equity	IN30148520156356	India		Income Tax PAN	ABXPD6324L	HOUSEWI FE	600	10	6000
144	Individual	Other than promoters	Not applicable	VINOD KUMAR JAIN	Equity	IN30148520249635	India		Income Tax PAN	AFKPIJ3310D	PROFESSI ONAL	10800	10	108000
145	Individual	Other than promoters	Not applicable	PRINCE RAWAT	Equity	IN30148520265006	India		Income Tax PAN	ASIPR0665E	RESIDENT	600	10	6000
146	Individual	Other than promoters	Not applicable	KRATIKA KHANDEL WAL	Equity	IN30148520301367	India		Income Tax PAN	DPRPK9046H	STUDENT	600	10	6000
147	Individual	Other than promoters	Not applicable	SHIV KUMAR THIRANI	Equity	IN30148520317791	India		Income Tax PAN	AAFPT3081K	PROFESSI ONAL	4200	10	42000
148	Individual	Other than promoters	Not applicable	KAVITA KHANDEL WAL	Equity	IN30148520321440	India		Income Tax PAN	ACWPK9229R	HOUSEWI FE	18600	10	186000
149	Individual	Other than promoters	Not applicable	MEETA LAKHOTIA	Equity	IN30148520325285	India		Income Tax PAN	ABJPL1844K	HOUSEWI FE	600	10	6000
150	Individual	Other than promoters	Not applicable	LALIT KISHOR GUPTA	Equity	IN30148520326622	India		Income Tax PAN	AAXPG7416M	PROFESSI ONAL	600	10	6000
151	Individual	Other than promoters	Not applicable	VINIT KHANDEL WAL	Equity	IN30148520336525	India		Income Tax PAN	BUOPK3515P	PROFESSI ONAL	600	10	6000
152	Individual	Other than promoters	Not applicable	AKSHAY JAIN HUF	Equity	IN30148520341707	India		Income Tax PAN	AAIHA9333A		600	10	6000
153	Individual	Other than promoters	Not applicable	HARI KISHORE AGARWAL HUF	Equity	IN30148520354569	India		Income Tax PAN	AACHH5580E		1200	10	12000
154	Individual	Other than promoters	Not applicable	MANOJ TULSIAN	Equity	IN30154917411236	India		Income Tax PAN	ABUPT6595L	SERVICE	33000	10	330000
155	Individual	Other than promoters	Not applicable	BHUVANE SHWARAN H IYER	Equity	IN30154918452699	India		Income Tax PAN	AAIPI0986M	SERVICE	600	10	6000
156	Individual	Other than promoters	Not applicable	HEEMA KHUBANI	Equity	IN30154931164689	India		Income Tax PAN	AGBPK0841J	HOUSEWI FE	12000	10	120000
157	Individual	Other than promoters	Not applicable	SIDHARTH BAFNA	Equity	IN30154931898889	India		Income Tax PAN	AAVHS2460R	AGRICULT URE	2400	10	24000

158	Individual	Other than promoters	Not applicable	RAGHAV JAJU	Equity	IN30154932442817	India		Income Tax PAN	APGPJ9347A	STUDENT	600	10	6000
159	Individual	Other than promoters	Not applicable	SANJAY SURAJ DUDEJA	Equity	IN30154932587073	India		Income Tax PAN	AIYPD0850D	SERVICE	3000	10	30000
160	Individual	Other than promoters	Not applicable	MEHUL BAKLIWAL	Equity	IN30154933377490	India		Income Tax PAN	AIBPB7535L	SERVICE	600	10	6000
161	Individual	Other than promoters	Not applicable	SURAVAN DITHA PRAVEEN KUMAR	Equity	IN30154934363799	India		Income Tax PAN	AHNPP2338Q	SERVICE	3000	10	30000
162	Individual	Other than promoters	Not applicable	DILEEP KUMAR SOMANI	Equity	IN30154935847437	India		Income Tax PAN	AEKPS4130B	SERVICE	3000	10	30000
163	Individual	Other than promoters	Not applicable	KIRAN ANANT SHINDE	Equity	IN30154938655378	India		Income Tax PAN	ALEPS9107K	AGRICULTURE	600	10	6000
164	Individual	Other than promoters	Not applicable	NILESH JAIN	Equity	IN30154939673213	India		Income Tax PAN	AGLPJ4322P	PROFESSIONAL	600	10	6000
165	Individual	Other than promoters	Not applicable	ARPIT SINGHAL	Equity	IN30154950146508	India		Income Tax PAN	BSGPS6880M	SERVICE	600	10	6000
166	Individual	Other than promoters	Not applicable	ANKIT SHANTILAL MAMNIYA	Equity	IN30154950987365	India		Income Tax PAN	BAAPM6145B	SERVICE	600	10	6000
167	Individual	Other than promoters	Not applicable	PRAVEEN MAHESH WARI	Equity	IN30154952056485	India		Income Tax PAN	ACFPM8678M	PROFESSIONAL	1800	10	18000
168	Individual	Other than promoters	Not applicable	RADHESH YAM CHHOTARIA HUF	Equity	IN30154953398851	India		Income Tax PAN	AAFHR7482E	PROFESSIONAL	600	10	6000
169	Individual	Other than promoters	Not applicable	MEHAK KALRA	Equity	IN30154954532482	India		Income Tax PAN	EKEPK1267D	STUDENT	600	10	6000
170	Individual	Other than promoters	Not applicable	SANOBER CONTRACTOR	Equity	IN30154956568907	India		Income Tax PAN	ANLPC0732F	SERVICE	1200	10	12000
171	Individual	Other than promoters	Not applicable	URMIL BISHNOI	Equity	IN30154957911790	India		Income Tax PAN	BJDPB7379E	HOUSEWIFE	1200	10	12000
172	Individual	Other than promoters	Not applicable	AJAY KUMAR	Equity	IN30154958281919	India		Income Tax PAN	EPPPK1531A	AGRICULTURE	3000	10	30000
173	Individual	Other than promoters	Not applicable	SHUBHAM MANTRI	Equity	IN30154959370966	India		Income Tax PAN	CFTPM7454J	SERVICE	3000	10	30000
174	Individual	Other than promoters	Not applicable	RISHI KASTIYA	Equity	IN30154959602880	India		Income Tax PAN	AMTPK9105F	PROFESSIONAL	3600	10	36000
175	Individual	Other than promoters	Not applicable	SUKETU NARENDR ABHAI SHAH	Equity	IN30154959618829	India		Income Tax PAN	AHEPS2635N	PROFESSIONAL	600	10	6000
176	Individual	Other than promoters	Not applicable	VANDANA BANSAL	Equity	IN30154961270668	India		Income Tax PAN	ABZPB8034F	HOUSEWIFE	600	10	6000
177	Individual	Other than promoters	Not applicable	VISHAL THOLIA	Equity	IN30154961487718	India		Income Tax PAN	AJPPT0185M	PROFESSIONAL	600	10	6000
178	Individual	Other than promoters	Not applicable	ANURAG MOHTA	Equity	IN30154961498023	India		Income Tax PAN	AJUPM9378A	PROFESSIONAL	600	10	6000

179	Individual	Other than promoters	Not applicable	PREM LATA DANGAYA CH	Equity	IN30154961867517	India		Income Tax PAN	AAVPD6100D	HOUSEWIFE	3000	10	30000
180	Individual	Other than promoters	Not applicable	DEVESH KUMAR TEKRIWAL	Equity	IN30154961941717	India		Income Tax PAN	AJEPT3248A	SERVICE	3000	10	30000
181	Individual	Other than promoters	Not applicable	SAHIL SHEIKH	Equity	IN30154962049021	India		Income Tax PAN	CDWPS1352L	PROFESSIONAL	2400	10	24000
182	Individual	Other than promoters	Not applicable	ROHIT DHANDIA	Equity	IN30154962245846	India		Income Tax PAN	ABLPD4500G	PROFESSIONAL	1200	10	12000
183	Individual	Other than promoters	Not applicable	ANUSHRE KOTHARI	Equity	IN30154962486626	India		Income Tax PAN	GAAPK6066C	PROFESSIONAL	600	10	6000
184	Individual	Other than promoters	Not applicable	ADITYA FATEPURI A	Equity	IN30154962887117	India		Income Tax PAN	AFRPF7705D	PROFESSIONAL	600	10	6000
185	Individual	Other than promoters	Not applicable	SURENDRA KUMAR PATNI	Equity	IN30154962955801	India		Income Tax PAN	ADUPP9249D	PROFESSIONAL	1200	10	12000
186	Individual	Other than promoters	Not applicable	NAVNEET MAHESH WARI	Equity	IN30154963922604	India		Income Tax PAN	ATYPM7434K	PROFESSIONAL	6000	10	60000
187	Individual	Other than promoters	Not applicable	PAWAN KUMAR SHARMA	Equity	IN30154964097731	India		Income Tax PAN	ANPPS1421F	PROFESSIONAL	1800	10	18000
188	Individual	Other than promoters	Not applicable	ANIL KUMAR NAWALKHA HUF	Equity	IN30154964236798			Income Tax PAN	AACHA7327N		600	10	6000
189	Individual	Other than promoters	Not applicable	AASHNA AGARWAL	Equity	IN30154964622779	India		Income Tax PAN	CUAPA1933Q	STUDENT	600	10	6000
190	Individual	Other than promoters	Not applicable	CHIRANJILAL LAHOTI HUF	Equity	IN30154965086295	India		Income Tax PAN	AAAHL2959P		600	10	6000
191	Individual	Other than promoters	Not applicable	NAMAN PATWARI	Equity	IN30154965103206	India		Income Tax PAN	AFFPP1219Q	PROFESSIONAL	1200	10	12000
192	Individual	Other than promoters	Not applicable	NIDHI BAIRATHI	Equity	IN30154965328510	India		Income Tax PAN	AEYPB3505K	HOUSEWIFE	1200	10	12000
193	Individual	Other than promoters	Not applicable	YOG NEEL SHAH	Equity	IN30154965393066	India		Income Tax PAN	MALPS6471E	STUDENT	3000	10	30000
194	Individual	Other than promoters	Not applicable	PREETI GOPAL PANJABI	Equity	IN30154965504291	India		Income Tax PAN	AGBPP7505L	PROFESSIONAL	3000	10	30000
195	Entity	Other than promoters	Body corporate (not mentioned above)	HAPPY HOME FINANCE PVT LTD	Equity	IN30154966617313			Income Tax PAN	AACCP6918P		600	10	6000
196	Entity	Other than promoters	Body corporate (not mentioned above)	BUHANA ADVISORS PRIVATE LIMITED	Equity	IN30154966712888			Income Tax PAN	AALCB5705F		9600	10	96000
197	Individual	Other than promoters	Not applicable	SONALI MITTAL	Equity	IN30154966777800			Income Tax PAN	ASZPM5122G	HOUSEWIFE	3000	10	30000
198	Individual	Other than promoters	Not applicable	ANSHUL GANGWAL	Equity	IN30160410113792	India		Income Tax PAN	AJVPG1718R	STUDENT	600	10	6000

199	Individual	Other than promoters	Not applicable	JYOTIPRA KASH HUKAMIC HAND PUNMIYA	Equity	IN30160410720205	India		Income Tax PAN	ABBPJ2671E	AGRICULTURE	3000	10	30000
200	Individual	Other than promoters	Not applicable	PALLAVI JYOTIPRA KASH PUNMIYA	Equity	IN30160411005202	India		Income Tax PAN	AGBPP1046J	AGRICULTURE	3000	10	30000
201	Individual	Other than promoters	Not applicable	MEENA MAHESH WARI	Equity	IN30160411710599	India		Income Tax PAN	ABCPM5261G	HOUSEWIFE	1200	10	12000
202	Individual	Other than promoters	Not applicable	RAJENDRA KHANDELWAL	Equity	IN30160411710646	India		Income Tax PAN	AHCPK3981H	SERVICE	3000	10	30000
203	Individual	Other than promoters	Not applicable	PANDURANG YASHWANT NAIK	Equity	IN30160411829184	India		Income Tax PAN	ACHPN3583A	SERVICE	600	10	6000
204	Individual	Other than promoters	Not applicable	RAJNI PARIWAL	Equity	IN30160411949753	India		Income Tax PAN	BDBPP3136M	HOUSEWIFE	600	10	6000
205	Individual	Other than promoters	Not applicable	ALPA KAMLESH CHHEDA	Equity	IN30160412271975	India		Income Tax PAN	ABGPC1493C	HOUSEWIFE	6000	10	60000
206	Individual	Other than promoters	Not applicable	RANI JAIN	Equity	IN30160412282641	India		Income Tax PAN	AANPJ1781A	HOUSEWIFE	3000	10	30000
207	Individual	Other than promoters	Not applicable	LAJ RANI	Equity	IN30160412957731			Income Tax PAN	AJSR7365N	HOUSEWIFE	15600	10	156000
208	Entity	Other than promoters	Body corporate (not mentioned above)	MANSUKH FINVEST LIMITED	Equity	IN30165310000095	India		Income Tax PAN	AACCS2416F		6600	10	66000
209	Individual	Other than promoters	Not applicable	KARAN CHANDNA	Equity	IN30167010378987	India		Income Tax PAN	ALYPC2592A	SERVICE	600	10	6000
210	Individual	Other than promoters	Not applicable	PURUSHO TTAM DASS GUPTA	Equity	IN30177410884193	India		Income Tax PAN	ADUPG0404F	AGRICULTURE	1800	10	18000
211	Individual	Other than promoters	Not applicable	PURSHO M DASS BHAJAN DASS	Equity	IN30177410930156	India		Income Tax PAN	AADHP5343J	RESIDENT	3000	10	30000
212	Individual	Other than promoters	Not applicable	BADRINAR AYANAN GUPTA	Equity	IN30177411982617	India		Income Tax PAN	AAEPG7035R	PROFESSIONAL	3000	10	30000
213	Individual	Other than promoters	Not applicable	JIM J GEORGE	Equity	IN30177416174895	India		Income Tax PAN	AJBPG7838C	SERVICE	1200	10	12000
214	Individual	Other than promoters	Not applicable	RAJEEV LAKHOTIA	Equity	IN30177416469925	India		Income Tax PAN	AANPL1834C	PROFESSIONAL	1200	10	12000
215	Individual	Other than promoters	Not applicable	GANESH NARAYAN	Equity	IN30177417998147	India		Income Tax PAN	AGNPN7369J	SERVICE	1200	10	12000
216	Individual	Other than promoters	Not applicable	SOMANSH SHARMA	Equity	IN30177418047747	India		Income Tax PAN	CCOPS8892L	SERVICE	600	10	6000
217	Individual	Other than promoters	Not applicable	JAISHREE LAKHOTIA	Equity	IN30177418131885	India		Income Tax PAN	AMIPM9310K	HOUSEWIFE	1200	10	12000
218	Individual	Other than promoters	Not applicable	SHEELA KOTHARI	Equity	IN30177418884656	India		Income Tax PAN	AABPK2883J	HOUSEWIFE	3000	10	30000

219	Individual	Other than promoters	Not applicable	RIMJHIM JAIN	Equity	IN301774 19065132	India		Income Tax PAN	AQFPJ540 1M	SERVICE	2400	10	24000
220	Individual	Other than promoters	Not applicable	PURUSHO TAM NAVANI	Equity	IN301774 19166928	India		Income Tax PAN	AENPN122 9F	SERVICE	600	10	6000
221	Individual	Other than promoters	Not applicable	NANDAN SINGH BOHARA	Equity	IN301774 19884616	India		Income Tax PAN	BIPPB124 4K	SERVICE	600	10	6000
222	Individual	Other than promoters	Not applicable	NIRMAL KUMAR KABRA	Equity	IN301774 20419600	India		Income Tax PAN	AAJHN822 2Q		600	10	6000
223	Individual	Other than promoters	Not applicable	BRIJ MOHAN JANGIR	Equity	IN301774 21683580			Income Tax PAN	AHCPJ406 8J	OTHERS	6000	10	60000
224	Individual	Other than promoters	Not applicable	SANGEETA GUPTA	Equity	IN301774 21837854			Income Tax PAN	ACIPG398 0D	PROFESSI ONAL	3000	10	30000
225	Individual	Other than promoters	Not applicable	SACHIN KUMAR GUPTA	Equity	IN301774 21838164			Income Tax PAN	AAEPG323 1H	PROFESSI ONAL	18000	10	180000
226	Individual	Other than promoters	Not applicable	AMITH KUMAR GUPTA	Equity	IN301774 21838210			Income Tax PAN	AAIPG361 9D	PROFESSI ONAL	18000	10	180000
227	Individual	Other than promoters	Not applicable	ANSH DANGAYA CH	Equity	IN301774 21860014			Income Tax PAN	IDHPD761 0D	STUDENT	6000	10	60000
228	Individual	Other than promoters	Not applicable	MAHENDR A SINGH NEGI	Equity	IN301774 21877716			Income Tax PAN	AHPPN177 7M	PROFESSI ONAL	600	10	6000
229	Individual	Other than promoters	Not applicable	JITENDRA KUMAR FATEHPU RIYA	Equity	IN301862 62406986	India		Income Tax PAN	AADPF919 7Q	PROFESSI ONAL	4200	10	42000
230	Individual	Other than promoters	Not applicable	JATIN SATYANA RAYAN AGRAWAL	Equity	IN301862 63625420			Income Tax PAN	AFRPA567 5B	PROFESSI ONAL	600	10	6000
231	Individual	Other than promoters	Not applicable	RAJ JAIN	Equity	IN301862 65001203			Income Tax PAN	CTTPJ996 5K	SERVICE	600	10	6000
232	Individual	Other than promoters	Not applicable	SANDEEP GOEL	Equity	IN301862 65287810			Income Tax PAN	AKHPG223 6P	PROFESSI ONAL	2400	10	24000
233	Individual	Other than promoters	Not applicable	RAJEEV KUMAR SIKKA	Equity	IN301862 65343649			Income Tax PAN	AARPS792 0G	PROFESSI ONAL	1800	10	18000
234	Individual	Other than promoters	Not applicable	JASMINE .	Equity	IN301862 65949053			Income Tax PAN	CLLPJ1107 R	STUDENT	600	10	6000
235	Individual	Other than promoters	Not applicable	NIKITA GOYAL	Equity	IN301862 66942464			Income Tax PAN	DPMPG05 36K	STUDENT	3000	10	30000
236	Individual	Other than promoters	Not applicable	RASHMIK UMAR ARVINDB HAI GANDHI	Equity	IN301862 69912767			Income Tax PAN	AKPPG247 3G	PROFESSI ONAL	600	10	6000
237	Individual	Other than promoters	Not applicable	MUKESH KACHOLIA	Equity	IN301862 69944931			Income Tax PAN	ADRPK690 9N	SERVICE	1200	10	12000
238	Individual	Other than promoters	Not applicable	SURESH KUMAR DAGA	Equity	IN301862 70065043			Income Tax PAN	ACWPD48 98F	RESIDENT	600	10	6000

239	Individual	Other than promoters	Not applicable	PRAVEEN JHANWAR	Equity	IN30186270185657			Income Tax PAN	ANAPJ6596M	AGRICULTURE	600	10	6000
240	Individual	Other than promoters	Not applicable	PRINKEL .	Equity	IN30186271079822			Income Tax PAN	BKBPP1995H	HOUSEWIFE	2400	10	24000
241	Individual	Other than promoters	Not applicable	USHA RANI	Equity	IN30186272934791	India		Income Tax PAN	BGWPR7002J	HOUSEWIFE	5400	10	54000
242	Individual	Other than promoters	Not applicable	SHARDA GULABCH AND PAREEK	Equity	IN30189540047609			Income Tax PAN	ALBPP5342E	HOUSEWIFE	600	10	6000
243	Individual	Other than promoters	Not applicable	HEMANT MANILAL PANCHAL	Equity	IN30199110736606	India		Income Tax PAN	ACPPP2472E	RESIDENT	1200	10	12000
244	Individual	Other than promoters	Not applicable	MANISH GANERIWAL	Equity	IN30210510523363	India		Income Tax PAN	ABGPG7868P	PROFESSIONAL	600	10	6000
245	Individual	Other than promoters	Not applicable	ANOOP KUMAR GOYAL HUF	Equity	IN30210510637732	India		Income Tax PAN	AALHA2793P	PROFESSIONAL	3000	10	30000
246	Individual	Other than promoters	Not applicable	ADITYA LADDHA	Equity	IN30210510717638	India		Income Tax PAN	AOVPL4889D	STUDENT	600	10	6000
247	Individual	Other than promoters	Not applicable	RAVI PAGARIA	Equity	IN30210510742332	India		Income Tax PAN	ALGPP3607H	PROFESSIONAL	3000	10	30000
248	Individual	Other than promoters	Not applicable	GAGAN SABOO	Equity	IN30210510822390	India		Income Tax PAN	ANPPS1924F	AGRICULTURE	1800	10	18000
249	Individual	Other than promoters	Not applicable	ASHOK KUMAR TOSHNIWAL	Equity	IN30210510836642	India		Income Tax PAN	AAJPT3497K	PROFESSIONAL	3000	10	30000
250	Individual	Other than promoters	Not applicable	YATHARTH H JAJOO	Equity	IN30210510881037	India		Income Tax PAN	GGZPJ7230E	STUDENT	600	10	6000
251	Individual	Other than promoters	Not applicable	RAJKUMAR SOMANI	Equity	IN30210510962912			Income Tax PAN	BYTPS3768R	PROFESSIONAL	3000	10	30000
252	Entity	Other than promoters	Body corporate (not mentioned above)	RADHA MADHAV SILK MILLS PVT LTD	Equity	IN30216410478723	India		Income Tax PAN	AABCR5336C		25200	10	252000
253	Individual	Other than promoters	Not applicable	PRADEEP KUMAR	Equity	IN30220111048018	India		Income Tax PAN	BCKPP8382D	OTHERS	600	10	6000
254	Individual	Other than promoters	Not applicable	YOGESH KUMAR GUPTA	Equity	IN30223610588500	India		Income Tax PAN	ABAPG1275C	SERVICE	1200	10	12000
255	Individual	Other than promoters	Not applicable	INDIRA H PARIKH	Equity	IN30226912493926	India		Income Tax PAN	ATWPP0166H	HOUSEWIFE	600	10	6000
256	Individual	Other than promoters	Not applicable	GOPALAK RISHNA ADHIKARA PATTI	Equity	IN30226913360914	India		Income Tax PAN	AAXPA2554L	SERVICE	600	10	6000
257	Individual	Other than promoters	Not applicable	SALIKA	Equity	IN30226913471046	India		Income Tax PAN	DCFPS4016C	SERVICE	3000	10	30000
258	Individual	Other than promoters	Not applicable	VIPIN BHATIA	Equity	IN30226914604258	India		Income Tax PAN	ARHPB5538J	SERVICE	4800	10	48000
259	Individual	Other than promoters	Not applicable	SHALINI AGARWAL	Equity	IN30226914681943	India		Income Tax PAN	ADBPA1049H	HOUSEWIFE	600	10	6000

260	Entity	Other than promoters	Body corporate (not mentioned above)	TARANGINI INVESTMENTS LIMITED	Equity	IN30226914750626	India		Income Tax PAN	AAACT0115A		21600	10	216000
261	Entity	Other than promoters	Body corporate (not mentioned above)	3DIMENSION CAPITAL SERVICES LIMITED	Equity	IN30226914759192	India		Income Tax PAN	AAICS6488H		7200	10	72000
262	Individual	Other than promoters	Not applicable	VINAY KUMAR GODHA	Equity	IN30231610375956			Income Tax PAN	ABAPG1304J	PROFESSIONAL	600	10	6000
263	Individual	Other than promoters	Not applicable	BHAGWAN DASS	Equity	IN30236510014425	India		Income Tax PAN	AJBPM5251D	PROFESSIONAL	1200	10	12000
264	Entity	Other than promoters	Body corporate (not mentioned above)	AJMERA SHARE TRADING PVT. LTD.	Equity	IN30236510662014	India		Income Tax PAN	AAGCA7395D		1800	10	18000
265	Entity	Other than promoters	Body corporate (not mentioned above)	ALL TIME SECURITIES PRIVATE LIMITED	Equity	IN30236510762882	India		Income Tax PAN	AAHCA7743E		12600	10	126000
266	Individual	Other than promoters	Not applicable	ANUPAM KUMAR MAHESH WARI	Equity	IN30236510825873	India		Income Tax PAN	AGAPM8797N	PROFESSIONAL	6000	10	60000
267	Individual	Other than promoters	Not applicable	GANGA SAHAI MEENA	Equity	IN30236511017628	India		Income Tax PAN	AQXPM0750E	SERVICE	2400	10	24000
268	Individual	Other than promoters	Not applicable	ANKITA MAHARSHI	Equity	IN30236511065301	India		Income Tax PAN	DFCPM4517Q	SERVICE	2400	10	24000
269	Individual	Other than promoters	Not applicable	SUDHIR KUMAR	Equity	IN30236511096748	India		Income Tax PAN	CWMP51197N	SERVICE	600	10	6000
270	Individual	Other than promoters	Not applicable	KESHAV BAHETI	Equity	IN30236511101042	India		Income Tax PAN	AQHPB9598B	PROFESSIONAL	600	10	6000
271	Individual	Other than promoters	Not applicable	RAJKUMAR SOMANI	Equity	IN30236511203507	India		Income Tax PAN	BYTPS3768R	PROFESSIONAL	3000	10	30000
272	Individual	Other than promoters	Not applicable	INDRA SOMANI	Equity	IN30236511271053	India		Income Tax PAN	AGWPS4601D	HOUSEWIFE	1800	10	18000
273	Individual	Other than promoters	Not applicable	ATUL KUMAR SOGANI	Equity	IN30236511302990	India		Income Tax PAN	BBFPS0733R	PROFESSIONAL	3600	10	36000
274	Individual	Other than promoters	Not applicable	VINOD AGARWAL	Equity	IN30236511307311	India		Income Tax PAN	AGOPA2842A	SERVICE	1200	10	12000
275	Individual	Other than promoters	Not applicable	RANCHHOLAL SINGI HUF	Equity	IN30236511307660	India		Income Tax PAN	AAWHR2831N		3000	10	30000
276	Individual	Other than promoters	Not applicable	PINKI GUPTA	Equity	IN30236511392540	India		Income Tax PAN	AMCPG8518K	HOUSEWIFE	600	10	6000
277	Individual	Other than promoters	Not applicable	PAYAL LAKHOTIA	Equity	IN30236511396761	India		Income Tax PAN	BKPPL5596L	HOUSEWIFE	3000	10	30000
278	Individual	Other than promoters	Not applicable	RAHUL JAJOO	Equity	IN30236511397344	India		Income Tax PAN	AIHJP4077H	PROFESSIONAL	2400	10	24000
279	Individual	Promoter	Not applicable	RAJESH GOYAL HUF	Equity	IN30236511410110			Income Tax PAN	AALHR5538P		900000	10	9000000

280	Individual	Promoter	Not applicable	LOKESH GOYAL (HUF)	Equity	IN30236511410185	India		Income Tax PAN	AACHL1882K		900000	10	9000000
281	Individual	Promoter	Not applicable	KUNJ BIHARI GOYAL HUF	Equity	IN30236511410312			Income Tax PAN	AADHK8925K		916500	10	9165000
282	Individual	Promoter	Not applicable	PARMESH GOYAL HUF	Equity	IN30236511410415			Income Tax PAN	AAJHP3848J		900000	10	9000000
283	Entity	Other than promoters	Body corporate (not mentioned above)	JAGANNATH SALT PRIVATE LIMITED	Equity	IN30236511416166			Income Tax PAN	AAECJ7088G		6000	10	60000
284	Individual	Other than promoters	Not applicable	AMIT KUMAR AGARWAL HUF	Equity	IN30236511419512			Income Tax PAN	AAOHA7879P		97200	10	972000
285	Entity	Other than promoters	Body corporate (not mentioned above)	INSOLATION GREEN ENERGY PRIVATE LIMITED	Equity	IN30236511421726			Income Tax PAN	AAGCI2799R		51000	10	510000
286	Entity	Other than promoters	Body corporate (not mentioned above)	INSOLATION ENERGY LIMITED	Equity	IN30236511421855			Income Tax PAN	AADCJ9937J		51000	10	510000
287	Entity	Other than promoters	Body corporate (not mentioned above)	HI-TECH BUILDMA RT PRIVATE LIMITED	Equity	IN30236511425198			Income Tax PAN	AACCH8587N		18000	10	180000
288	Entity	Other than promoters	Body corporate (not mentioned above)	PRAT ADVISORS LLP	Equity	IN30236511426465			Income Tax PAN	ABDFP7953K		3000	10	30000
289	Individual	Other than promoters	Not applicable	RISHAB JAIN	Equity	IN30236511430315			Income Tax PAN	AAFFS3121B	PROFESSIONAL	4200	10	42000
290	Individual	Other than promoters	Not applicable	SUMAN GOUR	Equity	IN30236511433536			Income Tax PAN	CJCPG9068D	PROFESSIONAL	2400	10	24000
291	Individual	Other than promoters	Not applicable	ABISHEK CHITLANGIA	Equity	IN30236520005203			Income Tax PAN	ABLPC2013M	PROFESSIONAL	14400	10	144000
292	Individual	Other than promoters	Not applicable	ANUPMA GUPTA	Equity	IN30236520044974			Income Tax PAN	ALCPG7707K	PROFESSIONAL	47400	10	474000
293	Individual	Other than promoters	Not applicable	PUSHPA DEVI GUPTA	Equity	IN30236520045653			Income Tax PAN	AAPPG1715K	PROFESSIONAL	26400	10	264000
294	Individual	Other than promoters	Not applicable	GOPAL LAL MALI	Equity	IN30236520047534			Income Tax PAN	DYQPM1618K	SERVICE	3000	10	30000
295	Individual	Other than promoters	Not applicable	RAJENDRA SINGH	Equity	IN30236520049728			Income Tax PAN	LPNPS6167M	SERVICE	3000	10	30000
296	Individual	Other than promoters	Not applicable	SANTOSH DEVI AGARWAL	Equity	IN30236520055479			Income Tax PAN	AELPA9308L	PROFESSIONAL	156000	10	1560000
297	Individual	Other than promoters	Not applicable	RAJ KUMARI	Equity	IN30236520112384			Income Tax PAN	GAAPK0032G	HOUSEWIFE	1200	10	12000
298	Individual	Other than promoters	Not applicable	UMANG MAHESH WARI	Equity	IN30236520137347			Income Tax PAN	FYMPM1047L	STUDENT	3000	10	30000
299	Individual	Other than promoters	Not applicable	MUKESH KOOLWAL	Equity	IN30236520180514			Income Tax PAN	AGPPK4885J	PROFESSIONAL	1200	10	12000

300	Individual	Other than promoters	Not applicable	SATISH KUMAR JAIN	Equity	IN30236520197086			Income Tax PAN	ABTPJ9527H	PROFESSI ONAL	5400	10	54000
301	Individual	Other than promoters	Not applicable	RAJENDRA KUMAR KHURANA	Equity	IN30236520227894			Income Tax PAN	ABSPK7582N	RESIDENT	600	10	6000
302	Individual	Other than promoters	Not applicable	AMIT KUMAR AGARWAL	Equity	IN30236520249594			Income Tax PAN	AELPA9310A	PROFESSI ONAL	97800	10	978000
303	Individual	Other than promoters	Not applicable	NAVEEN GUPTA	Equity	IN30236520262436			Income Tax PAN	ACQPG4989G	PROFESSI ONAL	600	10	6000
304	Individual	Promoter	Not applicable	PRAMESH GOYAL	Equity	IN30236520298775	India		Income Tax PAN	AEOPG1938F	PROFESSI ONAL	2189250	10	21892500
305	Individual	Promoter	Not applicable	LOKESH GOYAL	Equity	IN30236520298902	India		Income Tax PAN	AKGPG8866J	PROFESSI ONAL	2265000	10	22650000
306	Individual	Promoter	Not applicable	RADHIKA GOYAL	Equity	IN30236520301342	India		Income Tax PAN	AJRPG1446N	HOUSEWI FE	1140000	10	11400000
307	Individual	Promoter	Not applicable	PRIYANKA GOYAL	Equity	IN30236520302621	India		Income Tax PAN	AKHPG3784C	HOUSEWI FE	1140000	10	11400000
308	Individual	Promoter	Not applicable	REKHA GOYAL	Equity	IN30236520302656	India		Income Tax PAN	BBHPG6847C	PROFESSI ONAL	1140000	10	11400000
309	Individual	Promoter	Not applicable	RAJESH GOYAL	Equity	IN30236520305843	India		Income Tax PAN	AEOPG2808N	PROFESSI ONAL	1507500	10	15075000
310	Individual	Other than promoters	Not applicable	AMIT KUMAR	Equity	IN30236520319359	India		Income Tax PAN	BKIPK7873A	SERVICE	15000	10	150000
311	Individual	Other than promoters	Not applicable	RAJAN SINGH	Equity	IN30236520319617	India		Income Tax PAN	LCGPS7622R	SERVICE	3600	10	36000
312	Individual	Other than promoters	Not applicable	ABHISHEK KUMAR SINGH	Equity	IN30236520319713	India		Income Tax PAN	GXAPS5570Q	SERVICE	3000	10	30000
313	Individual	Other than promoters	Not applicable	RADHESH YAM	Equity	IN30236520326751	India		Income Tax PAN	BYGPR3956R	SERVICE	30000	10	300000
314	Individual	Other than promoters	Not applicable	RAJENDRA KUMAR	Equity	IN30236520328291	India		Income Tax PAN	DFMPK9588H	SERVICE	1200	10	12000
315	Individual	Other than promoters	Not applicable	PRAVIN KUMAR SWAMI	Equity	IN30236520334487			Income Tax PAN	INEPS1461Q	SERVICE	3000	10	30000
316	Individual	Other than promoters	Not applicable	MUKESH KUMAR AGARWAL	Equity	IN30236520334559			Income Tax PAN	AAKPA4975G	SERVICE	15000	10	150000
317	Individual	Other than promoters	Not applicable	VISHNU GOPAL	Equity	IN30236520334794			Income Tax PAN	CBEPG5641L	SERVICE	3000	10	30000
318	Individual	Other than promoters	Not applicable	PRAMOD KUMAR AJMERA	Equity	IN30236520340716	India		Income Tax PAN	AHIPA6698P	SERVICE	3000	10	30000
319	Individual	Other than promoters	Not applicable	ABHISHEK BIYANI	Equity	IN30236520347027			Income Tax PAN	AFKPB1038C	PROFESSI ONAL	12000	10	120000
320	Individual	Other than promoters	Not applicable	MAHENDRA SINGH	Equity	IN30236520347205	India		Income Tax PAN	BUMPS2116J	SERVICE	3000	10	30000
321	Individual	Other than promoters	Not applicable	ATUL SETHI	Equity	IN30236520347963	India		Income Tax PAN	BGSPS6585F	PROFESSI ONAL	600	10	6000
322	Individual	Other than promoters	Not applicable	REKHA BIYANI	Equity	IN30236520372281	India		Income Tax PAN	ARMPB1712D	HOUSEWI FE	15000	10	150000
323	Individual	Other than promoters	Not applicable	BANNE SINGH	Equity	IN30236520412477	India		Income Tax PAN	FZVPS6930Q	SERVICE	3000	10	30000

324	Individual	Other than promoters	Not applicable	NEELU SINGHI	Equity	IN30236520419337	India		Income Tax PAN	AOFPS6108G	PROFESSI ONAL	600	10	6000
325	Individual	Other than promoters	Not applicable	VISHAL GUPTA	Equity	IN30236520451570	India		Income Tax PAN	ATDPG5281D	SERVICE	600	10	6000
326	Individual	Other than promoters	Not applicable	ANAND MAHESH WARI	Equity	IN30236520457647	India		Income Tax PAN	ACCPM1484E	PROFESSI ONAL	3600	10	36000
327	Individual	Other than promoters	Not applicable	ARADHAN A MAHESH WARI	Equity	IN30236520457671	India		Income Tax PAN	ABMPM2979B	HOUSEWI FE	600	10	6000
328	Individual	Other than promoters	Not applicable	MANISH GUPTA	Equity	IN30236520461830	India		Income Tax PAN	AEPPG2618P	PROFESSI ONAL	9000	10	90000
329	Individual	Other than promoters	Not applicable	KIRTI KUMAR GUPTA	Equity	IN30236520489164			Income Tax PAN	BYHPG9868C	PROFESSI ONAL	5400	10	54000
330	Individual	Other than promoters	Not applicable	ALOK SHARMA	Equity	IN30236520493407			Income Tax PAN	AYMPS9658J	SERVICE	600	10	6000
331	Individual	Other than promoters	Not applicable	CHANDRA MOHAN SINGH	Equity	IN30236520498331			Income Tax PAN	BHSPS3613P	SERVICE	600	10	6000
332	Individual	Other than promoters	Not applicable	RAJATH RAMJEWAL	Equity	IN30236520725909			Income Tax PAN	ACCP3337B	PROFESSI ONAL	600	10	6000
333	Individual	Other than promoters	Not applicable	ANKUR MAHESH WARI	Equity	IN30236520727589			Income Tax PAN	AXGPM9902J	SERVICE	600	10	6000
334	Individual	Other than promoters	Not applicable	RAJESH MEENA	Equity	IN30236520741193			Income Tax PAN	IJGPM0357F	SERVICE	600	10	6000
335	Individual	Other than promoters	Not applicable	PRIYANKA SHARMA	Equity	IN30236520743239			Income Tax PAN	ANPPS6773E	SERVICE	3600	10	36000
336	Individual	Other than promoters	Not applicable	NANDUBA ASHOKSINH BHATI	Equity	IN30246110955341			Income Tax PAN	AFVPB7500C	HOUSEWI FE	1200	10	12000
337	Individual	Other than promoters	Not applicable	ANIRUDD HSINH ASHOKSINH BHATI HUF	Equity	IN30246110959685			Income Tax PAN	AAXHA4091C		3600	10	36000
338	Individual	Other than promoters	Not applicable	PIYUSH KUMAR CHANDAK	Equity	IN30249610045804	India		Income Tax PAN	AGSPC0005H	STUDENT	1800	10	18000
339	Individual	Other than promoters	Not applicable	ALOK JOSHI	Equity	IN30256610009877	India		Income Tax PAN	AAHPJ0369G	PROFESSI ONAL	3000	10	30000
340	Entity	Other than promoters	Body corporate (not mentioned above)	SMART ALGO SOLUTIONS LLP	Equity	IN30256610119804	India		Income Tax PAN	AETFS6968L		600	10	6000
341	Individual	Other than promoters	Not applicable	YOGESH AMRITLAL SAPANI	Equity	IN30258210106174	India		Income Tax PAN	AADPS3056R	PROFESSI ONAL	600	10	6000
342	Individual	Other than promoters	Not applicable	ANIL KUMAR SUNDARIYA	Equity	IN30267931707895	India		Income Tax PAN	ACRPS9976N	RESIDENT	1800	10	18000
343	Individual	Other than promoters	Not applicable	KAUSHAL ENDRA KUMAR	Equity	IN30267933771129	India		Income Tax PAN	ADXPK9957G	RESIDENT	600	10	6000

344	Individual	Other than promoters	Not applicable	DURGYSH A HULANI	Equity	IN302679 34364288	India		Income Tax PAN	ABEPH547 2Q	SERVICE	6000	10	60000
345	Individual	Other than promoters	Not applicable	Siddharth Jain	Equity	IN302814 10552567	India		Income Tax PAN	AEZPJ739 9L	SERVICE	600	10	6000
346	Individual	Other than promoters	Not applicable	TARUN KUMAR AAHI	Equity	IN302902 41405342	India		Income Tax PAN	AEOPA279 5L	RESIDENT	600	10	6000
347	Individual	Other than promoters	Not applicable	ASHISH AGGARWAL	Equity	IN302902 42194205	India		Income Tax PAN	AFZPA489 7H	RESIDENT	9600	10	96000
348	Individual	Other than promoters	Not applicable	NIKLESH KUMAR LONGWAN I	Equity	IN302902 42592962	India		Income Tax PAN	ACAPL826 2D	RESIDENT	600	10	6000
349	Individual	Other than promoters	Not applicable	RAJENDRA KUMAR BAJAJ	Equity	IN302902 43085078	India		Income Tax PAN	ABAPB959 2P	RESIDENT	3000	10	30000
350	Individual	Other than promoters	Not applicable	GAURAV DASOT	Equity	IN302902 44977216	India		Income Tax PAN	AARPD994 8B	SERVICE	1200	10	12000
351	Individual	Other than promoters	Not applicable	PRASHAN T MALPANI	Equity	IN302902 48227116	India		Income Tax PAN	APUPM36 52B	SERVICE	3000	10	30000
352	Individual	Other than promoters	Not applicable	DEEPAK ARVIND JAIN	Equity	IN302902 49255042	India		Income Tax PAN	AHLPJ410 5F	SERVICE	600	10	6000
353	Individual	Other than promoters	Not applicable	VIKAS JAIN HUF	Equity	IN302951 20280201			Income Tax PAN	AAFHV136 1Q		2400	10	24000
354	Individual	Other than promoters	Not applicable	ANSHUL AGGARWAL	Equity	IN302994 10063327	India		Income Tax PAN	AFUPA357 5P	SERVICE	42000	10	420000
355	Individual	Other than promoters	Not applicable	MUSKAN AGARWAL	Equity	IN302994 10079827	India		Income Tax PAN	BURPA633 0B	STUDENT	9000	10	90000
356	Individual	Other than promoters	Not applicable	RAUNAK AGARWAL	Equity	IN302994 10079909	India		Income Tax PAN	DCKPA902 9J	STUDENT	6000	10	60000
357	Entity	Other than promoters	Body corporate (not mentioned above)	A&S WEALTH CREATIONS PRIVATE LIMITED	Equity	IN302994 10081268	India		Income Tax PAN	AANCA215 6P		3000	10	30000
358	Individual	Other than promoters	Not applicable	MANISH GROVER	Equity	IN302994 10092342	India		Income Tax PAN	AEMPG54 09B	PROFESSIONAL	30000	10	300000
359	Individual	Other than promoters	Not applicable	ANSHUL GARG	Equity	IN302994 10092609	India		Income Tax PAN	AEBPG678 4N	PROFESSIONAL	36000	10	360000
360	Entity	Other than promoters	Body corporate (not mentioned above)	MUSKMELOH PRODUCTIONS PRIVATE LIMITED	Equity	IN302994 10100992	India		Income Tax PAN	AAACV078 7G		9000	10	90000
361	Individual	Other than promoters	Not applicable	ANITA GARG	Equity	IN302994 10103612			Income Tax PAN	BLHPG582 3Q	SERVICE	4200	10	42000
362	Entity	Other than promoters	Body corporate (not mentioned above)	CORPORATE MAKERS CAPITAL LIMITED	Equity	IN302994 10105606			Income Tax PAN	AAACR436 2D		3000	10	30000

363	Individual	Other than promoters	Not applicable	ATUL GARG	Equity	IN30299410105743			Income Tax PAN	AIAPG6561E	PROFESSIONAL	13200	10	132000
364	Individual	Other than promoters	Not applicable	RAJESH BANG (HUF)	Equity	IN30299410109449			Income Tax PAN	AAPHR7125A		6000	10	60000
365	Individual	Other than promoters	Not applicable	PIYUSH WADHWA	Equity	IN30299410111445			Income Tax PAN	AGAPW4591L	PROFESSIONAL	3000	10	30000
366	Individual	Other than promoters	Not applicable	HITESH DASOT	Equity	IN30302810070459			Income Tax PAN	AADPD7019F	PROFESSIONAL	600	10	6000
367	Individual	Other than promoters	Not applicable	AVNEE RAJAWAT	Equity	IN30302813010555			Income Tax PAN	GTOPR1717J	STUDENT	1200	10	12000
368	Individual	Other than promoters	Not applicable	HARDIK HARESHB HAI SHAH	Equity	IN30302813367628			Income Tax PAN	BKGPS0166N	AGRICULTURE	1200	10	12000
369	Individual	Other than promoters	Not applicable	ATUL KASLIWAL	Equity	IN30302824734552	India		Income Tax PAN	ACTPK6081A	PROFESSIONAL	600	10	6000
370	Individual	Other than promoters	Not applicable	HEMANGI RAMANLAL SOLANKI	Equity	IN30302824856955	India		Income Tax PAN	AHPS9834L	SERVICE	3000	10	30000
371	Individual	Other than promoters	Not applicable	SWATI MUNDHRA MAHESH WARI	Equity	IN30302825526227	India		Income Tax PAN	AYDPM0204F	SERVICE	1200	10	12000
372	Individual	Other than promoters	Not applicable	ANUJ MUNDHRA	Equity	IN30302825698826	India		Income Tax PAN	AJJPM0302K	PROFESSIONAL	600	10	6000
373	Individual	Other than promoters	Not applicable	DAKSH ANCHALIYA	Equity	IN30302829062088	India		Income Tax PAN	EPGPA2040H	RESIDENT	1200	10	12000
374	Individual	Other than promoters	Not applicable	VINOD KUMAR	Equity	IN30302832006004	India		Income Tax PAN	ALQPK9541H	SERVICE	600	10	6000
375	Individual	Other than promoters	Not applicable	PRAGYA GUPTA	Equity	IN30302840192142	India		Income Tax PAN	DYPPG8794F	PROFESSIONAL	3000	10	30000
376	Individual	Other than promoters	Not applicable	DIPTI SHARMA	Equity	IN30302843779690			Income Tax PAN	EGSPS2974B	RESIDENT	600	10	6000
377	Individual	Other than promoters	Not applicable	NISHA BHATIA	Equity	IN30302846308645			Income Tax PAN	DPSPB5383B	HOUSEWIFE	600	10	6000
378	Individual	Other than promoters	Not applicable	RAMNARAIN GUPTA	Equity	IN30302847128744			Income Tax PAN	AAAPN7480R	PROFESSIONAL	2400	10	24000
379	Individual	Other than promoters	Not applicable	MANJULABEN PRANUBHAI JOSHI	Equity	IN30302847798645			Income Tax PAN	ABPPJ2127F	AGRICULTURE	3000	10	30000
380	Individual	Other than promoters	Not applicable	BHAVISHYA	Equity	IN30302848927917			Income Tax PAN	BZRPB2295P	SERVICE	600	10	6000
381	Individual	Other than promoters	Not applicable	PRAVEEN SHANKAR LAL JAIN	Equity	IN30302849908744	India		Income Tax PAN	AFJJP3146E	SERVICE	6000	10	60000
382	Individual	Other than promoters	Not applicable	ARVIND GUPTA	Equity	IN30302850159704			Income Tax PAN	EIUPG9012G	STUDENT	3000	10	30000

383	Individual	Other than promoters	Not applicable	HARSHITA KALA	Equity	IN30302850207247			Income Tax PAN	AXTPK2441B	STUDENT	5400	10	54000
384	Individual	Other than promoters	Not applicable	PURUSHO TAM NAVANI	Equity	IN30302850455405			Income Tax PAN	AENPN1229F	AGRICULTURE	1200	10	12000
385	Individual	Other than promoters	Not applicable	SAJANKOR	Equity	IN30302850504089			Income Tax PAN	BECPS0667G	SERVICE	3000	10	30000
386	Individual	Other than promoters	Not applicable	RAHUL DHIMAN	Equity	IN30302850745764			Income Tax PAN	BYCPD9376B	SERVICE	3000	10	30000
387	Individual	Other than promoters	Not applicable	DINESH HIRALALJI BOHRA	Equity	IN30302852185448	India		Income Tax PAN	ADDPB9733B	SERVICE	3000	10	30000
388	Individual	Other than promoters	Not applicable	SANJAY AGARWAL	Equity	IN30302852593719			Income Tax PAN	ADCPA8900G	PROFESSIONAL	3000	10	30000
389	Individual	Other than promoters	Not applicable	VIKASH GARG	Equity	IN30302852606164			Income Tax PAN	BNUPG8397J	PROFESSIONAL	600	10	6000
390	Individual	Other than promoters	Not applicable	NIKHIL GUPTA	Equity	IN30302852884366			Income Tax PAN	AKRPG6896P	RESIDENT	1800	10	18000
391	Individual	Other than promoters	Not applicable	JUGAL KISHORE BANG	Equity	IN30302853088885			Income Tax PAN	AEPBB8350K	RESIDENT	1200	10	12000
392	Individual	Other than promoters	Not applicable	SACHIN KUMAR GUPTA	Equity	IN30302853652136			Income Tax PAN	AAEPG3231H	PROFESSIONAL	4200	10	42000
393	Individual	Other than promoters	Not applicable	AJAY JAIN	Equity	IN30302854487724			Income Tax PAN	AUAPJ0103H	AGRICULTURE	3000	10	30000
394	Individual	Other than promoters	Not applicable	TAMANA AGARWAL	Equity	IN30302854701032			Income Tax PAN	ELIPA7588A	PROFESSIONAL	1800	10	18000
395	Individual	Other than promoters	Not applicable	NIRAV DILIPKUMAR SHAH	Equity	IN30302854892498	India		Income Tax PAN	AXYPS2014H	SERVICE	6000	10	60000
396	Individual	Other than promoters	Not applicable	JITENDRA SINGH	Equity	IN30302856014985	India		Income Tax PAN	AYLPS5612H	PROFESSIONAL	1200	10	12000
397	Individual	Other than promoters	Not applicable	JAGDISH RAJ SHRIMALI	Equity	IN30302857675172	India		Income Tax PAN	AVDPS4955Q	SERVICE	6000	10	60000
398	Individual	Other than promoters	Not applicable	RAHUL SINGHAL	Equity	IN30302862139379	India		Income Tax PAN	CBEPS2234K	SERVICE	3000	10	30000
399	Individual	Other than promoters	Not applicable	AVADHESH KUMAR HOLANI	Equity	IN30302863027442	India		Income Tax PAN	ACJPH3644L	SERVICE	9000	10	90000
400	Individual	Other than promoters	Not applicable	PRIYANKA SARDA	Equity	IN30302863110029	India		Income Tax PAN	COCPS1981Q	STUDENT	3000	10	30000
401	Individual	Other than promoters	Not applicable	PRAVEEN GOEL	Equity	IN30302863618617	India		Income Tax PAN	AFLPG5778H	PROFESSIONAL	19200	10	192000
402	Individual	Other than promoters	Not applicable	UTSAV JAIN	Equity	IN30302864205084	India		Income Tax PAN	ALXPJ9338C	PROFESSIONAL	600	10	6000
403	Individual	Other than promoters	Not applicable	AJAY PAL RUHELA	Equity	IN30302864744317	India		Income Tax PAN	AHDPR8326G	SERVICE	3600	10	36000

404	Individual	Other than promoters	Not applicable	SIDDHARTH GADDE	Equity	IN30302865245052	India		Income Tax PAN	AKYPG9794K	SERVICE	1200	10	12000
405	Individual	Other than promoters	Not applicable	YUVRAJ SHRIMALI	Equity	IN30302865995856	India		Income Tax PAN	BGBPS0762D	PROFESSIONAL	3600	10	36000
406	Individual	Other than promoters	Not applicable	SAMIR SHATRUGHAN MOTWANI	Equity	IN30302866483764	India		Income Tax PAN	ASRPM4120A	RESIDENT	600	10	6000
407	Individual	Other than promoters	Not applicable	BRIJ LATA LADHA	Equity	IN30302867719894	India		Income Tax PAN	AADPL5924H	HOUSEWIFE	600	10	6000
408	Individual	Other than promoters	Not applicable	LOKESH BAJAJ	Equity	IN30302868136669	India		Income Tax PAN	BKHPB7152A	PROFESSIONAL	1200	10	12000
409	Individual	Other than promoters	Not applicable	AKANKSHA VASHISTA	Equity	IN30302868812358	India		Income Tax PAN	AQZPV4388B	SERVICE	6000	10	60000
410	Individual	Other than promoters	Not applicable	SHITTAL D HULANI	Equity	IN30302870911445	India		Income Tax PAN	AGNPH3592D	HOUSEWIFE	6000	10	60000
411	Individual	Other than promoters	Not applicable	SHAMBHU DAYAL SHARMA	Equity	IN30302875992012	India		Income Tax PAN	BENPS3749L	PROFESSIONAL	600	10	6000
412	Individual	Other than promoters	Not applicable	KALPANA BAKLIWAL	Equity	IN30302876448144	India		Income Tax PAN	ACSPB0759P	RESIDENT	3000	10	30000
413	Individual	Other than promoters	Not applicable	ASHOK KALA	Equity	IN30302876846614			Income Tax PAN	AACHA0015K		6000	10	60000
414	Entity	Other than promoters	Body corporate (not mentioned above)	AWA ENDEAVOR LLP	Equity	IN30302876980413			Income Tax PAN	ACEFA3943Q		15000	10	150000
415	Entity	Other than promoters	Body corporate (not mentioned above)	SHANNON ADVISORS PRIVATE LIMITED	Equity	IN30302876982206			Income Tax PAN	ABICS7338B		8400	10	84000
416	Individual	Other than promoters	Not applicable	ASHOK KUMAR AJMERA	Equity	IN30302876993019			Income Tax PAN	AAXHA8463N		600	10	6000
417	Individual	Other than promoters	Not applicable	ENAMITTAL	Equity	IN30302882255543	India		Income Tax PAN	ANWPG0454D	PROFESSIONAL	1200	10	12000
418	Individual	Other than promoters	Not applicable	AMRITA JAIN	Equity	IN30302883668847	India		Income Tax PAN	AQQPJ7905D	SERVICE	600	10	6000
419	Individual	Other than promoters	Not applicable	ANIL KUMAR NAWALKHA	Equity	IN30302884203242	India		Income Tax PAN	AAYPN3416F	PROFESSIONAL	600	10	6000
420	Individual	Other than promoters	Not applicable	SANGITA JAIN	Equity	IN30302884312183	India		Income Tax PAN	ACQPJ4914J	SERVICE	1200	10	12000
421	Individual	Other than promoters	Not applicable	ALOK GUPTA	Equity	IN30302884362838	India		Income Tax PAN	AJBPG7654E	PROFESSIONAL	600	10	6000
422	Individual	Other than promoters	Not applicable	AKHIL GUPTA	Equity	IN30302884471449	India		Income Tax PAN	AVKPG8892P	PROFESSIONAL	600	10	6000
423	Individual	Other than promoters	Not applicable	SARITA RAWAT	Equity	IN30302884626870	India		Income Tax PAN	ALFPR5268K	PROFESSIONAL	1800	10	18000

424	Individual	Other than promoters	Not applicable	ANJALI JAIN	Equity	IN30302885623536	India		Income Tax PAN	ANTPJ8895Q	PROFESSIONAL	1200	10	12000
425	Individual	Other than promoters	Not applicable	MADHURI SHARMA	Equity	IN30302889291576	India		Income Tax PAN	GWBPS7802B	AGRICULTURE	6000	10	60000
426	Individual	Other than promoters	Not applicable	AMAR JAIN	Equity	IN30302891323929	India		Income Tax PAN	AFCPJ7956F	SERVICE	4800	10	48000
427	Individual	Other than promoters	Not applicable	GAURAV KALRA	Equity	IN30302892504670	India		Income Tax PAN	JSIPK9931F	PROFESSIONAL	600	10	6000
428	Individual	Other than promoters	Not applicable	NEERAJ KUMAR	Equity	IN30302894962823			Income Tax PAN	BMLPK4388P	SERVICE	1200	10	12000
429	Individual	Other than promoters	Not applicable	ROHIT BELAWALA	Equity	IN30302895676325			Income Tax PAN	AIWPB6285E	AGRICULTURE	600	10	6000
430	Individual	Other than promoters	Not applicable	HARKUBAI B JAIN	Equity	IN30311610070077	India		Income Tax PAN	AAEPJ7612D	HOUSEWIFE	600	10	6000
431	Individual	Other than promoters	Not applicable	CHIRAG POONATARA	Equity	IN30311611420590	India		Income Tax PAN	AGPPP9386B	PROFESSIONAL	1200	10	12000
432	Individual	Other than promoters	Not applicable	RISHABH BHAKARAJ JAIN	Equity	IN30311614308603	India		Income Tax PAN	AABPJ4302P	PROFESSIONAL	600	10	6000
433	Individual	Other than promoters	Not applicable	AMITA RAVI SHETH	Equity	IN30317320374038	India		Income Tax PAN	AAQPS0335Q	RESIDENT	26400	10	264000
434	Individual	Other than promoters	Not applicable	NIRJA BHARAT SHETH	Equity	IN30317320381725	India		Income Tax PAN	ATTPS9617D	RESIDENT	26400	10	264000
435	Individual	Other than promoters	Not applicable	VIJAY KUMAR JAIN	Equity	IN30327010439698	India		Income Tax PAN	AFXPJ1571M	AGRICULTURE	21000	10	210000
436	Individual	Other than promoters	Not applicable	YOGENDRA SINGH	Equity	IN30327010830130	India		Income Tax PAN	BRDPS7352C	AGRICULTURE	1200	10	12000
437	Individual	Other than promoters	Not applicable	MEHUL NAVINCHANDRA MEHTA	Equity	IN30327010835947	India		Income Tax PAN	AFZPM9510K	SERVICE	600	10	6000
438	Individual	Other than promoters	Not applicable	NAMITA JARGAD	Equity	IN30327080187744	India		Income Tax PAN	ADLPN1542N	SERVICE	2400	10	24000
439	Individual	Other than promoters	Not applicable	RISHABH SHRIMAL	Equity	IN30327083540785			Income Tax PAN	BUVPS3562B	RESIDENT	600	10	6000
440	Individual	Other than promoters	Not applicable	SURESH JAIN	Equity	IN30327083864529			Income Tax PAN	ABBPJ3355R	PROFESSIONAL	600	10	6000
441	Individual	Other than promoters	Not applicable	ROHIT AGARWAL	Equity	IN30327083918174			Income Tax PAN	AXKPA5323P	SERVICE	600	10	6000
442	Entity	Other than promoters	Foreign institutional investors	MERU INVESTMENT FUND PCC-CELL 1	Equity	IN30362210076752			Income Tax PAN	AAQCM9904J		82200	10	822000

443	Entity	Other than promoters	Others	HOLANI VENTURE CAPITAL FUND-HOLANI VENTURE CAPITAL FUND-I	Equity	IN30362210097346			Income Tax PAN	AACTH8878F		87000	10	870000
444	Individual	Other than promoters	Not applicable	SANJAY SHARMA	Equity	IN30365510046338	India		Income Tax PAN	AVRPS4565J	PROFESSIONAL	1200	10	12000
445	Entity	Other than promoters	Body corporate (not mentioned above)	FINCOS TECHNOLOGY SOLUTIONS PRIVATE LIMITED .	Equity	IN30371911210386			Income Tax PAN	AAECF6385J		42000	10	420000
446	Individual	Other than promoters	Not applicable	JYOTI MANTRI	Equity	IN30401210007715	India		Income Tax PAN	AEOPM4948P	HOUSEWIFE	600	10	6000
447	Entity	Other than promoters	Body corporate (not mentioned above)	EXCEL STOCK BROKING PRIVATE LIMITED	Equity	IN30404510000012	India		Income Tax PAN	AABCE8639D		30000	10	300000
448	Individual	Other than promoters	Not applicable	MALIRAM VIJAY KUMAR (HUF)	Equity	IN30420310004546			Income Tax PAN	AABHM6108C		3000	10	30000
449	Individual	Other than promoters	Not applicable	SHAILENDRA KUMAR IHA	Equity	IN30429510205979	India		Income Tax PAN	ACIPJ0440P	RESIDENT	1200	10	12000
450	Individual	Other than promoters	Not applicable	RAMESH KUMAR BIRLA	Equity	IN30429512117573	India		Income Tax PAN	AAWPB0885E	PROFESSIONAL	600	10	6000
451	Individual	Other than promoters	Not applicable	MANOJ BAID	Equity	IN30429512486725	India		Income Tax PAN	AHZPB2700J	SERVICE	3000	10	30000
452	Individual	Other than promoters	Not applicable	ABHISHEK GUPTA	Equity	IN30429516493794	India		Income Tax PAN	AMFPG5714Q	SERVICE	3000	10	30000
453	Individual	Other than promoters	Not applicable	ANSHU KUMAR BANKA	Equity	IN30429520245450	India		Income Tax PAN	BJUPB3460R	PROFESSIONAL	600	10	6000
454	Individual	Other than promoters	Not applicable	APURV BANSAL HUF	Equity	IN30429550647852	India		Income Tax PAN	AARHA8722Q		600	10	6000
455	Individual	Other than promoters	Not applicable	SHIVANI SHEIKH	Equity	IN30429574922726	India		Income Tax PAN	AOSPS8523A	PROFESSIONAL	3000	10	30000
456	Individual	Other than promoters	Not applicable	JAGDISH CHANDRA SHARMA	Equity	IN30429583729993			Income Tax PAN	AQBPS4819E	SERVICE	600	10	6000
457	Individual	Other than promoters	Not applicable	SUNITA RANI	Equity	IN30429586827013			Income Tax PAN	DWHPR1938E	SERVICE	6000	10	60000
458	Individual	Other than promoters	Not applicable	NEHA VERMA	Equity	IN30429587844755			Income Tax PAN	BACPA8958C	PROFESSIONAL	1200	10	12000
459	Individual	Other than promoters	Not applicable	PRAMOD BAID	Equity	IN30429589292632			Income Tax PAN	AFFPB122ZH	PROFESSIONAL	2400	10	24000
460	Individual	Other than promoters	Not applicable	SHUBH GARG	Equity	IN30429592090567			Income Tax PAN	CRVPG3892A	PROFESSIONAL	1200	10	12000

461	Individual	Other than promoters	Not applicable	CHARVI JAIN	Equity	IN30429592090575			Income Tax PAN	BVKPJ3539B	SERVICE	1800	10	18000
462	Individual	Other than promoters	Not applicable	HARDIK JINDAL	Equity	IN30429592875377			Income Tax PAN	AXVPJ7414K	PROFESSIONAL	1200	10	12000
463	Individual	Other than promoters	Not applicable	KAVITA KHANDELWAL	Equity	IN30467650002383			Income Tax PAN	ACWPK9229R	PROFESSIONAL	2400	10	24000
464	Individual	Other than promoters	Not applicable	BHIM SHARMA	Equity	IN30611446837045	India		Income Tax PAN	GBGPS9330J	SERVICE	600	10	6000
465	Individual	Other than promoters	Not applicable	VARSHA KUREEL	Equity	IN30611461245844			Income Tax PAN	AXDPK4115E	SERVICE	3000	10	30000
466	Individual	Other than promoters	Not applicable	KANAKLATA JAIN .	Equity	IN30611463613694			Income Tax PAN	ACAPJ1467G	PROFESSIONAL	1200	10	12000
467	Individual	Other than promoters	Not applicable	VIKAS AGARWAL .	Equity	IN30611467589661			Income Tax PAN	AEOPA5896E	SERVICE	600	10	6000
468	Individual	Other than promoters	Not applicable	D G PRASUNAMBA	Equity	IN30611490708792	India		Income Tax PAN	AEAPD9420R	SERVICE	600	10	6000
469	Individual	Other than promoters	Not applicable	RASHI KALA	Equity	1201060002145285	India	F	Income Tax PAN	AWBPK8234F	OTHERS	600	10	6000
470	Individual	Other than promoters	Not applicable	ANITA NAGAR	Equity	1201060003166273	India	F	Income Tax PAN	AEGPN4061A	HOUSEWIFE	600	10	6000
471	Individual	Other than promoters	Not applicable	PREM LATA AGRAWAL	Equity	1201060003463499	India	F	Income Tax PAN	AAEPL2912Q	HOUSEWIFE	600	10	6000
472	Individual	Other than promoters	Not applicable	VEENA BHASIN	Equity	1201060003891959	India	F	Income Tax PAN	AAWPB7232K	BUSINESS	3000	10	30000
473	Individual	Other than promoters	Not applicable	RAM AVATAR JHALANI HUF	Equity	1201060004074346	India	M	Income Tax PAN	AADHR9064E	BUSINESS	600	10	6000
474	Individual	Other than promoters	Not applicable	ABHISHEK GOYAL	Equity	1201060004236669	India	M	Income Tax PAN	BUYPG9757P	BUSINESS	4200	10	42000
475	Individual	Other than promoters	Not applicable	NEERAJ AGARWAL	Equity	1201060004677908	India	M	Income Tax PAN	DWOPA2035N	PRIVATE SECTOR	6000	10	60000
476	Individual	Other than promoters	Not applicable	AYUSH PURI	Equity	1201060004787039	India	M	Income Tax PAN	CKHPP8012Q	GOVERNMENT SERVICES	1200	10	12000
477	Individual	Other than promoters	Not applicable	ISHAN GUPTA	Equity	1201060004793283	India	M	Income Tax PAN	BFLPG7779B	PROFESSIONAL	1200	10	12000
478	Entity	Other than promoters	Body corporate (not mentioned above)	KAIZEN ORGANICS PRIVATE	Equity	1201060004917475	India		Income Tax PAN	AAACK7588G	BUSINESS	4200	10	42000
479	Individual	Other than promoters	Not applicable	DHRUV BHUTRA	Equity	1201060004939476	India	M	Income Tax PAN	FFCPB2130G	PRIVATE SECTOR	4200	10	42000
480	Individual	Other than promoters	Not applicable	SAHILA BATRA	Equity	1201060004955967	India	F	Income Tax PAN	DRXPS9517R	PRIVATE SECTOR	600	10	6000
481	Individual	Other than promoters	Not applicable	SANJAY KUMAR GUPTA	Equity	1201060005015266	India	M	Income Tax PAN	AARFC2173M	BUSINESS	11400	10	114000

482	Individual	Other than promoters	Not applicable	RAKESH PURI	Equity	1201060005023499	India	M	Income Tax PAN	ACOPP4790J	GOVERNMENT SERVICES	600	10	6000
483	Individual	Other than promoters	Not applicable	MANU TIRTHDAS	Equity	1201060005139018	NETHERLANDS	M	Income Tax PAN	ANNPT9874D	PRIVATE SECTOR	3000	10	30000
484	Individual	Other than promoters	Not applicable	NEELU BANSAL	Equity	1201060005252703	India	F	Income Tax PAN	DYXPB7850P	HOUSEWIFE	4800	10	48000
485	Individual	Other than promoters	Not applicable	RAMGOPAL JHUNJHUNWALA	Equity	1201060005347977	India	M	Income Tax PAN	AOMPJ5927K	RESIDENT	7200	10	72000
486	Individual	Other than promoters	Not applicable	SHRUTI JAIN	Equity	1201060005494334	India	F	Income Tax PAN	AKLPB5514B	PRIVATE SECTOR	3000	10	30000
487	Individual	Other than promoters	Not applicable	MADHU JAIN	Equity	1201060005678677	India	F	Income Tax PAN	BBGPJ4245Q	PRIVATE SECTOR	1200	10	12000
488	Individual	Other than promoters	Not applicable	RAHUL JAIN(HUF)	Equity	1201060005713227	India	M	Income Tax PAN	AAXHR6152B	BUSINESS	600	10	6000
489	Individual	Other than promoters	Not applicable	SHOBHA JAIN	Equity	1201060005741599	India	F	Income Tax PAN	AEZPA0034K	HOUSEWIFE	3000	10	30000
490	Individual	Other than promoters	Not applicable	YASHVI JAIN	Equity	1201060005747548	India	F	Income Tax PAN	AHPPJ3147H	STUDENT	3000	10	30000
491	Individual	Other than promoters	Not applicable	ANKUR JAIN(HUF)	Equity	1201060005817879	India	M	Income Tax PAN	AAOHA4401K	BUSINESS	21600	10	216000
492	Individual	Other than promoters	Not applicable	MAHENDRA KUMAR (HUF)	Equity	1201060005819122	India	M	Income Tax PAN	AADHM4662B	BUSINESS	1800	10	18000
493	Individual	Other than promoters	Not applicable	RENU DEVI JHUNJHUNWALA	Equity	1201060005820991	India	F	Income Tax PAN	ACOPJ4279N	BUSINESS	600	10	6000
494	Individual	Other than promoters	Not applicable	DEEPAK MAHESH WARI (HUF)	Equity	1201060005822171	India	M	Income Tax PAN	AAKHD6303D	BUSINESS	600	10	6000
495	Individual	Other than promoters	Not applicable	RENU JAIN	Equity	1201060005923104	India	F	Income Tax PAN	ADNPJ3097N	HOUSEWIFE	600	10	6000
496	Individual	Other than promoters	Not applicable	RAMESH KUMAR BELEWALA	Equity	1201060500011933	India	M	Income Tax PAN	ACQPB8110Q	BUSINESS	600	10	6000
497	Individual	Other than promoters	Not applicable	SHAKUNTA LA KHOWALA	Equity	1201060500210946	India	F	Income Tax PAN	AAYPK1289K	HOUSEWIFE	600	10	6000
498	Individual	Other than promoters	Not applicable	GAJANAND GUPTA HUF	Equity	1201060500243281	India	M	Income Tax PAN	AACHG6849K	PROFESSIONAL	600	10	6000
499	Individual	Other than promoters	Not applicable	SHEETAL JAIN	Equity	1201060500266951	India	M	Income Tax PAN	ADYPJ8860C	BUSINESS	600	10	6000
500	Individual	Other than promoters	Not applicable	AMIT JAIN	Equity	1201060500387073	India	M	Income Tax PAN	AAVPJ6398P	BUSINESS	600	10	6000
501	Individual	Other than promoters	Not applicable	DINESH KUMAR JAGA	Equity	1201060500448484	India	M	Income Tax PAN	AHQPJ9828G	SERVICE	3000	10	30000
502	Individual	Other than promoters	Not applicable	SANTOSH KUMAR DHANNAKA	Equity	1201060500518855	India	M	Income Tax PAN	AKBPD9184D	BUSINESS	1200	10	12000

503	Individual	Other than promoters	Not applicable	NITU BHUTRA	Equity	1201060500533219	India	F	Income Tax PAN	ALKPB2452N	HOUSEWIFE	600	10	6000
504	Individual	Other than promoters	Not applicable	MANJU LATA AGRAWAL	Equity	1201060500543468	India	F	Income Tax PAN	ABSPA1281A	HOUSEWIFE	3000	10	30000
505	Individual	Other than promoters	Not applicable	MOHAN LAL GUPTA	Equity	1201060500543508	India	M	Income Tax PAN	ACEPG9519Q	BUSINESS	5400	10	54000
506	Individual	Other than promoters	Not applicable	SOHAN LAL GUPTA	Equity	1201060500543512	India	M	Income Tax PAN	ACPPG7440M	BUSINESS	3000	10	30000
507	Individual	Other than promoters	Not applicable	RAVI KUMAR GUPTA (HUF)	Equity	1201060500544326	India	M	Income Tax PAN	AASHR2166N	BUSINESS	600	10	6000
508	Individual	Other than promoters	Not applicable	ANAND . AGRAWAL	Equity	1201090000657213		M	Income Tax PAN	ABSPA1295L	BUSINESS	3000	10	30000
509	Individual	Other than promoters	Not applicable	PRAKASH . AGRAWAL	Equity	1201090000742609	India	M	Income Tax PAN	ACNPA1340E	BUSINESS	1800	10	18000
510	Individual	Other than promoters	Not applicable	SHILPA . AGRAWAL	Equity	1201090000742613	India	F	Income Tax PAN	ABSPA1365R	HOUSEWIFE	1800	10	18000
511	Individual	Other than promoters	Not applicable	MANISHA JAIN	Equity	1201090001423981	India	F	Income Tax PAN	ABKJP9319C	OTHERS	3000	10	30000
512	Individual	Other than promoters	Not applicable	SAROJ AGARWAL	Equity	1201090002453617	India	F	Income Tax PAN	ADRPA9282C	HOUSEWIFE	600	10	6000
513	Individual	Other than promoters	Not applicable	PREETY AGARWAL	Equity	1201090004605447	India	F	Income Tax PAN	AKXPB4671M	HOUSEWIFE	600	10	6000
514	Individual	Other than promoters	Not applicable	VISHAL JAIN	Equity	1201090004793447	India	M	Income Tax PAN	ADWJPJ8119J	BUSINESS	600	10	6000
515	Individual	Other than promoters	Not applicable	DEEPSHIK HA DAFTARI	Equity	1201090005268552	India	F	Income Tax PAN	BFPPD9963L	HOUSEWIFE	4800	10	48000
516	Individual	Other than promoters	Not applicable	CHANDA DEVI AGARWAL LA	Equity	1201090005386642	India	F	Income Tax PAN	ABZPA6309C	HOUSEWIFE	1200	10	12000
517	Individual	Other than promoters	Not applicable	SONAM JAIN	Equity	1201090005799064	India	F	Income Tax PAN	AEZPK7201E	OTHERS	5400	10	54000
518	Individual	Other than promoters	Not applicable	VIKAS LOHIA .	Equity	1201090006544683	India	M	Income Tax PAN	ACNPL7166P	PROFESSIONAL	1200	10	12000
519	Individual	Other than promoters	Not applicable	MANISH SINGHAL .	Equity	1201090006669648	India	M	Income Tax PAN	AYJPS8876P	BUSINESS	2400	10	24000
520	Individual	Other than promoters	Not applicable	AADITYA JAIN BAKLIWA L.	Equity	1201090006706201	India	M	Income Tax PAN	BFHPB8069P	PRIVATE SECTOR	1200	10	12000
521	Individual	Other than promoters	Not applicable	ARUN BAKLIWA L.	Equity	1201090006859384	India	M	Income Tax PAN	ACSPB0761H	PRIVATE SECTOR	1200	10	12000
522	Individual	Other than promoters	Not applicable	VINAY KUMAR SUKHANI .	Equity	1201090007041704	India	M	Income Tax PAN	DIGPS7029A	BUSINESS	1200	10	12000
523	Individual	Other than promoters	Not applicable	RAJESH KUMAR CHANDAN .	Equity	1201090007094231	India	M	Income Tax PAN	ADBPR8127K	PRIVATE SECTOR	15600	10	156000

524	Individual	Other than promoters	Not applicable	CHANDAN BALA SUKHANI .	Equity	1201090007383021	India	F	Income Tax PAN	AGDPS4845A	HOUSEWIFE	1200	10	12000
525	Individual	Other than promoters	Not applicable	SHAILESH MIYAN BAZAZ .	Equity	1201090007459903	India	M	Income Tax PAN	AHXP0575A	BUSINESS	600	10	6000
526	Individual	Other than promoters	Not applicable	HITENDRA POKAR .	Equity	1201090007853637	India	M	Income Tax PAN	ABMPP5423D	PRIVATE SECTOR	3000	10	30000
527	Individual	Other than promoters	Not applicable	RASHMI BAKLIWAL .	Equity	1201090007856866	India	F	Income Tax PAN	AISPB3806B	HOUSEWIFE	600	10	6000
528	Individual	Other than promoters	Not applicable	RANU BAFNA .	Equity	1201090007864140	India	F	Income Tax PAN	AHZPB0456F	HOUSEWIFE	1800	10	18000
529	Individual	Other than promoters	Not applicable	JIGNA SAURABH ANAM .	Equity	1201090007865558	India	F	Income Tax PAN	AAEPT2589B	HOUSEWIFE	3600	10	36000
530	Individual	Other than promoters	Not applicable	MANJARI SHARMA .	Equity	1201090008785881	India	F	Income Tax PAN	BGZPS9566D	HOUSEWIFE	9000	10	90000
531	Individual	Other than promoters	Not applicable	VIJETA AGARWAL .	Equity	1201090008959523	India	F	Income Tax PAN	AYQPA4761Q	HOUSEWIFE	600	10	6000
532	Individual	Other than promoters	Not applicable	MEHTAB KHAN .	Equity	1201090009053698	India	M	Income Tax PAN	CCBPK0453N	BUSINESS	600	10	6000
533	Individual	Other than promoters	Not applicable	ANJALI AGARWAL .	Equity	1201090009228464	India	F	Income Tax PAN	AHEPA3166C	HOUSEWIFE	1200	10	12000
534	Individual	Other than promoters	Not applicable	GUNJAN GUPTA .	Equity	1201090009280905	India	M	Income Tax PAN	AHGPG7987B	BUSINESS	4200	10	42000
535	Individual	Other than promoters	Not applicable	NAYNESH WARIBA HARPALSINH JADEJA .	Equity	1201090009538361	India	F	Income Tax PAN	AKAPJ7914Q	HOUSEWIFE	4800	10	48000
536	Individual	Other than promoters	Not applicable	NEHA VISHAL PODDAR .	Equity	1201090009784051	India	F	Income Tax PAN	AAQPD1527M	HOUSEWIFE	600	10	6000
537	Individual	Other than promoters	Not applicable	RAJAT KACHOLIA	Equity	1201090010853711	India	F	Income Tax PAN	DSNPK2074L	PROFESSIONAL	600	10	6000
538	Individual	Other than promoters	Not applicable	BHAGWAN DASS JINDAL .	Equity	1201090011351692	India	M	Income Tax PAN	ABSPJ1836E	BUSINESS	600	10	6000
539	Individual	Other than promoters	Not applicable	PRIYANKA JAIN	Equity	1201090011551432	India	F	Income Tax PAN	BAZPJ9596E	PRIVATE SECTOR	14400	10	144000
540	Individual	Other than promoters	Not applicable	DEEPTI GARG	Equity	1201090013824733	India	F	Income Tax PAN	BEFPK8161N	HOUSEWIFE	3000	10	30000
541	Individual	Other than promoters	Not applicable	MANJU GOENKA	Equity	1201090015324461	India	F	Income Tax PAN	AEAPG9203R	BUSINESS	1800	10	18000
542	Individual	Other than promoters	Not applicable	AARTI TALERA	Equity	1201090016279687	India	F	Income Tax PAN	BVDPS7105M	HOUSEWIFE	600	10	6000
543	Individual	Other than promoters	Not applicable	ARVIND KUMAR JAIN (HUF).	Equity	1201090016306612	India	M	Income Tax PAN	AALHA2467A	BUSINESS	600	10	6000
544	Individual	Other than promoters	Not applicable	BINABEN MAHESHKUMAR SHAH	Equity	1201090016423301	India	F	Income Tax PAN	CSIPS7951L	HOUSEWIFE	600	10	6000

545	Individual	Other than promoters	Not applicable	NAMITA GARG	Equity	12010900 17454401	India	F	Income Tax PAN	AKFPG768 7L	HOUSEWIFE	3000	10	30000
546	Individual	Other than promoters	Not applicable	KIRTI VELJI GOGRI	Equity	12010900 20318719	India	M	Income Tax PAN	AABPG229 1A	BUSINESS	4800	10	48000
547	Individual	Other than promoters	Not applicable	SAURISH GOYAL	Equity	12010900 22443226	India	M	Income Tax PAN	DMYPG41 14E	PRIVATE SECTOR	3600	10	36000
548	Individual	Other than promoters	Not applicable	REKHA GOYAL	Equity	12010900 23244715	India	F	Income Tax PAN	ABAPG157 6C	PRIVATE SECTOR	600	10	6000
549	Individual	Other than promoters	Not applicable	ALOK GUPTA	Equity	12010900 23829447	India	M	Income Tax PAN	AJBPG765 4E	PRIVATE SECTOR	600	10	6000
550	Individual	Other than promoters	Not applicable	ROMIT GUPTA	Equity	12010900 28132328	India	M	Income Tax PAN	AHXPG582 4E	PROFESSIONAL	2400	10	24000
551	Individual	Other than promoters	Not applicable	HARSH MUNDRA	Equity	12010900 31070471	India	M	Income Tax PAN	FNXPM90 81G	STUDENT	600	10	6000
552	Individual	Other than promoters	Not applicable	HANUMAN PRASAD KUMAWAT	Equity	12010900 32627071	India	M	Income Tax PAN	ATGPK557 4Q	PRIVATE SECTOR	600	10	6000
553	Individual	Other than promoters	Not applicable	ANKUR RAVINDRA TIWARI	Equity	12010900 36169242	India	M	Income Tax PAN	ANNPT298 2L	PRIVATE SECTOR	2400	10	24000
554	Individual	Other than promoters	Not applicable	MEENAKS HI PAREEK	Equity	12010900 36383719	India	F	Income Tax PAN	CPKPP560 1M	HOUSEWIFE	600	10	6000
555	Entity	Other than promoters (not mentioned above)	Body corporate	SHANNON ADVISORS PRIVATE LIMITED	Equity	12010900 37265998	India		Income Tax PAN	ABICS733 8B	BUSINESS	7800	10	78000
556	Individual	Other than promoters	Not applicable	VIPIN MITTAL	Equity	12010900 37309118	India	M	Income Tax PAN	ABRFA578 2B	BUSINESS	9000	10	90000
557	Individual	Other than promoters	Not applicable	VINEET AGRAWAL HUF .	Equity	12010900 37318331	India	F	Income Tax PAN	AALHV383 5K	BUSINESS	3000	10	30000
558	Individual	Other than promoters	Not applicable	SANTOSH KUMAR TOTLA	Equity	12010900 37338274	India	M	Income Tax PAN	ABYPT839 4D	BUSINESS	600	10	6000
559	Individual	Other than promoters	Not applicable	CHARU AGARWAL	Equity	12010900 39806885	India	F	Income Tax PAN	BOIPA086 5E	STUDENT	1200	10	12000
560	Individual	Other than promoters	Not applicable	DEVESH KHANDELWAL	Equity	12010900 40012306	India	M	Income Tax PAN	AWKPK03 21J	PRIVATE SECTOR	600	10	6000
561	Individual	Other than promoters	Not applicable	ADITYA BANGAD	Equity	12011300 00529024	India	M	Income Tax PAN	AERPB895 2P	BUSINESS	3000	10	30000
562	Individual	Other than promoters	Not applicable	MANISHA KALPESH SHAH	Equity	12011300 00849415	India	F	Income Tax PAN	AJWPS046 0R	HOUSEWIFE	3000	10	30000
563	Individual	Other than promoters	Not applicable	NALINI BIPIN SHAH	Equity	12011300 00850661	India	F	Income Tax PAN	AACPS913 0M	HOUSEWIFE	3000	10	30000
564	Individual	Other than promoters	Not applicable	MANISH KUMAR AGARWAL	Equity	12011300 00861935	India	M	Income Tax PAN	ABUPA429 9G	BUSINESS	3000	10	30000

565	Individual	Other than promoters	Not applicable	UMMED KANWAR	Equity	1201210100887441	India	F	Income Tax PAN	ATZPK4156D	OTHERS	600	10	6000
566	Individual	Other than promoters	Not applicable	NARESH TIKUCHAND JOGANI	Equity	1201260000005612	India	M	Income Tax PAN	AAAPJ8022D	BUSINESS	600	10	6000
567	Individual	Other than promoters	Not applicable	MANJU MAHENDR A JAIN	Equity	1201320001889141	India	F	Income Tax PAN	BCPPJ7494H	HOUSEWIFE	600	10	6000
568	Individual	Other than promoters	Not applicable	RAJNISH SINGHAL	Equity	1201330000449309	India	M	Income Tax PAN	BLEPS7110P	OTHERS	1200	10	12000
569	Individual	Other than promoters	Not applicable	VISHALI RAINA	Equity	1201330001264751	India	F	Income Tax PAN	BFDPR7035D	PRIVATE SECTOR	1200	10	12000
570	Individual	Other than promoters	Not applicable	HITESH KUMAR SHARMA	Equity	1201330002307171	India	M	Income Tax PAN	AWCPS9193E	BUSINESS	3000	10	30000
571	Individual	Other than promoters	Not applicable	ARCHIT MEHTA	Equity	1201700000265140	India	M	Income Tax PAN	COMP7273K	STUDENT	600	10	6000
572	Individual	Other than promoters	Not applicable	DEVENDR A BAKLIWAL	Equity	1201770100030179	India	M	Income Tax PAN	AEIPB1464M	BUSINESS	9000	10	90000
573	Individual	Other than promoters	Not applicable	SARALA JAIN	Equity	1201770100046149		F	Income Tax PAN	ABJPJ2967P	HOUSEWIFE	10800	10	108000
574	Individual	Other than promoters	Not applicable	ASHOK KUMAR KARNAWAT	Equity	1201770100130642	India	M	Income Tax PAN	ADRPK6012C	PRIVATE SECTOR	1200	10	12000
575	Individual	Other than promoters	Not applicable	SANJAY KARNAWAT	Equity	1201770100160234	India	M	Income Tax PAN	ABDPK9569L	OTHERS	600	10	6000
576	Individual	Other than promoters	Not applicable	SANGEETA BAKLIWAL	Equity	1201770100160861	India	M	Income Tax PAN	ACIPB8111H	HOUSEWIFE	4200	10	42000
577	Individual	Other than promoters	Not applicable	ASHISH MEHTA	Equity	1201770100209752	India	M	Income Tax PAN	AFJPM5553Q	OTHERS	3000	10	30000
578	Individual	Other than promoters	Not applicable	RAJENDRA PRASAD JAIN (HUF) .	Equity	1201770100216911	India	M	Income Tax PAN	AAJHR1997N	BUSINESS	1200	10	12000
579	Individual	Other than promoters	Not applicable	SEEMA BAID	Equity	1201770100234876	India	F	Income Tax PAN	AAKPD9991M	BUSINESS	2400	10	24000
580	Individual	Other than promoters	Not applicable	VIKAS BAID	Equity	1201770100241459	India	M	Income Tax PAN	ACPPB8228E	BUSINESS	10200	10	102000
581	Individual	Other than promoters	Not applicable	UMMED SINGH BAID	Equity	1201770100242891	India	M	Income Tax PAN	ABSPB6879M	BUSINESS	6600	10	66000
582	Individual	Other than promoters	Not applicable	SHIMLA SINGHAL	Equity	1201770100283964	India	F	Income Tax PAN	BFJPS3041G	OTHERS	3000	10	30000
583	Individual	Other than promoters	Not applicable	JANARDAN JANGIR	Equity	1201770100332341	India	M	Income Tax PAN	AAWPJ1176E	OTHERS	600	10	6000
584	Individual	Other than promoters	Not applicable	RASHIKA JAIN	Equity	1201770100343934	India	F	Income Tax PAN	AIUPJ6917H	OTHERS	600	10	6000
585	Individual	Other than promoters	Not applicable	RASHMI JAIN	Equity	1201770100490534	India	F	Income Tax PAN	ABVPJ5239J	HOUSEWIFE	11400	10	114000

586	Individual	Other than promoters	Not applicable	PAYAL JAIN	Equity	1201770100491426	India	F	Income Tax PAN	ABXPJ6599D	BUSINESS	10800	10	108000
587	Individual	Other than promoters	Not applicable	PANNA LAL AGARWAL & SONS HUF	Equity	1201770100502384	India	M	Income Tax PAN	AAFHP8507E	BUSINESS	4200	10	42000
588	Individual	Other than promoters	Not applicable	SHREEPAL ROHIT JAIN .	Equity	1201770100510959	India	M	Income Tax PAN	AACHS0328D	BUSINESS	16800	10	168000
589	Individual	Other than promoters	Not applicable	RAHUL RAKSHIT SABLAWA T (HUF) .	Equity	1201770100510963	India	M	Income Tax PAN	AAJHR2508F	OTHERS	15600	10	156000
590	Individual	Other than promoters	Not applicable	SURESH ANURODH SABLAWA T (HUF) .	Equity	1201770100510978	India	M	Income Tax PAN	AAEHS2194D	OTHERS	15000	10	150000
591	Individual	Other than promoters	Not applicable	ROHIT SHREYANS SABLAWA T (HUF) .	Equity	1201770100510982	India	M	Income Tax PAN	AAJHR2509E	OTHERS	12600	10	126000
592	Individual	Other than promoters	Not applicable	HULASHC HAND SHREEPAL SABLAWA T (HUF) .	Equity	1201770100511285	India	M	Income Tax PAN	AAAHH8042K	BUSINESS	7800	10	78000
593	Individual	Other than promoters	Not applicable	YOGESH CHAUDHARY	Equity	1201770100518491	India	M	Income Tax PAN	AFKPC1923P	PRIVATE SECTOR	33600	10	336000
594	Individual	Other than promoters	Not applicable	PRINCY KARNAWA T	Equity	1201770100530397	India	F	Income Tax PAN	AZJPK0286G	HOUSEWIFE	3600	10	36000
595	Individual	Other than promoters	Not applicable	NEELAM KARNAWA T	Equity	1201770100572066	India	F	Income Tax PAN	AWTPK8567H	HOUSEWIFE	600	10	6000
596	Individual	Other than promoters	Not applicable	JEEVAN KUMARI CHOUDHARI	Equity	1201770100582676	India	F	Income Tax PAN	ABCPC2354G	BUSINESS	13800	10	138000
597	Individual	Other than promoters	Not applicable	URMILA CHOUDHARI	Equity	1201770100582701	India	F	Income Tax PAN	ACAPC0908K	BUSINESS	10200	10	102000
598	Individual	Other than promoters	Not applicable	MAHENDRA CHOUDHARI	Equity	1201770100582906	India	M	Income Tax PAN	ABCPC2410M	PRIVATE SECTOR	1800	10	18000
599	Individual	Other than promoters	Not applicable	LALITA SABLAWA T	Equity	1201770100589838	India	F	Income Tax PAN	ABTPS3876L	HOUSEWIFE	12000	10	120000
600	Individual	Other than promoters	Not applicable	AKANSHA JAIN	Equity	1201770100590024	India	F	Income Tax PAN	ACDPJ6548B	BUSINESS	9000	10	90000
601	Individual	Other than promoters	Not applicable	ANURODH ADVAY SABLAWA T HUF .	Equity	1201770100590039	India	M	Income Tax PAN	AAKHA9061P	BUSINESS	24000	10	240000
602	Individual	Other than promoters	Not applicable	MAHENDRA SINGH RAJAWAT	Equity	1201770100611062	India	M	Income Tax PAN	AFCPR8890L	BUSINESS	1200	10	12000
603	Individual	Other than promoters	Not applicable	KAVITA CHAUDHARY	Equity	1201770100631427	India	F	Income Tax PAN	AFXPC8841D	PRIVATE SECTOR	600	10	6000
604	Individual	Other than promoters	Not applicable	ABHISHEK KARNAWA T	Equity	1201770100656199	India	M	Income Tax PAN	BIPPK7789C	BUSINESS	1200	10	12000

605	Individual	Other than promoters	Not applicable	PARUL MUSAL	Equity	1201770100659717	India	F	Income Tax PAN	BENPK4385N	BUSINESS	1800	10	18000
606	Individual	Other than promoters	Not applicable	POONAM CHAND NAHTA	Equity	1201770100705596	India	M	Income Tax PAN	AARPN4158P	BUSINESS	1200	10	12000
607	Individual	Other than promoters	Not applicable	PREM LATA KOTHARI	Equity	1201770100705771	India	F	Income Tax PAN	AKNPK5239L	SERVICE	600	10	6000
608	Individual	Other than promoters	Not applicable	URMILA SURANA	Equity	1201770100707063	India	F	Income Tax PAN	BVKPS2642L	OTHERS	1200	10	12000
609	Individual	Other than promoters	Not applicable	RAJA RAM SONI	Equity	1201770100708369	India	M	Income Tax PAN	AHVPS0330D	SERVICE	3600	10	36000
610	Individual	Other than promoters	Not applicable	CHANDRA MOHAN CHANDAK	Equity	1201770100709100	India	M	Income Tax PAN	AEOPC9372F	BUSINESS	600	10	6000
611	Individual	Other than promoters	Not applicable	ROHIT CHANDAK	Equity	1201770100709153	India	M	Income Tax PAN	AHLPC7684E	STUDENT	600	10	6000
612	Individual	Other than promoters	Not applicable	NIHARIKA JAIN	Equity	1201770100819141	India	F	Income Tax PAN	AMEPJ0643C	HOUSEWIFE	6000	10	60000
613	Individual	Other than promoters	Not applicable	DHARMVEER SAINI	Equity	1201770100827978	India	M	Income Tax PAN	ATEPS4652B	PRIVATE SECTOR	600	10	6000
614	Individual	Other than promoters	Not applicable	ASHOK KUMAR KARNAWA T HUF .	Equity	1201770100830765	India	M	Income Tax PAN	AAMHA0334F	BUSINESS	1800	10	18000
615	Individual	Other than promoters	Not applicable	ANURAG SABLAWA T HUF .	Equity	1201770100879858	India	M	Income Tax PAN	AAOHA5127N	BUSINESS	18000	10	180000
616	Individual	Other than promoters	Not applicable	RITIKA KARNAWA T	Equity	1201770100909062	India	M	Income Tax PAN	CNBPK3255P	HOUSEWIFE	1200	10	12000
617	Individual	Other than promoters	Not applicable	SATYA NARAIN KABRA HUF .	Equity	1201770100933163	India	M	Income Tax PAN	AASHS4291M	BUSINESS	600	10	6000
618	Individual	Other than promoters	Not applicable	VINIT KABRA HUF .	Equity	1201770100933260	India	M	Income Tax PAN	AAGHV0600K	BUSINESS	600	10	6000
619	Individual	Other than promoters	Not applicable	PARUL KHANDELWAL	Equity	1201770100947569	India	F	Income Tax PAN	DSKPK4257A	HOUSEWIFE	600	10	6000
620	Entity	Other than promoters	Body corporate (not mentioned above)	SUSWANI TEXTILE PVT LTD	Equity	1201770100972190	India		Income Tax PAN	AAICS7060F	BUSINESS	6000	10	60000
621	Individual	Other than promoters	Not applicable	RAJ KUMAR BENGANI	Equity	1201770101043732	India	M	Income Tax PAN	ABAPB9497R	BUSINESS	600	10	6000
622	Individual	Other than promoters	Not applicable	SWETA NATANI	Equity	1201770101087924	India	F	Income Tax PAN	AXDPN2128E	HOUSEWIFE	600	10	6000
623	Individual	Other than promoters	Not applicable	VISHAL BENGANI	Equity	1201770101126502	India	M	Income Tax PAN	AKSPB5135H	BUSINESS	1200	10	12000
624	Individual	Other than promoters	Not applicable	ANJANA SONI	Equity	1201770101145443	India	F	Income Tax PAN	FLOPS0169G	OTHERS	3000	10	30000

625	Individual	Other than promoters	Not applicable	RISHAB JAIN	Equity	1201770101166679	India	M	Income Tax PAN	AAZPJ9966D	BUSINESS	4800	10	48000
626	Individual	Other than promoters	Not applicable	PURVAI JAIN	Equity	1201770101167007	India	F	Income Tax PAN	ACXPJ0970D	HOUSEWIFE	34800	10	348000
627	Individual	Other than promoters	Not applicable	PHALGUNI MODI	Equity	1201770101168211	India	F	Income Tax PAN	AJQPJ3076L	HOUSEWIFE	36600	10	366000
628	Individual	Other than promoters	Not applicable	GARIMA JAIN	Equity	1201770101173481	India	F	Income Tax PAN	BOKPJ5764D	STUDENT	1200	10	12000
629	Individual	Other than promoters	Not applicable	RISHAB JAIN HUF .	Equity	1201770101173967	India	M	Income Tax PAN	AADHR4080E	BUSINESS	12000	10	120000
630	Individual	Other than promoters	Not applicable	KESHAV JAIN	Equity	1201770101308318	India	M	Income Tax PAN	CIEPJ2984G	STUDENT	1800	10	18000
631	Individual	Other than promoters	Not applicable	LOKESH BAJAJ (HUF) .	Equity	1201770101323541	India	M	Income Tax PAN	AACHL8386G	BUSINESS	600	10	6000
632	Individual	Other than promoters	Not applicable	SOURABH KUMAWAT	Equity	1201770101354272	India	M	Income Tax PAN	ISWPK7300F	BUSINESS	600	10	6000
633	Individual	Other than promoters	Not applicable	MANNALA L RAJENDRA KUMAR BAKLIWAL (HUF) .	Equity	1201770101355067	India	M	Income Tax PAN	AABHM4219G	BUSINESS	600	10	6000
634	Individual	Other than promoters	Not applicable	ANTARIKSH MODI	Equity	1201770101359572	India	M	Income Tax PAN	ANOPM2032R	BUSINESS	37200	10	372000
635	Individual	Other than promoters	Not applicable	KANAK JAIN	Equity	1201770101364390	India	F	Income Tax PAN	AGQPJ0722Q	HOUSEWIFE	600	10	6000
636	Individual	Other than promoters	Not applicable	VINITA SHARMA	Equity	1201770101366535	India	F	Income Tax PAN	LWGPS2119K	HOUSEWIFE	600	10	6000
637	Individual	Other than promoters	Not applicable	SHALINI JAGWAYAN	Equity	1201770101371577	India	F	Income Tax PAN	AEPPJ9140P	HOUSEWIFE	36000	10	360000
638	Individual	Other than promoters	Not applicable	VIVEK KUMAR JAGWAYAN	Equity	1201770101371596	India	M	Income Tax PAN	ABUPJ0165C	BUSINESS	62400	10	624000
639	Individual	Other than promoters	Not applicable	VINEET KUMAR JAGWAYAN	Equity	1201770101371621	India	M	Income Tax PAN	ABUPJ0166B	BUSINESS	67200	10	672000
640	Individual	Other than promoters	Not applicable	REKHA JAGWAYAN	Equity	1201770101371655	India	F	Income Tax PAN	AFXPA7307J	HOUSEWIFE	36000	10	360000
641	Individual	Other than promoters	Not applicable	KAPIL JAIN	Equity	1201770101377150	India	M	Income Tax PAN	ADBPJ4317K	BUSINESS	3000	10	30000
642	Individual	Other than promoters	Not applicable	SHIPRA BHARGAVA	Equity	1201770101378076	India	F	Income Tax PAN	AIMPB9566C	HOUSEWIFE	1200	10	12000
643	Individual	Other than promoters	Not applicable	AMIT BHARGAVA	Equity	1201770101378192	India	M	Income Tax PAN	AEYPB4807Q	BUSINESS	1200	10	12000
644	Individual	Other than promoters	Not applicable	NAVEEN KUMAR RATHI	Equity	1201770101380119	India	M	Income Tax PAN	CUKPR5695E	BUSINESS	1200	10	12000

645	Individual	Other than promoters	Not applicable	AVINASH JAIN (HUF) -	Equity	1201770101389238	India	M	Income Tax PAN	AAOHA7004A	BUSINESS	600	10	6000
646	Individual	Other than promoters	Not applicable	LALIT KUMAR BAHETI	Equity	1201770101403213	India	M	Income Tax PAN	AEPFB5931C	BUSINESS	600	10	6000
647	Individual	Other than promoters	Not applicable	LAXMI DEVI BAJAJ	Equity	1201770101411661	India	F	Income Tax PAN	ACPPB8758H	HOUSEWIFE	600	10	6000
648	Individual	Other than promoters	Not applicable	MANNALA L DEVENDRA KUMAR BAKLIWAL.	Equity	1201770101421944	India	M	Income Tax PAN	AABHM4218H	BUSINESS	4800	10	48000
649	Individual	Other than promoters	Not applicable	RAJENDRA BAKLIWAL	Equity	1201770101423196	India	M	Income Tax PAN	ACIPB8102G	BUSINESS	9000	10	90000
650	Individual	Other than promoters	Not applicable	KIRAN MAHESH WARI	Equity	1201770101424789	India	F	Income Tax PAN	ALPPM3751N	BUSINESS	3000	10	30000
651	Individual	Other than promoters	Not applicable	RITEEK BAKLIWAL HUF .	Equity	1201770101426596	India	M	Income Tax PAN	AAZHR1990M	BUSINESS	9600	10	96000
652	Individual	Other than promoters	Not applicable	ARCHANA MAURYA	Equity	1201910000044004	India	F	Income Tax PAN	BBUPM4687F	HOUSEWIFE	3000	10	30000
653	Individual	Other than promoters	Not applicable	PINKY .	Equity	1201910101961201	India	F	Income Tax PAN	AYDPP2459B	HOUSEWIFE	2400	10	24000
654	Individual	Other than promoters	Not applicable	MAHESH KUMAR SONTHALI A	Equity	1201910104056571	India	M	Income Tax PAN	AHVPS9157Q	SERVICE	1200	10	12000
655	Individual	Other than promoters	Not applicable	HIMANSHU SAINI	Equity	1201910104188155	India	M	Income Tax PAN	BFOPS5588D	PRIVATE SECTOR	1800	10	18000
656	Individual	Other than promoters	Not applicable	KIRAN PRAKASH SARAF	Equity	1201910300588164	India	M	Income Tax PAN	ALJPS0505Q	RESIDENT	3000	10	30000
657	Individual	Other than promoters	Not applicable	SHIV KUMAR CHANDAK	Equity	1201910300589723	India	M	Income Tax PAN	ACOPC4282G	BUSINESS	2400	10	24000
658	Individual	Other than promoters	Not applicable	HELEN NAPOLEON LOBO	Equity	1201970000016511	India	F	Income Tax PAN	AARPL3596R	PRIVATE SECTOR	600	10	6000
659	Entity	Other than promoters	Body corporate (not mentioned above)	FREE INDIA ASSURANCE SERVICES LIMITED	Equity	1202000000452183	India		Income Tax PAN	AAACF3879K	BUSINESS	6000	10	60000
660	Entity	Other than promoters	Body corporate (not mentioned above)	COSMOS PRIME PROJECTS LIMITED	Equity	1202000000452198	India		Income Tax PAN	AABCD6081E	BUSINESS	15000	10	150000
661	Individual	Other than promoters	Not applicable	SHRADHA MANISH MEHTA	Equity	1202000000455049	India	F	Income Tax PAN	AIGPM0759A	BUSINESS	6000	10	60000
662	Individual	Other than promoters	Not applicable	ANUSHI SOHAM PARMAR	Equity	1202000000478803	India	F	Income Tax PAN	AOXPJ9176K	HOUSEWIFE	600	10	6000
663	Individual	Other than promoters	Not applicable	PRITESH SAMEER JAIN	Equity	1202000000485103	India	M	Income Tax PAN	CTXPJ9423J	STUDENT	1800	10	18000

664	Individual	Other than promoters	Not applicable	KAILASH CHANDRA HEDA	Equity	1202060001301181	India	M	Income Tax PAN	AABPH6937L	PRIVATE SECTOR	600	10	6000
665	Individual	Other than promoters	Not applicable	RAHUL MAHESH WARI HUF .	Equity	1202060001509727	India	M	Income Tax PAN	AAUHR0333P	OTHERS	600	10	6000
666	Individual	Other than promoters	Not applicable	ANIL KUMAR GUPTA	Equity	1202060002222994	India	M	Income Tax PAN	AHUPG2180J	BUSINESS	600	10	6000
667	Individual	Other than promoters	Not applicable	KALPESH KIRIT SHAH	Equity	1202200000091182	India	M	Income Tax PAN	ABGPS4817C	BUSINESS	3000	10	30000
668	Individual	Other than promoters	Not applicable	DILEEP KUMAR TOTLA	Equity	1202300000098581	India	M	Income Tax PAN	ABZPT1241N	BUSINESS	7800	10	78000
669	Individual	Other than promoters	Not applicable	RITU WASAN	Equity	1202300001243543	India	F	Income Tax PAN	AAUPW2795A	HOUSEWIFE	1200	10	12000
670	Individual	Other than promoters	Not applicable	MEETU GROVER	Equity	120254000499453	India	F	Income Tax PAN	AMAPG7923L	HOUSEWIFE	6000	10	60000
671	Individual	Other than promoters	Not applicable	SANTOSH GROVER	Equity	120254000499531	India	F	Income Tax PAN	BXAPG5094G	HOUSEWIFE	1800	10	18000
672	Individual	Other than promoters	Not applicable	KAILASH HARNARAYAN PUROHIT	Equity	1202550000093058	India	M	Income Tax PAN	AFZPP3445A	OTHERS	4800	10	48000
673	Individual	Other than promoters	Not applicable	KAILASH HARNARAYAN PUROHIT (HUF)	Equity	120255000103772	India	M	Income Tax PAN	AAHHK5320G	BUSINESS	1200	10	12000
674	Individual	Other than promoters	Not applicable	ANAND BHAWARLAL VYAS	Equity	120255000122067	India	M	Income Tax PAN	AKLPV5772F	SERVICE	6000	10	60000
675	Individual	Other than promoters	Not applicable	SUPRIYA ANAND VYAS	Equity	120255000143877	India	F	Income Tax PAN	BEIPM9131H	HOUSEWIFE	3000	10	30000
676	Individual	Other than promoters	Not applicable	ASHISH . VYAS	Equity	120255000196974	India	M	Income Tax PAN	AKMPV3736A	PROFESSIONAL	4200	10	42000
677	Individual	Other than promoters	Not applicable	BABUBHAI JAMBUBHAI SHAH	Equity	1202680000086730	India	M	Income Tax PAN	AHKPS0212P	SERVICE	1200	10	12000
678	Individual	Other than promoters	Not applicable	ADITYA RAJENDRA KUMAR GUPTA	Equity	120287000118318	India	M	Income Tax PAN	AKVPG2489C	BUSINESS	6000	10	60000
679	Individual	Other than promoters	Not applicable	ROHIT DEVJIBHAI SHAH	Equity	1202890000089569	India	M	Income Tax PAN	ACLPS1376E	BUSINESS	4800	10	48000
680	Individual	Other than promoters	Not applicable	VRINDA ROHIT SHAH	Equity	1202890000091162	India	F	Income Tax PAN	AAZPS8600F	SERVICE	600	10	6000
681	Individual	Other than promoters	Not applicable	ILESH PARIKH (HUF) .	Equity	120289000361972	India	M	Income Tax PAN	AAAH15311L	OTHERS	1800	10	18000
682	Individual	Other than promoters	Not applicable	ROHIT DEVI SHAH (HUF)	Equity	1202890001338258	India	M	Income Tax PAN	AAMHR5679C	BUSINESS	2400	10	24000
683	Individual	Other than promoters	Not applicable	DIVYESH SHASHIKANT KAPADIA	Equity	1202890001464741	India	M	Income Tax PAN	AAIPK3923G	PRIVATE SECTOR	3000	10	30000

684	Individual	Other than promoters	Not applicable	JOHN ABRAHAM KANNANK ERIL	Equity	12028900 01783117	India	M	Income Tax PAN	AABPK121 9J	RESIDENT	600	10	6000
685	Individual	Other than promoters	Not applicable	PARAS ARVIND CHHEDA	Equity	12028900 01937908	India	M	Income Tax PAN	ADXPC710 8B	OTHERS	17400	10	174000
686	Individual	Other than promoters	Not applicable	BHAVESH A HITESH PANCHAL	Equity	12028900 02076514	India	F	Income Tax PAN	CAOPP301 0M	HOUSEWIFE	600	10	6000
687	Individual	Other than promoters	Not applicable	NIVEDITA RAVINDRA SARDA	Equity	12029200 00066930	India	F	Income Tax PAN	ANPPS112 6D	SERVICE	3000	10	30000
688	Individual	Other than promoters	Not applicable	HARSH DIPESH DOSHI	Equity	12030000 01451621	India	M	Income Tax PAN	HCZPD369 4F	PRIVATE SECTOR	1800	10	18000
689	Individual	Other than promoters	Not applicable	SHAILESH R.SHAH (HUF) .	Equity	12030300 00071661	India	M	Income Tax PAN	AAWHS17 54H	BUSINESS	3000	10	30000
690	Individual	Other than promoters	Not applicable	KAMAL KISHORE SOMANI	Equity	12031400 00001113	India	M	Income Tax PAN	AFMPS768 3A	BUSINESS	1200	10	12000
691	Individual	Other than promoters	Not applicable	SUNAYNA SOMANI	Equity	12031400 00001565	India	F	Income Tax PAN	AHXPS864 1P	HOUSEWIFE	3600	10	36000
692	Individual	Other than promoters	Not applicable	KAMAL KISHORE SOMANI HUF SOMANI	Equity	12031400 00013769	India	M	Income Tax PAN	AAHHK14 36P	BUSINESS	3000	10	30000
693	Individual	Other than promoters	Not applicable	KRISHAN KUMAR SHARDA	Equity	12031400 00025694	India	M	Income Tax PAN	AMXPS040 0M	BUSINESS	3000	10	30000
694	Individual	Other than promoters	Not applicable	SATYA NARAYAN AJMERA	Equity	12031400 00073132	India	M	Income Tax PAN	ABJPA771 4K	BUSINESS	600	10	6000
695	Individual	Other than promoters	Not applicable	DHARAM CHAND JAIN	Equity	12031400 00102745	India	M	Income Tax PAN	ABAPJ034 7A	BUSINESS	10200	10	102000
696	Individual	Other than promoters	Not applicable	RUKAMNI DEVI SHARDA	Equity	12031400 00128926	India	F	Income Tax PAN	BQNPS844 7R	HOUSEWIFE	1200	10	12000
697	Individual	Other than promoters	Not applicable	ASHISH JAIN	Equity	12031400 00143292	India	M	Income Tax PAN	ABPPJ092 5M	BUSINESS	4200	10	42000
698	Individual	Other than promoters	Not applicable	RAKSHAY JAIN	Equity	12031400 00153826	India	M	Income Tax PAN	BRJJP4710 K	STUDENT	1200	10	12000
699	Individual	Other than promoters	Not applicable	JYOTSANA CHETAN VAGHELA	Equity	12032100 00005801	India	F	Income Tax PAN	ADVPV794 0G	HOUSEWIFE	3000	10	30000
700	Individual	Other than promoters	Not applicable	PUSHPAW ATI .	Equity	12032300 00893616	India	F	Income Tax PAN	AQQPK752 6H	HOUSEWIFE	600	10	6000
701	Individual	Other than promoters	Not applicable	SUMIT LUTHRA	Equity	12032300 01150767	India	M	Income Tax PAN	ADCPL636 1Q	PRIVATE SECTOR	600	10	6000
702	Individual	Other than promoters	Not applicable	JASWANT SINGH KHURANA	Equity	12032300 01508722	India	M	Income Tax PAN	AQWPK28 16N	RESIDENT	2400	10	24000
703	Individual	Other than promoters	Not applicable	KALPIT SINGHAL	Equity	12032300 01604178	India	M	Income Tax PAN	DYRPS994 2H	PRIVATE SECTOR	1800	10	18000

704	Individual	Other than promoters	Not applicable	VIVEK KHURANA	Equity	1203230001928962	India	M	Income Tax PAN	AKPPK8040H	PRIVATE SECTOR	1800	10	18000
705	Individual	Other than promoters	Not applicable	HIMANSHU KUMAR PRAJAPAT	Equity	1203230002033792	India	M	Income Tax PAN	BLZPP0625H	STUDENT	600	10	6000
706	Individual	Other than promoters	Not applicable	UDIT SHARMA	Equity	1203230002341158	India	M	Income Tax PAN	CXFPS5686G	PROFESSIONAL	9000	10	90000
707	Individual	Other than promoters	Not applicable	NARESH KUMAR AGARWAL	Equity	1203230002611841	India	M	Income Tax PAN	ACEPA9309G	BUSINESS	3000	10	30000
708	Individual	Other than promoters	Not applicable	JACKEY BINWANI	Equity	1203230002885291	India	M	Income Tax PAN	BQQPB1535G	BUSINESS	1800	10	18000
709	Individual	Other than promoters	Not applicable	ANURADHA AGARWAL	Equity	1203230003004331	India	F	Income Tax PAN	AQXPA4457E	OTHERS	600	10	6000
710	Individual	Other than promoters	Not applicable	SARIKA BINWANI	Equity	1203230004159960	India	F	Income Tax PAN	CFGPB4943G	HOUSEWIFE	600	10	6000
711	Individual	Other than promoters	Not applicable	ANIRUDH KEDIA .	Equity	1203230009242197	India	M	Income Tax PAN	BMAPK9642R	PRIVATE SECTOR	3000	10	30000
712	Individual	Other than promoters	Not applicable	SURABHI JAIN .	Equity	1203230009775491	India	F	Income Tax PAN	AIYPJ1808M	PRIVATE SECTOR	4200	10	42000
713	Individual	Other than promoters	Not applicable	PANKAJ AGARWAL	Equity	1203320001652652	India	M	Income Tax PAN	AKEPA1718P	OTHERS	3000	10	30000
714	Individual	Other than promoters	Not applicable	VIVEK SHYAMSUNDER MURARKA	Equity	1203320003346518	India	M	Income Tax PAN	ASVPM4111D	BUSINESS	3600	10	36000
715	Individual	Other than promoters	Not applicable	PARTH HARESHKUMAR SHAH	Equity	1203320008199342	India	M	Income Tax PAN	DYFPS7284J	SERVICE	1200	10	12000
716	Individual	Other than promoters	Not applicable	MEHUL NAGAWAT	Equity	12033200010643442	India	M	Income Tax PAN	AFUPN8705J	PRIVATE SECTOR	1800	10	18000
717	Individual	Other than promoters	Not applicable	MOHNISH YADAV	Equity	12033200011354060	India	M	Income Tax PAN	ALZPY6137E	PRIVATE SECTOR	600	10	6000
718	Individual	Other than promoters	Not applicable	KAUSHIKBHAI JAYANTILAL KAKADIYA	Equity	12033200011646926	India	M	Income Tax PAN	CPYPK0505H	STUDENT	600	10	6000
719	Individual	Other than promoters	Not applicable	MOHINI VARSHNEY	Equity	12033200011755258	India	F	Income Tax PAN	AUPPV8315C	BUSINESS	1200	10	12000
720	Individual	Other than promoters	Not applicable	ANITA DEVI	Equity	12033200012105774	India	M	Income Tax PAN	BKIPD7441P	BUSINESS	600	10	6000
721	Individual	Other than promoters	Not applicable	CHETAN AGARWAL	Equity	12033200013274811	India	M	Income Tax PAN	BLFPA9789M	BUSINESS	600	10	6000
722	Individual	Other than promoters	Not applicable	RITURAJ SHRIMALI	Equity	12033200013505564	India	M	Income Tax PAN	AZZPS6114K	PRIVATE SECTOR	600	10	6000
723	Individual	Other than promoters	Not applicable	RAHUL KHABYA	Equity	12033200014582939	India	M	Income Tax PAN	AVVPK1102F	PRIVATE SECTOR	5400	10	54000

724	Individual	Other than promoters	Not applicable	ANKIT CHOTIA	Equity	1203320015500698	India	M	Income Tax PAN	BBEPC7767C	PRIVATE SECTOR	600	10	6000
725	Individual	Other than promoters	Not applicable	PRATEEK CHOTIA	Equity	1203320017817057	India	M	Income Tax PAN	BBFPC0575F	PRIVATE SECTOR	600	10	6000
726	Individual	Other than promoters	Not applicable	HIMANSHU SONI	Equity	1203320019661000	India	M	Income Tax PAN	GYOPS6459H	STUDENT	1200	10	12000
727	Individual	Other than promoters	Not applicable	VASANTIBEN SINDHAV	Equity	1203320020497753	India	F	Income Tax PAN	MLSPS0027A	HOUSEWIFE	600	10	6000
728	Individual	Other than promoters	Not applicable	SANJAY GARG	Equity	1203320027435280	India	M	Income Tax PAN	ADCPG3217E	PRIVATE SECTOR	4800	10	48000
729	Individual	Other than promoters	Not applicable	JAYESH MAHASUKHLAL DAFTARY HUF.	Equity	1203320028872592	India	M	Income Tax PAN	AAIHJ4688M	BUSINESS	600	10	6000
730	Individual	Other than promoters	Not applicable	SONALI .	Equity	1203320041823083	India	F	Income Tax PAN	EICPS3122R	BUSINESS	3000	10	30000
731	Individual	Other than promoters	Not applicable	ANUKOOL ARORA	Equity	1203320061415154	India	M	Income Tax PAN	DLDPA9925F	STUDENT	600	10	6000
732	Individual	Other than promoters	Not applicable	RAUNAK HURKAT	Equity	1203320068494888	India	M	Income Tax PAN	BFYPH9375B	STUDENT	600	10	6000
733	Individual	Other than promoters	Not applicable	ARINDAM SAHA	Equity	1203320070661333	India	M	Income Tax PAN	BEHPS7295P	BUSINESS	600	10	6000
734	Individual	Other than promoters	Not applicable	SANJANA SHARMA	Equity	1203320071343192	India	F	Income Tax PAN	GHYPS8558C	PRIVATE SECTOR	600	10	6000
735	Individual	Other than promoters	Not applicable	SAPNA PURI	Equity	1203320073399371	India	F	Income Tax PAN	DQBPP5631L	HOUSEWIFE	600	10	6000
736	Individual	Other than promoters	Not applicable	ABHINAV AGARWAL	Equity	1203320074299448	India	M	Income Tax PAN	DXMPA3737A	STUDENT	1800	10	18000
737	Individual	Other than promoters	Not applicable	LAKSHYA JAIN	Equity	1203320077654043	India	M	Income Tax PAN	CHDPJ7396G	STUDENT	600	10	6000
738	Individual	Other than promoters	Not applicable	MUKESH KUMAR AGARWAL	Equity	1203320094774197	India	M	Income Tax PAN	AAKPA4975G	BUSINESS	3000	10	30000
739	Individual	Other than promoters	Not applicable	SANJAY AGARWAL	Equity	1203320096781511	India	M	Income Tax PAN	AHWPA7525K	BUSINESS	600	10	6000
740	Individual	Other than promoters	Not applicable	ASHISH KUMAR JAIN	Equity	1203320099142785	India	M	Income Tax PAN	AFSPJ0637B	BUSINESS	1200	10	12000
741	Individual	Other than promoters	Not applicable	RAJESH KUMAR JAIN	Equity	1203320118816741	India	M	Income Tax PAN	ADWPJ7353A	BUSINESS	1200	10	12000
742	Individual	Other than promoters	Not applicable	TARUN JAYANTILAL NANDA	Equity	1203320147821391	India	M	Income Tax PAN	AAMPN0244R	BUSINESS	4800	10	48000
743	Individual	Other than promoters	Not applicable	PARTH JAIN	Equity	1203320171765364	India	M	Income Tax PAN	BUPPJ0306N	PRIVATE SECTOR	1800	10	18000
744	Individual	Other than promoters	Not applicable	PUNIT OSTWAL HUF .	Equity	1203320174873691	India	M	Income Tax PAN	AAAHO6893H	BUSINESS	3000	10	30000

745	Individual	Other than promoters	Not applicable	GAURAV KUMAWA T	Equity	1203320176196141	India	M	Income Tax PAN	NBQPK1417K	PRIVATE SECTOR	600	10	6000
746	Individual	Other than promoters	Not applicable	GAJENDRA SAINI	Equity	1203320180421641	India	M	Income Tax PAN	KNIPS8951M	PRIVATE SECTOR	600	10	6000
747	Individual	Other than promoters	Not applicable	RAKESH GUPTA	Equity	1203320194071105	India	M	Income Tax PAN	ANHPG9074G	BUSINESS	600	10	6000
748	Individual	Other than promoters	Not applicable	NEHA AGARWAL	Equity	1203320196415973	India	F	Income Tax PAN	BRNPA1265N	BUSINESS	1800	10	18000
749	Individual	Other than promoters	Not applicable	SHYAM SUNDAR	Equity	1203320214090283	India	M	Income Tax PAN	EHEPS8946C	BUSINESS	600	10	6000
750	Individual	Other than promoters	Not applicable	KAMALJIT PAUL	Equity	1203320223452761	India	M	Income Tax PAN	BBLPK7929P	PRIVATE SECTOR	1800	10	18000
751	Individual	Other than promoters	Not applicable	SUMAN P PATRA	Equity	1203320224391244	India	F	Income Tax PAN	DGVPP7893C	BUSINESS	1200	10	12000
752	Individual	Other than promoters	Not applicable	SRINIVASA RAO MANDLEM	Equity	1203320224907999	India	M	Income Tax PAN	AJXPM0449F	BUSINESS	600	10	6000
753	Individual	Other than promoters	Not applicable	JAYANTI PRASAD SINGHAL	Equity	1203320235414940	India	M	Income Tax PAN	AGWPS0718H	OTHERS	600	10	6000
754	Individual	Other than promoters	Not applicable	JITIN KHANDEL WAL	Equity	1203320245170172	India	M	Income Tax PAN	BZJPK6158A	PRIVATE SECTOR	600	10	6000
755	Individual	Other than promoters	Not applicable	KAILASH PATI BOHARA	Equity	1203320247496760	India	M	Income Tax PAN	FDJPB0216A	PRIVATE SECTOR	600	10	6000
756	Individual	Other than promoters	Not applicable	AMIT KUMAR AGARWAL	Equity	1203320250981151	India	M	Income Tax PAN	AELPA9310A	BUSINESS	2400	10	24000
757	Individual	Other than promoters	Not applicable	AGARWAL POOJA	Equity	1203320258190044	India	F	Income Tax PAN	CUYPA7064E	BUSINESS	600	10	6000
758	Individual	Other than promoters	Not applicable	PATEL HENISH JITENDRA KUMAR	Equity	1203320297283069	India	M	Income Tax PAN	GIDPP9432G	OTHERS	1200	10	12000
759	Individual	Other than promoters	Not applicable	RIDDHI BUMB	Equity	1203320306247214	India	M	Income Tax PAN	HZMPB8127F	BUSINESS	600	10	6000
760	Individual	Other than promoters	Not applicable	SULOCHANA AGARWAL A	Equity	1203320333245204	India	F	Income Tax PAN	ABXPA5644G	PRIVATE SECTOR	2400	10	24000
761	Individual	Other than promoters	Not applicable	VIJAY KUMAR BAGRI	Equity	1203320334751708	India	M	Income Tax PAN	ACIPB9397F	PRIVATE SECTOR	600	10	6000
762	Individual	Other than promoters	Not applicable	HEMANT KUMAR PAREEK	Equity	1203320335976291	India	M	Income Tax PAN	CULPP0329N	BUSINESS	600	10	6000
763	Individual	Other than promoters	Not applicable	KESHAV KUMAR CHOUDHARY	Equity	1203320346072225	India	M	Income Tax PAN	CJBPC2162B	OTHERS	600	10	6000
764	Individual	Other than promoters	Not applicable	RAJEEV RATHI	Equity	1203330000957832	India	M	Income Tax PAN	ABJPR1937P	BUSINESS	1800	10	18000
765	Individual	Other than promoters	Not applicable	JWALANT DALWANI	Equity	1203330001204392	India	M	Income Tax PAN	AEMPD7967D	OTHERS	600	10	6000

766	Individual	Other than promoters	Not applicable	MADHU SUDAN RAWAT	Equity	1203330001236129	India	M	Income Tax PAN	ACRPR7860A	GOVERNMENT SERVICES	600	10	6000
767	Individual	Other than promoters	Not applicable	KAMLESH WAR GUPTA	Equity	1203330001837206	India	M	Income Tax PAN	AANPG0001E	BUSINESS	600	10	6000
768	Entity	Other than promoters	Body corporate (not mentioned above)	PROSPERITY CATALYST OPC PRIVATE LIMITED	Equity	1203330002592881	India		Income Tax PAN	AANCP4065G		1200	10	12000
769	Entity	Other than promoters	Body corporate (not mentioned above)	ISHA INFRAPOWER PRIVATE LIMITED	Equity	1203330002595426	India		Income Tax PAN	AACCI5336C		3000	10	30000
770	Individual	Other than promoters	Not applicable	MADHU DEVI JHAGDAWAT	Equity	1203350000690012	India	F	Income Tax PAN	AKIPJ5868M	HOUSEWIFE	1800	10	18000
771	Individual	Other than promoters	Not applicable	VARUN AGARWAL	Equity	1203350000827950	India	M	Income Tax PAN	AHZA1988R	SERVICE	3000	10	30000
772	Individual	Other than promoters	Not applicable	ANJALI AGARWAL	Equity	1203350000910059	India	F	Income Tax PAN	AHEPA3166C	HOUSEWIFE	1200	10	12000
773	Individual	Other than promoters	Not applicable	AJAY AGARWAL	Equity	1203350000912094	India	M	Income Tax PAN	AAHHA3894B	BUSINESS	600	10	6000
774	Individual	Other than promoters	Not applicable	APARNA KAYATHWAL	Equity	1203350001039700	India	F	Income Tax PAN	BKOPK2136G	HOUSEWIFE	3000	10	30000
775	Individual	Other than promoters	Not applicable	PRITI PODDAR	Equity	1203350002020870	India	F	Income Tax PAN	BFOPA5651K	PRIVATE SECTOR	8400	10	84000
776	Individual	Other than promoters	Not applicable	SNEHLATA JAJU	Equity	1203350002309912	India	F	Income Tax PAN	AISPJ2406R	HOUSEWIFE	600	10	6000
777	Individual	Other than promoters	Not applicable	SURESH KUMAR KAYAL HUF	Equity	1203350002433444	India	M	Income Tax PAN	AAQHS5991E	BUSINESS	1200	10	12000
778	Individual	Other than promoters	Not applicable	ABHISHEK AGARWAL	Equity	1203350002559820	India	M	Income Tax PAN	AHJPA6048G	BUSINESS	3000	10	30000
779	Individual	Other than promoters	Not applicable	SURENDRA KUMAR JAIN	Equity	1203350002659057	India	M	Income Tax PAN	ACMPJ3825E	PROFESSIONAL	1200	10	12000
780	Individual	Other than promoters	Not applicable	RAJEEV BALKRISHNA AGARWAL	Equity	1203390000001481	India	M	Income Tax PAN	AAQPA9711J	PROFESSIONAL	1800	10	18000
781	Individual	Other than promoters	Not applicable	RAKESH GUPTA	Equity	1203390000130368	India	M	Income Tax PAN	ACEPG9971C	BUSINESS	600	10	6000
782	Individual	Other than promoters	Not applicable	CHHAVI GUPTA	Equity	1203390000146551	India	F	Income Tax PAN	ALDPG6246J	HOUSEWIFE	600	10	6000
783	Individual	Other than promoters	Not applicable	RISHAB PATNI HUF	Equity	1203390000162225	India	M	Income Tax PAN	AARHR8150D	BUSINESS	3000	10	30000
784	Individual	Other than promoters	Not applicable	RAGHAV MAHESH WARI	Equity	1203390000217421	India	M	Income Tax PAN	GMNPM6806B	STUDENT	600	10	6000
785	Individual	Other than promoters	Not applicable	KAILASH KARNANI	Equity	1203390000255041	India	M	Income Tax PAN	AECPK1942F	BUSINESS	4200	10	42000

786	Individual	Other than promoters	Not applicable	MEENU .	Equity	120339000262610	India	F	Income Tax PAN	FBTPM2813N	HOUSEWIFE	600	10	6000
787	Individual	Other than promoters	Not applicable	BHARTIBEN DESHMUKH HBHAI PATEL	Equity	120341000536443	India	F	Income Tax PAN	AOBPP9312F	HOUSEWIFE	600	10	6000
788	Individual	Other than promoters	Not applicable	ANKIT JAIN	Equity	120345000025781	India	M	Income Tax PAN	ACSPJ9184A	BUSINESS	1200	10	12000
789	Individual	Other than promoters	Not applicable	VISHAL JAIN	Equity	120345000108199	India	M	Income Tax PAN	ACVPJ6615K	BUSINESS	1200	10	12000
790	Individual	Other than promoters	Not applicable	SHREYA JAIN	Equity	120345000753746	India	F	Income Tax PAN	AHOPJ4148D	HOUSEWIFE	2400	10	24000
791	Individual	Other than promoters	Not applicable	SUSHMA JAIN	Equity	120345000773224	India	F	Income Tax PAN	ABFPJ2887A	BUSINESS	600	10	6000
792	Individual	Other than promoters	Not applicable	NOOR ALAM	Equity	120345000814684	India	M	Income Tax PAN	CFZPA6308B	BUSINESS	1200	10	12000
793	Individual	Other than promoters	Not applicable	DILIP KUMAR JAIN	Equity	120345000851657	India	M	Income Tax PAN	ABSPJ5998D	BUSINESS	1800	10	18000
794	Individual	Other than promoters	Not applicable	RISHABH BAJAJ	Equity	120345000899482	India	M	Income Tax PAN	GCBPB9497R	STUDENT	9000	10	90000
795	Individual	Other than promoters	Not applicable	PANKAJ JAIN	Equity	120350001237314	India	M	Income Tax PAN	ABKPJ6853F	BUSINESS	1200	10	12000
796	Individual	Other than promoters	Not applicable	MUNNI DEVI JAIN	Equity	120350001696655	India	F	Income Tax PAN	ACLPJ4346D	HOUSEWIFE	1200	10	12000
797	Individual	Other than promoters	Not applicable	SHIKHA AGARWAL	Equity	120350001889768	India	F	Income Tax PAN	AKLPA8110C	BUSINESS	600	10	6000
798	Individual	Other than promoters	Not applicable	AMAN D GOKANI	Equity	120351000140989	India	M	Income Tax PAN	BTQPG8131E	STUDENT	600	10	6000
799	Individual	Other than promoters	Not applicable	SAMEER BOHRA (HUF)	Equity	120355000023531	India	M	Income Tax PAN	AASHS0459K	BUSINESS	3000	10	30000
800	Individual	Other than promoters	Not applicable	SOFIYABEN BABUBHAI JARGELA	Equity	1203600004079801	India	F	Income Tax PAN	BBFPJ5670Q	OTHERS	3600	10	36000
801	Individual	Other than promoters	Not applicable	GIRDHARI LAL AGARWAL	Equity	1203600005971405	India	M	Income Tax PAN	AAUPA0429K	RESIDENT	600	10	6000
802	Individual	Other than promoters	Not applicable	AJAY KUMAR GARG	Equity	1203600006907108	India	M	Income Tax PAN	AHSPG4124C	SERVICE	600	10	6000
803	Individual	Other than promoters	Not applicable	POOJA GARG	Equity	1203600006914624	India	F	Income Tax PAN	CWXP6965M	HOUSEWIFE	1200	10	12000
804	Individual	Other than promoters	Not applicable	PREETI VIJAY	Equity	1203600007959171	India	F	Income Tax PAN	AFJVP9137P	HOUSEWIFE	3000	10	30000
805	Individual	Other than promoters	Not applicable	PRASHANT MANTRI HUF	Equity	120362000030561	India	M	Income Tax PAN	AAJHP3004J	BUSINESS	1800	10	18000
806	Individual	Other than promoters	Not applicable	RUKMANI GOPALDAS MANTRI	Equity	120362000030616	India	F	Income Tax PAN	AAGPR7041E	BUSINESS	600	10	6000

807	Individual	Other than promoters	Not applicable	ANIL GUPTA	Equity	120366000000748	India	M	Income Tax PAN	ACSPG2787J	SERVICE	3000	10	30000
808	Individual	Other than promoters	Not applicable	VINITA MAHESH WARI	Equity	120366000002876	India	F	Income Tax PAN	ADDPM4754B	HOUSEWIFE	10200	10	102000
809	Individual	Other than promoters	Not applicable	HARI NARAIN PARWAL	Equity	120366000002895	India	M	Income Tax PAN	ADYPP8358D	BUSINESS	2400	10	24000
810	Individual	Other than promoters	Not applicable	SUMAN MANTRI	Equity	120366000006623	India	F	Income Tax PAN	ACTPM0732C	HOUSEWIFE	6000	10	60000
811	Individual	Other than promoters	Not applicable	SAROJ PARWAL	Equity	120366000012261	India	F	Income Tax PAN	ADYPP8357N	HOUSEWIFE	6000	10	60000
812	Individual	Other than promoters	Not applicable	SANTOSH DEVI MUNDRA	Equity	120366000017954	India	F	Income Tax PAN	ACTPM0612R	HOUSEWIFE	600	10	6000
813	Individual	Other than promoters	Not applicable	SHIKHA LADDHA	Equity	120366000027981	India	F	Income Tax PAN	AKGPM9001K	BUSINESS	600	10	6000
814	Individual	Other than promoters	Not applicable	AJESH AGARWAL	Equity	120366000029691	India	M	Income Tax PAN	ABJPA7832Q	BUSINESS	6000	10	60000
815	Individual	Other than promoters	Not applicable	AMIT KUMAR MANTRI	Equity	120366000033972	India	M	Income Tax PAN	ANCPM7520J	STUDENT	3000	10	30000
816	Individual	Other than promoters	Not applicable	ABHISHEK JAIN	Equity	120366000060660	India	M	Income Tax PAN	ADGPJ3676G	BUSINESS	600	10	6000
817	Individual	Other than promoters	Not applicable	SUNITA KEDAWAT	Equity	120366000102615	India	F	Income Tax PAN	ARNPK7073K	HOUSEWIFE	6000	10	60000
818	Individual	Other than promoters	Not applicable	MAMTA NATANI	Equity	120366000106263	India	F	Income Tax PAN	AGHPN1578K	HOUSEWIFE	2400	10	24000
819	Individual	Other than promoters	Not applicable	SANJAY AGARWAL	Equity	120366000121273	India	M	Income Tax PAN	AKDPA5978J	SERVICE	4800	10	48000
820	Individual	Other than promoters	Not applicable	MANISH AGARWAL	Equity	120366000168428	India	M	Income Tax PAN	APMPA4709D	STUDENT	3000	10	30000
821	Individual	Other than promoters	Not applicable	RAJENDRA BONLYA	Equity	120366000177751	India	M	Income Tax PAN	ABMPB9060G	BUSINESS	600	10	6000
822	Individual	Other than promoters	Not applicable	MEENA GUPTA	Equity	120366000178930	India	F	Income Tax PAN	AGWPG9759N	HOUSEWIFE	600	10	6000
823	Individual	Other than promoters	Not applicable	PRIYANKA JAIN	Equity	120366000182210	India	F	Income Tax PAN	AMJPJ8155A	HOUSEWIFE	3000	10	30000
824	Individual	Other than promoters	Not applicable	AJESH AGARWAL	Equity	120366000187001	India	M	Income Tax PAN	AALHA3302G	BUSINESS	3000	10	30000
825	Individual	Other than promoters	Not applicable	SEEMA BADAYA	Equity	120366000193425	India	F	Income Tax PAN	AFSPK1287L	HOUSEWIFE	600	10	6000
826	Individual	Other than promoters	Not applicable	DEEPANS HU KHANDELWAL	Equity	120366000198364	India	M	Income Tax PAN	DDIPK9001H	STUDENT	600	10	6000
827	Individual	Other than promoters	Not applicable	LAKSHAY PAREEK	Equity	120366000215638	India	M	Income Tax PAN	CVRPP2563B	STUDENT	600	10	6000

828	Individual	Other than promoters	Not applicable	VINOD KUMAR	Equity	120366000217747	India	M	Income Tax PAN	AWYPK9284E	BUSINESS	3000	10	30000
829	Individual	Other than promoters	Not applicable	NEHA JAIN	Equity	120366000218983	India	F	Income Tax PAN	AAFJ573Q	BUSINESS	7200	10	72000
830	Individual	Other than promoters	Not applicable	NEETA DHAKED	Equity	120366000219267	India	F	Income Tax PAN	ADEPM6759R	HOUSEWIFE	6000	10	60000
831	Individual	Other than promoters	Not applicable	RAM CHANDER AGRAWAL	Equity	120366000219569	India	M	Income Tax PAN	ABEPA3273A	RESIDENT	3000	10	30000
832	Individual	Other than promoters	Not applicable	CHIRAG RAWAT	Equity	120366000221751	India	M	Income Tax PAN	AZIPR8804J	PRIVATE SECTOR	1200	10	12000
833	Individual	Other than promoters	Not applicable	PARUL AGARWAL	Equity	120366000226954	India	F	Income Tax PAN	AJMPA7869A	BUSINESS	2400	10	24000
834	Individual	Other than promoters	Not applicable	MEENA AGARWAL	Equity	1203660002251208	India	F	Income Tax PAN	ADIPA1025C	PROFESSIONAL	600	10	6000
835	Individual	Other than promoters	Not applicable	VRINDA MAHESH WARI	Equity	1203660002259682	India	F	Income Tax PAN	CTUPM7233G	STUDENT	6000	10	60000
836	Individual	Other than promoters	Not applicable	ANKIT JAIN HUF	Equity	1203660002263376	India	M	Income Tax PAN	AARHA4772L	BUSINESS	1200	10	12000
837	Entity	Other than promoters	Others	HOLANI CONSULTANTS PRIVATE LIMITED	Equity	1203660002274084	India		Income Tax PAN	AABCH4059E	BUSINESS	81600	10	816000
838	Individual	Other than promoters	Not applicable	VIMLA DEVI	Equity	1203660002280881	India	F	Income Tax PAN	AGVPD1074E	HOUSEWIFE	1200	10	12000
839	Individual	Other than promoters	Not applicable	SHILPI JHALANI	Equity	1203660002288777	India	F	Income Tax PAN	ADJPJ5739M	HOUSEWIFE	1200	10	12000
840	Entity	Other than promoters	Body corporate (not mentioned above)	E. EYE ENTERTAINMENT PRIVATE LIMITED	Equity	1203660002297040	India		Income Tax PAN	AABCE8088L	BUSINESS	9000	10	90000
841	Individual	Other than promoters	Not applicable	SUNITA SHARMA	Equity	1203660002299341	India	F	Income Tax PAN	BGYPS1606P	HOUSEWIFE	600	10	6000
842	Individual	Other than promoters	Not applicable	NEHA KHANDELWAL	Equity	120366000302321	India	F	Income Tax PAN	AFIPT5545A	HOUSEWIFE	3000	10	30000
843	Individual	Other than promoters	Not applicable	SARLA GUPTA	Equity	120366000303697	India	F	Income Tax PAN	ALAPG5010D	HOUSEWIFE	3000	10	30000
844	Individual	Other than promoters	Not applicable	ANITA RAWAT	Equity	120366000304063	India	F	Income Tax PAN	AHIPR6845F	HOUSEWIFE	3000	10	30000
845	Individual	Other than promoters	Not applicable	ANSH SARAWGI	Equity	120366000306841	India	M	Income Tax PAN	KQAPS0977Q	STUDENT	3000	10	30000
846	Individual	Other than promoters	Not applicable	ANKIT AGRAWAL	Equity	120366000307444	India	M	Income Tax PAN	ADPPA4683F	BUSINESS	600	10	6000
847	Individual	Other than promoters	Not applicable	CHITRA BANSAL	Equity	120366000311858	India	F	Income Tax PAN	AIUPG8186H	HOUSEWIFE	7800	10	78000

848	Individual	Other than promoters	Not applicable	SHIKHA TAMBHI	Equity	120366000313042	India	F	Income Tax PAN	ADXPT7676D	HOUSEWIFE	3000	10	30000
849	Individual	Other than promoters	Not applicable	PRADEEP KUMAR DUSAD	Equity	120366000314071	India	M	Income Tax PAN	ABLPD4678H	BUSINESS	600	10	6000
850	Individual	Other than promoters	Not applicable	SURESH KUMAR RAWAT	Equity	120366000314956	India	M	Income Tax PAN	AFVPR2639L	BUSINESS	600	10	6000
851	Individual	Other than promoters	Not applicable	RAVI KUMAR GUPTA	Equity	120366000316837	India	M	Income Tax PAN	AJIPG1897L	BUSINESS	3000	10	30000
852	Individual	Other than promoters	Not applicable	TUSHAR NATANI	Equity	120366000318532	India	M	Income Tax PAN	CIPPN6748F	PRIVATE SECTOR	1200	10	12000
853	Individual	Other than promoters	Not applicable	PAMMI JAIN	Equity	120366000318775	India	F	Income Tax PAN	APNPJ1826P	HOUSEWIFE	3000	10	30000
854	Individual	Other than promoters	Not applicable	ASHOK KUMAR	Equity	120366000319629	India	M	Income Tax PAN	ABPPB2819J	BUSINESS	1200	10	12000
855	Individual	Other than promoters	Not applicable	VIDISHA AGARWAL	Equity	120366000322528	India	F	Income Tax PAN	AWXPV3362K	HOUSEWIFE	3000	10	30000
856	Individual	Other than promoters	Not applicable	RITU JAIN	Equity	120366000323916	India	F	Income Tax PAN	APNPJ1825Q	OTHERS	3000	10	30000
857	Individual	Other than promoters	Not applicable	NAMAN NATANI	Equity	120366000351612	India	M	Income Tax PAN	CTUPN6421K	BUSINESS	1800	10	18000
858	Individual	Other than promoters	Not applicable	NEHA PITLIYA	Equity	120366000352027	India	F	Income Tax PAN	BICPR6689D	HOUSEWIFE	3000	10	30000
859	Individual	Other than promoters	Not applicable	SAURABH MAHESH WARI HUF	Equity	120366000353206	India	M	Income Tax PAN	ABJHS9948B	BUSINESS	600	10	6000
860	Individual	Other than promoters	Not applicable	GARVIT MAHESH WARI	Equity	120366000353662	India	M	Income Tax PAN	HALPM9722B	STUDENT	3000	10	30000
861	Individual	Other than promoters	Not applicable	NEHA AGARWAL	Equity	120366000353761	India	F	Income Tax PAN	AODPG0365H	PROFESSIONAL	6000	10	60000
862	Individual	Other than promoters	Not applicable	DEEPIKA RAWAT	Equity	120366000354005	India	F	Income Tax PAN	AJSPR7595L	HOUSEWIFE	3000	10	30000
863	Individual	Other than promoters	Not applicable	ASHISH NAWALKHA	Equity	120366000354554	HONG KONG	M	Income Tax PAN	ADNPN8920E	BUSINESS	600	10	6000
864	Individual	Other than promoters	Not applicable	NUPUR TOTLA	Equity	120366000358466	India	F	Income Tax PAN	ABQPL5234L	PUBLIC SECTOR	600	10	6000
865	Individual	Other than promoters	Not applicable	AMIT KUMAR MANTRI HUF	Equity	120366000358694	India	M	Income Tax PAN	AAXHA9325D	BUSINESS	19800	10	198000
866	Individual	Other than promoters	Not applicable	KRISHNA DEVI RAWAT	Equity	120366000361006	India	F	Income Tax PAN	AAGPR2360G	HOUSEWIFE	1200	10	12000
867	Individual	Other than promoters	Not applicable	SEEMA DEVI TOTLA	Equity	120366000361215	India	F	Income Tax PAN	AMUPD6997P	HOUSEWIFE	600	10	6000
868	Individual	Other than promoters	Not applicable	GOURAV GUPTA HUF	Equity	120366000362276	India	M	Income Tax PAN	AAJHG4474M	BUSINESS	1200	10	12000

869	Individual	Other than promoters	Not applicable	VINIT GUPTA	Equity	1203760000449940	India	M	Income Tax PAN	AVTPG1965E	PRIVATE SECTOR	11400	10	114000
870	Individual	Other than promoters	Not applicable	SAVITA VASHIST	Equity	1203760000966889	India	F	Income Tax PAN	ADYPV9202G	PRIVATE SECTOR	600	10	6000
871	Individual	Other than promoters	Not applicable	HARDAS MAL MOHANDAS RAJANI	Equity	1203760002528871	India	M	Income Tax PAN	AARPR3688J	BUSINESS	1800	10	18000
872	Individual	Other than promoters	Not applicable	NEERU GARG	Equity	1203760006733596	India	F	Income Tax PAN	AFCPN2499D	PRIVATE SECTOR	2400	10	24000
873	Entity	Other than promoters	Body corporate (not mentioned above)	FORSURE FINTECH LLP	Equity	1203800000343057	India		Income Tax PAN	AAJFF5187C	BUSINESS	600	10	6000
874	Individual	Other than promoters	Not applicable	PANKAJ ISHWAR BHAI MODH (HUF)	Equity	1204150000746768	India	M	Income Tax PAN	AALHP5882J	BUSINESS	600	10	6000
875	Individual	Other than promoters	Not applicable	MINA SHAILESH SHETH	Equity	1204150000764025	India	F	Income Tax PAN	BROPS2047H	HOUSEWIFE	1200	10	12000
876	Individual	Other than promoters	Not applicable	CHARULBEN PANKAJKUMAR MODH	Equity	1204150000906874	India	F	Income Tax PAN	AOJPM5799K	HOUSEWIFE	1200	10	12000
877	Individual	Other than promoters	Not applicable	KALPANA SOMANI	Equity	1204370001693899	India	F	Income Tax PAN	CVPPS1752P	HOUSEWIFE	600	10	6000
878	Individual	Other than promoters	Not applicable	REKHA SOMANI	Equity	1204370001693911	India	F	Income Tax PAN	BWTPS0699M	HOUSEWIFE	600	10	6000
879	Individual	Other than promoters	Not applicable	POORVESH NITINKUMAR PATEL	Equity	1204440000284981	India	M	Income Tax PAN	AEXPP2308B	BUSINESS	600	10	6000
880	Individual	Other than promoters	Not applicable	USHA AGARWAL	Equity	1204470001581553	India	F	Income Tax PAN	ABMPA7075J	HOUSEWIFE	2400	10	24000
881	Individual	Other than promoters	Not applicable	ANITA TAK	Equity	1204470008939411	India	F	Income Tax PAN	ABFPT4942G	PRIVATE SECTOR	6000	10	60000
882	Individual	Other than promoters	Not applicable	DILIP KUMAR BARJATYA	Equity	1204470010134768	India	M	Income Tax PAN	ACIPB9982A	BUSINESS	600	10	6000
883	Individual	Other than promoters	Not applicable	DEEPIKA BHAWARIYA	Equity	1204470011805831	India	M	Income Tax PAN	BGKPB9601B	PROFESSIONAL	1200	10	12000
884	Individual	Other than promoters	Not applicable	MANJU JAIN	Equity	1204470012251796	India	F	Income Tax PAN	ABPPJ1170Q	PROFESSIONAL	5400	10	54000
885	Individual	Other than promoters	Not applicable	ANSHUL JAIN	Equity	1204470012483091	India	M	Income Tax PAN	ALGPJ9222L	PROFESSIONAL	2400	10	24000
886	Individual	Other than promoters	Not applicable	NIKITA SETHI	Equity	1204470013730615	India	F	Income Tax PAN	A EVPJ4884N	PROFESSIONAL	3000	10	30000
887	Individual	Other than promoters	Not applicable	LALITA MORE	Equity	1204470019549395	India	F	Income Tax PAN	AIRPM6123B	PROFESSIONAL	600	10	6000
888	Individual	Other than promoters	Not applicable	MANISH AGARWAL	Equity	1204470020512480	India	M	Income Tax PAN	ANLPA3457F	PUBLIC SECTOR	600	10	6000

889	Individual	Other than promoters	Not applicable	AASTHA GOLYAN	Equity	12044700 21480592	India	F	Income Tax PAN	CJSPG1667 C	PUBLIC SECTOR	1800	10	18000
890	Individual	Other than promoters	Not applicable	SUNIL BHASIN	Equity	12044700 22249135	India	M	Income Tax PAN	ABAPB957 3A	PROFESSIONAL	3000	10	30000
891	Individual	Other than promoters	Not applicable	SAROJ KANWAR	Equity	12044700 22853111	India	M	Income Tax PAN	KZTPK135 5J	PUBLIC SECTOR	600	10	6000
892	Individual	Other than promoters	Not applicable	RAVI AGARWAL	Equity	12044700 26498719	India	M	Income Tax PAN	APOPA458 6N	PUBLIC SECTOR	1800	10	18000
893	Individual	Other than promoters	Not applicable	VIJAY KUMAR JAIN	Equity	12044700 27360626	India	M	Income Tax PAN	AFXPJ1571 M	PUBLIC SECTOR	7200	10	72000
894	Individual	Other than promoters	Not applicable	ABHISHEK MORE	Equity	12044700 31199466	India	M	Income Tax PAN	AEOFS265 8Q	BUSINESS	1800	10	18000
895	Individual	Other than promoters	Not applicable	NILESH VINODRAI PAREKH	Equity	12045400 00010011	India	M	Income Tax PAN	AINPP160 9H	SERVICE	9000	10	90000
896	Individual	Other than promoters	Not applicable	SUNIL KUMAR	Equity	12047200 13702104	India	M	Income Tax PAN	APRPK261 5R	PUBLIC SECTOR	600	10	6000
897	Individual	Other than promoters	Not applicable	JITENDRA PRAKASH SHUKLA	Equity	12047200 17670153	India	M	Income Tax PAN	DPRPS482 1A	PUBLIC SECTOR	600	10	6000
898	Individual	Other than promoters	Not applicable	ANANT KUMAR JAIN	Equity	12047200 25630498	India	M	Income Tax PAN	AIPPJ7636 L	PRIVATE SECTOR	3000	10	30000
899	Individual	Other than promoters	Not applicable	DEO PRAKASH PANDEY	Equity	12047200 27316251	India	M	Income Tax PAN	AFOPP940 0N	BUSINESS	1800	10	18000
900	Individual	Other than promoters	Not applicable	ADITYA DANGAYACH	Equity	12047200 29304876	India	M	Income Tax PAN	BZHPD285 0E	BUSINESS	3000	10	30000
901	Individual	Other than promoters	Not applicable	AKSHAY JAIN	Equity	12047200 34161373	India	M	Income Tax PAN	BGLPJ677 0L	BUSINESS	4200	10	42000
902	Individual	Other than promoters	Not applicable	AJAY KUMAR	Equity	12047200 35804128	India	M	Income Tax PAN	ARHPK049 9D	GOVERNMENT SERVICES	600	10	6000
903	Individual	Other than promoters	Not applicable	VAMSHIDHARREDDY VURUGONDA	Equity	12047700 00185168	India	M	Income Tax PAN	AMAPV98 69Q	BUSINESS	2400	10	24000
904	Individual	Other than promoters	Not applicable	PENDYALA SWAROOP	Equity	12047700 00198010	India	M	Income Tax PAN	AYJPP686 4A	PROFESSIONAL	28800	10	288000
905	Individual	Other than promoters	Not applicable	APURBA SANKAR BHATTACHARYA	Equity	12049200 06558241	India	M	Income Tax PAN	ADJPB312 2A	RESIDENT	600	10	6000
906	Individual	Other than promoters	Not applicable	LALIT KUMAR MAKHARIA	Equity	12052700 00081226	India	M	Income Tax PAN	AATPM62 36H	BUSINESS	1200	10	12000
907	Individual	Other than promoters	Not applicable	PARTH SATISHCHANDRA BRAHMBHATT	Equity	12054200 02141258	India	M	Income Tax PAN	CVNPB247 8K	PROFESSIONAL	1200	10	12000

908	Entity	Other than promoters	Body corporate (not mentioned above)	ACCENT DEVELOPERS & PROMOTERS PRIVATE LIMITED	Equity	1205780000036474	India		Income Tax PAN	AAHCA5828Q	BUSINESS	600	10	6000
909	Individual	Other than promoters	Not applicable	ASHA MAHESH WARI	Equity	120582000016354	India	F	Income Tax PAN	ARHPM2738F	HOUSEWIFE	9000	10	90000
910	Individual	Other than promoters	Not applicable	ARJUN BAHETI	Equity	120582000031214	India	M	Income Tax PAN	AIBPB9214C	BUSINESS	1800	10	18000
911	Individual	Other than promoters	Not applicable	ANAND AJMERA	Equity	120582000046140	India	M	Income Tax PAN	AFTPA8736K	PRIVATE SECTOR	6000	10	60000
912	Individual	Other than promoters	Not applicable	GUNMEEN SINGH KOHLI	Equity	120630000097378	India	M	Income Tax PAN	ABFBG2009H	BUSINESS	1200	10	12000
913	Individual	Other than promoters	Not applicable	GUNMEEN SINGH KOHLI	Equity	120630000097933	India	M	Income Tax PAN	BFUPK2401R	BUSINESS	1200	10	12000
914	Individual	Other than promoters	Not applicable	ABHEY BANSAL HUF .	Equity	1206420001550382	India	M	Income Tax PAN	AAHHA9537K	BUSINESS	600	10	6000
915	Individual	Other than promoters	Not applicable	SUMIT KOTHARI	Equity	1206420004612721	India	M	Income Tax PAN	AJHPK3798B	PRIVATE SECTOR	3000	10	30000
916	Individual	Other than promoters	Not applicable	HARSH VIJAYBHAI PAREKH	Equity	12064200011669509	India	M	Income Tax PAN	DCNPP2617E	STUDENT	600	10	6000
917	Individual	Other than promoters	Not applicable	VISHAL PRAVINCH ANDRA ZAVERI	Equity	12064200012685201	India	M	Income Tax PAN	AAAPZ3965D	BUSINESS	600	10	6000
918	Individual	Other than promoters	Not applicable	DEEPAK MAHESH WARI HUF .	Equity	12064200013362476	India	M	Income Tax PAN	AAKHD6303D	BUSINESS	1800	10	18000
919	Individual	Other than promoters	Not applicable	RAGHUBIR KAPOOR	Equity	12064200013722147	India	M	Income Tax PAN	AEDPK4734L	BUSINESS	3000	10	30000
920	Individual	Other than promoters	Not applicable	POOJA MANISH KACHOLIA	Equity	12064200017319212	India	F	Income Tax PAN	ASTPK9741R	PRIVATE SECTOR	600	10	6000
921	Individual	Other than promoters	Not applicable	ATIKA BARADIA	Equity	1206500000017524	India	F	Income Tax PAN	APEPV5547G	HOUSEWIFE	600	10	6000
922	Individual	Other than promoters	Not applicable	SAMPAT KUMAR JAIN	Equity	1206500000037055	India	M	Income Tax PAN	ACMPJ3946j	BUSINESS	600	10	6000
923	Individual	Other than promoters	Not applicable	CHANDRA PRAKASH CHOUDHARY	Equity	1206500000049166	India	M	Income Tax PAN	AALPC3616P	BUSINESS	1200	10	12000
924	Individual	Other than promoters	Not applicable	VISHAL CHOUDHARY	Equity	1206500000049244	India	M	Income Tax PAN	AEXPC5413Q	BUSINESS	600	10	6000
925	Entity	Other than promoters	Body corporate (not mentioned above)	AMERIA MINCHEM PRIVATE LIMITED	Equity	1206500000088647	India		Income Tax PAN	AACCA9804F	OTHERS	600	10	6000
926	Individual	Other than promoters	Not applicable	MANJU SATYANA RAIN CHITLANGIYA	Equity	1206500000088875	India	F	Income Tax PAN	ABBPC6025H	BUSINESS	600	10	6000

927	Individual	Other than promoters	Not applicable	BACHH RAJ NAHAR	Equity	12065400000139	India	M	Income Tax PAN	ADAPN8162B	SERVICE	3000	10	30000
928	Individual	Other than promoters	Not applicable	NIRMALA DEVI GUPTA	Equity	120659000046703	India	F	Income Tax PAN	AEIPG2130D	HOUSEWIFE	600	10	6000
929	Individual	Other than promoters	Not applicable	BODU RAM GUPTA	Equity	120659000046718	India	M	Income Tax PAN	ABXPG5349N	BUSINESS	3000	10	30000
930	Individual	Other than promoters	Not applicable	PAWAN KUMAR PURI	Equity	120659000054119	India	M	Income Tax PAN	ADDP3228R	SERVICE	1800	10	18000
931	Individual	Other than promoters	Not applicable	SPARSH SARIA	Equity	120659000114695	India	M	Income Tax PAN	OKNPS0158G	STUDENT	3000	10	30000
932	Individual	Other than promoters	Not applicable	RISHABH JAIN	Equity	120659000125823	India	M	Income Tax PAN	AJIPJ5066G	STUDENT	1200	10	12000
933	Individual	Other than promoters	Not applicable	UMA SHARMA	Equity	120669000322717	India	F	Income Tax PAN	CDDPS9257B	HOUSEWIFE	600	10	6000
934	Individual	Other than promoters	Not applicable	KOMAL MATHUR	Equity	120669000324980	India	F	Income Tax PAN	EKTPM6550C	STUDENT	1800	10	18000
935	Individual	Other than promoters	Not applicable	MADHURI MAHESH WARI	Equity	120669000791437	India	F	Income Tax PAN	ANGPM6102J	HOUSEWIFE	3000	10	30000
936	Individual	Other than promoters	Not applicable	RAJ RATAN PATWARI	Equity	120669001607631	India	M	Income Tax PAN	AFSPP1601D	PRIVATE SECTOR	600	10	6000
937	Individual	Other than promoters	Not applicable	BABITA PATWARI	Equity	120669001607665	India	F	Income Tax PAN	ABPPP0623E	HOUSEWIFE	600	10	6000
938	Individual	Other than promoters	Not applicable	SURYA KANT SHARMA	Equity	120669001668851	India	M	Income Tax PAN	BENPS3750M	PRIVATE SECTOR	600	10	6000
939	Individual	Other than promoters	Not applicable	VASANTI RAVINDRA MEHTA	Equity	1206690004592882	India	F	Income Tax PAN	ARVPM9722H	RESIDENT	2400	10	24000
940	Individual	Other than promoters	Not applicable	SHILPI JHALANI	Equity	1206690005000818	India	F	Income Tax PAN	ADJPJ5739M	BUSINESS	8400	10	84000
941	Individual	Other than promoters	Not applicable	RAJIV GUPTA HUF .	Equity	1206690006732850	India	M	Income Tax PAN	AAEHR7584L	BUSINESS	1800	10	18000
942	Individual	Other than promoters	Not applicable	ABHA MOHANTY	Equity	1206690007276226	India	F	Income Tax PAN	ANEPM4871E	HOUSEWIFE	600	10	6000
943	Entity	Other than promoters	Body corporate (not mentioned above)	CORPORATE MAKERS CAPITAL LIMITED	Equity	1206690007342501	India		Income Tax PAN	AAACR4362D	BUSINESS	3000	10	30000
944	Individual	Other than promoters	Not applicable	RUCHIKA .	Equity	1206690007572389	India	F	Income Tax PAN	AVJPR2020D	PRIVATE SECTOR	16200	10	162000
945	Individual	Other than promoters	Not applicable	PANKAJ KUMAR GOYAL	Equity	1206690008563956	India	M	Income Tax PAN	AAGFE8215M	BUSINESS	600	10	6000
946	Individual	Other than promoters	Not applicable	MAYANK HASMUKH RAY SHETH	Equity	120674000197871	India	M	Income Tax PAN	ADHPS9167Q	PRIVATE SECTOR	2400	10	24000
947	Individual	Other than promoters	Not applicable	ANJU SETHIA	Equity	120680000006497	India	F	Income Tax PAN	ALIPS0484P	BUSINESS	3000	10	30000

948	Individual	Other than promoters	Not applicable	AMAN MEHRA	Equity	120680000006560	India	M	Income Tax PAN	BRTPM0161R	STUDENT	1800	10	18000
949	Entity	Other than promoters	Body corporate (not mentioned above)	OPELINA SUSTAINABLE SERVICES PRIVATE LIMITED	Equity	120688000016998	India		Income Tax PAN	AAAC05195R	BUSINESS	15600	10	156000
950	Entity	Other than promoters	Body corporate (not mentioned above)	WCA SERVICES PRIVATE LIMITED	Equity	120688000018543	India		Income Tax PAN	AACCW3829L	BUSINESS	1800	10	18000
951	Individual	Other than promoters	Not applicable	SAHIL JAIN	Equity	120690000000111	India	M	Income Tax PAN	ALYPJ8363Q	SERVICE	2400	10	24000
952	Individual	Other than promoters	Not applicable	NEENA JAIN	Equity	1206900000008617	India	F	Income Tax PAN	AETPJ9423K	HOUSEWIFE	3000	10	30000
953	Individual	Other than promoters	Not applicable	HITENDRA SINGH	Equity	1206900000012144	India	M	Income Tax PAN	BNKPS3372R	PRIVATE SECTOR	600	10	6000
954	Entity	Other than promoters	Body corporate (not mentioned above)	VISHRUTH TRADELINKS PRIVATE LIMITED	Equity	1206900000017634	India		Income Tax PAN	AABCV9385P	BUSINESS	600	10	6000
955	Individual	Other than promoters	Not applicable	LAXMI DEVI	Equity	1206900000019135	India	F	Income Tax PAN	AVFPD5996A	HOUSEWIFE	600	10	6000
956	Individual	Other than promoters	Not applicable	LALIT MUSAL	Equity	1206900000033439	India	M	Income Tax PAN	ACCPM1480A	PRIVATE SECTOR	600	10	6000
957	Individual	Other than promoters	Not applicable	VIJAY DEWAN HUF	Equity	1206900000045520	India	M	Income Tax PAN	AAFHV6162H	BUSINESS	600	10	6000
958	Individual	Other than promoters	Not applicable	NEETA SONI	Equity	1206900000046131	India	F	Income Tax PAN	BISPS1275G	PRIVATE SECTOR	600	10	6000
959	Individual	Other than promoters	Not applicable	GOURAV GOYAL	Equity	1206900000069377	India	M	Income Tax PAN	AARPG2281L	BUSINESS	600	10	6000
960	Individual	Other than promoters	Not applicable	HIRAMANI HEDA	Equity	1206960000000802	India	F	Income Tax PAN	ABYPH0052Q	HOUSEWIFE	600	10	6000
961	Individual	Other than promoters	Not applicable	SURESH KUMAR	Equity	120697000163601	India	M	Income Tax PAN	AFRPK4335E	PRIVATE SECTOR	1200	10	12000
962	Individual	Other than promoters	Not applicable	RAKESH CHOUDHARY & SONS	Equity	120698000001730	India	M	Income Tax PAN	AAEHR5063E	BUSINESS	1200	10	12000
963	Individual	Other than promoters	Not applicable	AVINASH AGARWAL	Equity	1207020002087706	India	M	Income Tax PAN	AKJPA6671Q	PRIVATE SECTOR	3000	10	30000
964	Individual	Other than promoters	Not applicable	RAJDEEPSINH RAJENDRA SINH JADEJA	Equity	1207020002684559	India	M	Income Tax PAN	BCHPJ9852K	PRIVATE SECTOR	600	10	6000
965	Individual	Other than promoters	Not applicable	TWINKAL PETHANI	Equity	1207020002702182	India	M	Income Tax PAN	HBPPP8665F	PRIVATE SECTOR	600	10	6000
966	Individual	Other than promoters	Not applicable	BHARAT MOHANBHAI KUKADIYA	Equity	1207020002713192	India	M	Income Tax PAN	AOBPK3226M	PRIVATE SECTOR	600	10	6000

967	Individual	Other than promoters	Not applicable	BRIJRAJSI NH JAYENDRA SINH JADEJA	Equity	120702002813934	India	M	Income Tax PAN	BICPJ3241F	PRIVATE SECTOR	600	10	6000
968	Individual	Other than promoters	Not applicable	MOHIT RANA	Equity	120713000105254	India	M	Income Tax PAN	ADVPR9754J	BUSINESS	1800	10	18000
969	Individual	Other than promoters	Not applicable	NAMRATA RANA	Equity	120713000119037	India	F	Income Tax PAN	AFBPA1557L	BUSINESS	4200	10	42000
970	Individual	Other than promoters	Not applicable	DIMPLE PARWAL	Equity	120713000133062	India	F	Income Tax PAN	AGVPP3719L	HOUSEWIFE	21600	10	216000
971	Individual	Other than promoters	Not applicable	VIKAS PARWAL HUF	Equity	120713000133117	India	M	Income Tax PAN	AADHV5393N	BUSINESS	6000	10	60000
972	Individual	Other than promoters	Not applicable	OM PRAKASH PARWAL HUF	Equity	120713000133136	India	M	Income Tax PAN	AAAH05910K	BUSINESS	17400	10	174000
973	Individual	Other than promoters	Not applicable	MAHIMA JAIN	Equity	120713000133894	India	F	Income Tax PAN	BATPJ6765M	BUSINESS	3000	10	30000
974	Individual	Other than promoters	Not applicable	ARTI SONKIA	Equity	120713000142250	India	F	Income Tax PAN	BABPS0944P	BUSINESS	600	10	6000
975	Individual	Other than promoters	Not applicable	ARUN KUMAR JAIN	Equity	120713000162011	India	M	Income Tax PAN	ABKPJ0290J	BUSINESS	10200	10	102000
976	Individual	Other than promoters	Not applicable	PRAGATI JAIN	Equity	120713000162030	India	F	Income Tax PAN	AEUPJ7408K	HOUSEWIFE	1800	10	18000
977	Individual	Other than promoters	Not applicable	PIYUSH KUMAR JAIN	Equity	120713000162045	India	M	Income Tax PAN	AEOPJ2640H	BUSINESS	15000	10	150000
978	Individual	Other than promoters	Not applicable	RITIKA JAIN	Equity	120713000162051	India	F	Income Tax PAN	AMFPJ1044G	HOUSEWIFE	3600	10	36000
979	Individual	Other than promoters	Not applicable	VIJAY KUMAR JAIN	Equity	120713000162201	India	M	Income Tax PAN	ADHPJ7379M	BUSINESS	18600	10	186000
980	Individual	Other than promoters	Not applicable	ASHISH TYAGI HUF	Equity	120713000162765	India	M	Income Tax PAN	AALHA1152L	BUSINESS	3000	10	30000
981	Individual	Other than promoters	Not applicable	SHWETA JAIN	Equity	120713000162784	India	F	Income Tax PAN	AIWPJ1322N	HOUSEWIFE	6000	10	60000
982	Individual	Other than promoters	Not applicable	JINESH PATNI	Equity	120713000164650	India	M	Income Tax PAN	ATSPP4674L	BUSINESS	2400	10	24000
983	Individual	Other than promoters	Not applicable	PREMLAT A KEDIA	Equity	120713000170054	India	F	Income Tax PAN	ACQPK2088J	HOUSEWIFE	1200	10	12000
984	Individual	Other than promoters	Not applicable	RENU RANA	Equity	120713000197072	India	F	Income Tax PAN	AAYPR0976J	BUSINESS	2400	10	24000
985	Entity	Other than promoters	Body corporate (not mentioned above)	GOLDEND UNES BUILDERS AND DEVELOPERS PRIVATE LIMITED	Equity	120759000033575	India		Income Tax PAN	AAECG1174A		24000	10	240000

986	Entity	Other than promoters	Body corporate (not mentioned above)	EMKEY COMMERCIAL COMPANY LIMITED	Equity	120764000051737	India		Income Tax PAN	AABCE1909N	OTHERS	12000	10	120000
987	Individual	Other than promoters	Not applicable	NAVEEN KUMAR SARAWGI	Equity	120765000195173	India	M	Income Tax PAN	AHPPS7112M	BUSINESS	3000	10	30000
988	Individual	Other than promoters	Not applicable	SUMIT KUMAR SARAWGI	Equity	120765000195209	India	M	Income Tax PAN	AGFPS5172E	BUSINESS	3000	10	30000
989	Individual	Other than promoters	Not applicable	AMITABH BEHANI	Equity	120765000195310	India	M	Income Tax PAN	AAEHA0036N	BUSINESS	1200	10	12000
990	Individual	Other than promoters	Not applicable	VIKASH KASHLIWAL	Equity	120765000299943	India	M	Income Tax PAN	AFMPJ6757Q	SERVICE	1200	10	12000
991	Individual	Other than promoters	Not applicable	Prashant Dadu	Equity	1207830000884614	India	M	Income Tax PAN	AHQPD9415R	BUSINESS	4800	10	48000
992	Individual	Other than promoters	Not applicable	SURJEET NEGI	Equity	120816000125193	India	M	Income Tax PAN	AGHPN8340H	PRIVATE SECTOR	1200	10	12000
993	Individual	Other than promoters	Not applicable	ATUL ANAND	Equity	1208160001592988	India	M	Income Tax PAN	AMVPA4071A	PRIVATE SECTOR	600	10	6000
994	Individual	Other than promoters	Not applicable	PRAKASH LAXMANBHAI DESAI	Equity	1208160002322750	India	M	Income Tax PAN	CLRPD3708E	STUDENT	3000	10	30000
995	Individual	Other than promoters	Not applicable	NIKHIL KHANDELWAL	Equity	1208160002537131	India	M	Income Tax PAN	DMRPK6210A	STUDENT	1200	10	12000
996	Individual	Other than promoters	Not applicable	GIRISH BALASAHEB SAWANT	Equity	1208160002728376	India	M	Income Tax PAN	BPPFS0636R	PROFESSIONAL	600	10	6000
997	Individual	Other than promoters	Not applicable	ROHIT BANSILAL VYAS	Equity	1208160003727481	India	M	Income Tax PAN	AMGPV9804M	PRIVATE SECTOR	600	10	6000
998	Individual	Other than promoters	Not applicable	HIRAL BHARATBHAI KUKADIYA	Equity	1208160003744195	India	F	Income Tax PAN	ECIPK1322M	PRIVATE SECTOR	600	10	6000
999	Individual	Other than promoters	Not applicable	RAGHAVE NDRARAO THOTA	Equity	1208160004137384	India	M	Income Tax PAN	AFHPT5867J	PROFESSIONAL	600	10	6000
1000	Individual	Other than promoters	Not applicable	LOKESH CHOPRA	Equity	1208160004302154	India	M	Income Tax PAN	BAFPC1306M	PRIVATE SECTOR	600	10	6000
1001	Individual	Other than promoters	Not applicable	ANKIT DUBEY	Equity	1208160004991682	India	M	Income Tax PAN	ANQPD6715J	BUSINESS	1800	10	18000
1002	Individual	Other than promoters	Not applicable	MANISH GOYAL	Equity	1208160008853966	India	M	Income Tax PAN	AITPG4195R	PROFESSIONAL	5400	10	54000
1003	Individual	Other than promoters	Not applicable	HIMANSHU MUDGAL	Equity	1208160009090236	India	M	Income Tax PAN	CUNPM3337F	PUBLIC SECTOR	1200	10	12000
1004	Individual	Other than promoters	Not applicable	ASHISH GUJRAL	Equity	1208160010096835	India	M	Income Tax PAN	AJXPG5342B	PRIVATE SECTOR	3000	10	30000
1005	Individual	Other than promoters	Not applicable	NARESH KUMAR KARWA	Equity	1208160010843296	India	M	Income Tax PAN	ADHPK9671P	PROFESSIONAL	600	10	6000

1006	Individual	Other than promoters	Not applicable	NITIN AGRAWAL	Equity	1208160011099559	India	M	Income Tax PAN	AINPA6766E	PRIVATE SECTOR	600	10	6000
1007	Individual	Other than promoters	Not applicable	JYOTI SHARMA	Equity	1208160013569373	India	F	Income Tax PAN	EUVPS9086K	STUDENT	600	10	6000
1008	Individual	Other than promoters	Not applicable	RICHA JAIN	Equity	1208160014455352	India	F	Income Tax PAN	ALYPJ1608A	PROFESSIONAL	1200	10	12000
1009	Individual	Other than promoters	Not applicable	SHIVRAJ SINGH RATHORE	Equity	1208160014629028	India	M	Income Tax PAN	ADJPR5860M	PROFESSIONAL	3000	10	30000
1010	Individual	Other than promoters	Not applicable	HARDIK JINDAL	Equity	1208160015003060	India	M	Income Tax PAN	AXVPJ7414K	BUSINESS	2400	10	24000
1011	Individual	Other than promoters	Not applicable	MONA KHANDEWAL	Equity	1208160015652422	India	F	Income Tax PAN	EJLPK6583E	PRIVATE SECTOR	1200	10	12000
1012	Individual	Other than promoters	Not applicable	AJAY GOYAL	Equity	1208160016301325	India	M	Income Tax PAN	BXOPG4968F	STUDENT	600	10	6000
1013	Individual	Other than promoters	Not applicable	PRIYANK MATHUR	Equity	1208160016432344	India	M	Income Tax PAN	BLZPM8953P	PRIVATE SECTOR	600	10	6000
1014	Individual	Other than promoters	Not applicable	SHRADDHA TIWARI	Equity	1208160016581754	India	F	Income Tax PAN	BHLPT0039F	PRIVATE SECTOR	600	10	6000
1015	Individual	Other than promoters	Not applicable	HARSH AGARWAL	Equity	1208160017948538	India	M	Income Tax PAN	BDQPA9341G	PUBLIC SECTOR	600	10	6000
1016	Individual	Other than promoters	Not applicable	NAVITA GUPTA	Equity	1208160018622201	India	F	Income Tax PAN	CUSPG6794F	PRIVATE SECTOR	1200	10	12000
1017	Individual	Other than promoters	Not applicable	SONIA PURI	Equity	1208160018987858	India	F	Income Tax PAN	AAUPP3514A	HOUSEWIFE	3000	10	30000
1018	Individual	Other than promoters	Not applicable	TARUN KUMAR SINGH	Equity	1208160019206825	India	M	Income Tax PAN	BEAPS4793B	PRIVATE SECTOR	2400	10	24000
1019	Individual	Other than promoters	Not applicable	LATA MEHTA	Equity	1208160020018883	India	F	Income Tax PAN	AKMPM7517L	HOUSEWIFE	3000	10	30000
1020	Individual	Other than promoters	Not applicable	MEENU	Equity	1208160020260910	India	F	Income Tax PAN	BYOPM1533P	BUSINESS	600	10	6000
1021	Individual	Other than promoters	Not applicable	VISHAL SHARMA	Equity	1208160020293180	India	M	Income Tax PAN	GFKPS1936E	PRIVATE SECTOR	600	10	6000
1022	Individual	Other than promoters	Not applicable	ANUPAM SONI	Equity	1208160020612663	India	M	Income Tax PAN	GHSPS9797F	STUDENT	600	10	6000
1023	Individual	Other than promoters	Not applicable	ANKITA YADAV	Equity	1208160020940590	India	F	Income Tax PAN	AIGPY1327A	GOVERNMENT SERVICES	600	10	6000
1024	Individual	Other than promoters	Not applicable	AASHISH DHANORIA HUF	Equity	1208160021043453	India	M	Income Tax PAN	AATHA1019G	BUSINESS	6000	10	60000
1025	Individual	Other than promoters	Not applicable	DEEPA KARNAWAT	Equity	1208160021461945	India	F	Income Tax PAN	AQUPS3761L	HOUSEWIFE	600	10	6000
1026	Individual	Other than promoters	Not applicable	RASHMI SINGH	Equity	1208160023972682	India	F	Income Tax PAN	FSLPS6861K	PRIVATE SECTOR	600	10	6000

1027	Individual	Other than promoters	Not applicable	JANKHNA BHAVIN SHAH	Equity	1208160024339146	India	F	Income Tax PAN	KROPS9964J	PROFESSIONAL	600	10	6000
1028	Individual	Other than promoters	Not applicable	SHAIENDRA SARASWAT	Equity	1208160024456213	India	M	Income Tax PAN	IHFPS0799C	PRIVATE SECTOR	600	10	6000
1029	Individual	Other than promoters	Not applicable	RISHAB JAIN	Equity	1208160025025138	India	M	Income Tax PAN	AYJP8371P	BUSINESS	3600	10	36000
1030	Individual	Other than promoters	Not applicable	PARVESH DAHIYA	Equity	1208160026204410	India	M	Income Tax PAN	FAJPD7179B	BUSINESS	3000	10	30000
1031	Individual	Other than promoters	Not applicable	AKHILESH KUMAR JAIN	Equity	1208160028697961	India	M	Income Tax PAN	AATPJ6888J	OTHERS	3000	10	30000
1032	Individual	Other than promoters	Not applicable	ABHISHEK JAIN	Equity	1208160029298135	India	M	Income Tax PAN	ALHPJ8472D	PRIVATE SECTOR	600	10	6000
1033	Individual	Other than promoters	Not applicable	AMIT AGARWAL	Equity	1208160030124981	India	M	Income Tax PAN	BLYPA6755L	OTHERS	600	10	6000
1034	Individual	Other than promoters	Not applicable	ANKIT BHARAT SHAH	Equity	1208160030694241	India	M	Income Tax PAN	BJKPS5568K	BUSINESS	600	10	6000
1035	Individual	Other than promoters	Not applicable	SANGEETA DUSAD	Equity	1208160030918179	India	F	Income Tax PAN	BRGPD3779P	PROFESSIONAL	1200	10	12000
1036	Individual	Other than promoters	Not applicable	AJAY YADAV	Equity	1208160031396805	India	M	Income Tax PAN	AAOPY5088J	GOVERNMENT SERVICES	4800	10	48000
1037	Individual	Other than promoters	Not applicable	HARJEET SINGH SALUJA	Equity	1208160032005280	India	M	Income Tax PAN	CIOPS1518K	PUBLIC SECTOR	600	10	6000
1038	Individual	Other than promoters	Not applicable	ABHINAV SURANA	Equity	1208160032761610	India	M	Income Tax PAN	AXRPS5624A	PRIVATE SECTOR	4800	10	48000
1039	Individual	Other than promoters	Not applicable	KAMAL BIRYANI	Equity	1208160033592841	India	M	Income Tax PAN	BGLPB7864D	PRIVATE SECTOR	3000	10	30000
1040	Individual	Other than promoters	Not applicable	KHUSHBOO ANKIT CHANDAK	Equity	1208160033600570	India	F	Income Tax PAN	AZEPM7705M	BUSINESS	600	10	6000
1041	Individual	Other than promoters	Not applicable	PULKIT GUPTA	Equity	1208160033666121	India	M	Income Tax PAN	ALTPG0407F	PROFESSIONAL	3000	10	30000
1042	Individual	Other than promoters	Not applicable	YASH MAHESH WARI	Equity	1208160034213347	India	M	Income Tax PAN	EGYPM8230G	STUDENT	600	10	6000
1043	Individual	Other than promoters	Not applicable	NEHA SHARMA	Equity	1208160035070127	India	F	Income Tax PAN	CEJPS6542G	PRIVATE SECTOR	1800	10	18000
1044	Individual	Other than promoters	Not applicable	DEEPAK KUMAR	Equity	1208160035901223	India	M	Income Tax PAN	CHVPK0735J	PROFESSIONAL	600	10	6000
1045	Individual	Other than promoters	Not applicable	ANU GUPTA	Equity	1208160036474095	India	F	Income Tax PAN	AGSPG1435D	BUSINESS	3000	10	30000
1046	Individual	Other than promoters	Not applicable	RAM AVTAR BAHETI	Equity	1208160036767521	India	M	Income Tax PAN	BMNPB9195F	PRIVATE SECTOR	600	10	6000
1047	Individual	Other than promoters	Not applicable	RUCHI AVASTHI	Equity	1208160037363869	India	F	Income Tax PAN	DBMPA1413B	OTHERS	600	10	6000

1048	Individual	Other than promoters	Not applicable	SUMITA MALPANI	Equity	1208160037780491	India	F	Income Tax PAN	ARFPM4574K	PRIVATE SECTOR	1200	10	12000
1049	Individual	Other than promoters	Not applicable	RONAK SURANA	Equity	1208160038028581	India	M	Income Tax PAN	BRKPS0419P	OTHERS	2400	10	24000
1050	Individual	Other than promoters	Not applicable	FEMINA VIKRAMK UMAR MEHTA	Equity	1208160038374266	India	F	Income Tax PAN	CMXPM5577M	PROFESSIONAL	3000	10	30000
1051	Individual	Other than promoters	Not applicable	PANKAJ GOYAL	Equity	1208160038529691	India	M	Income Tax PAN	BSRPG3088G	PROFESSIONAL	600	10	6000
1052	Individual	Other than promoters	Not applicable	SANGEETA BIYANI	Equity	1208160038673436	India	F	Income Tax PAN	AYLPB8233F	GOVERNMENT SERVICES	600	10	6000
1053	Individual	Other than promoters	Not applicable	RAGHAV BINDAL	Equity	1208160038711025	India	M	Income Tax PAN	CKYPB8147H	STUDENT	600	10	6000
1054	Individual	Other than promoters	Not applicable	RAKESH GARG	Equity	1208160039308550	India	M	Income Tax PAN	AAVPG6072F	BUSINESS	600	10	6000
1055	Individual	Other than promoters	Not applicable	KOLLIPARA LAKSHMI NARAYAN A	Equity	1208160039975281	India	M	Income Tax PAN	AERPN0074N	PRIVATE SECTOR	600	10	6000
1056	Individual	Other than promoters	Not applicable	SURAJ PAL SINGH	Equity	1208160040675911	India	M	Income Tax PAN	KLBPS4699H	PRIVATE SECTOR	600	10	6000
1057	Individual	Other than promoters	Not applicable	KAJAL KUMAR DUBEY	Equity	1208160041293903	India	M	Income Tax PAN	BKQPD1139Q	GOVERNMENT SERVICES	600	10	6000
1058	Individual	Other than promoters	Not applicable	EKTA GOYAL	Equity	1208160041470117	India	F	Income Tax PAN	BHWPG4972M	PROFESSIONAL	600	10	6000
1059	Individual	Other than promoters	Not applicable	VAIDICA PAREEK	Equity	1208160042182079	India	F	Income Tax PAN	CJYPP3033P	PRIVATE SECTOR	600	10	6000
1060	Individual	Other than promoters	Not applicable	VISHAL SONI	Equity	1208160042682449	India	M	Income Tax PAN	NSAPS3787P	STUDENT	600	10	6000
1061	Individual	Other than promoters	Not applicable	MANAS KUMAR	Equity	1208160042735344	India	M	Income Tax PAN	BTAPK1025M	RESIDENT	600	10	6000
1062	Individual	Other than promoters	Not applicable	LOKESH GOYAL	Equity	1208160042926937	India	M	Income Tax PAN	BDJPG6642M	BUSINESS	600	10	6000
1063	Individual	Other than promoters	Not applicable	GARIMA KHANDELWAL	Equity	1208160047346607	India	F	Income Tax PAN	DHKPK7564R	PROFESSIONAL	600	10	6000
1064	Individual	Other than promoters	Not applicable	NEHA KASLIWAL	Equity	1208160047818409	India	F	Income Tax PAN	AIZPN5116D	BUSINESS	1200	10	12000
1065	Individual	Other than promoters	Not applicable	SUNAINA BASERA	Equity	1208160048502294	India	F	Income Tax PAN	APFPB4962C	PROFESSIONAL	3000	10	30000
1066	Individual	Other than promoters	Not applicable	DIKSHU GUPTA	Equity	1208160049345302	India	M	Income Tax PAN	AJKPG8553D	BUSINESS	600	10	6000
1067	Individual	Other than promoters	Not applicable	LAXMI GOYAL	Equity	1208160052066198	India	F	Income Tax PAN	AHKPG3696B	BUSINESS	1200	10	12000
1068	Individual	Other than promoters	Not applicable	DIVYANSHU BARDIA	Equity	1208160052651881	India	M	Income Tax PAN	AJQPB6020J	BUSINESS	1200	10	12000

1069	Individual	Other than promoters	Not applicable	MANISH JAIN	Equity	1208160053450252	India	M	Income Tax PAN	ADLPJ7042B	BUSINESS	15600	10	156000
1070	Individual	Other than promoters	Not applicable	SAJJAN KUMAR KHATUWALA	Equity	1208160053643517	India	M	Income Tax PAN	AEGPK2464N	BUSINESS	2400	10	24000
1071	Individual	Other than promoters	Not applicable	NIRMALA VIJAY	Equity	1208160053662876	India	F	Income Tax PAN	ARXPV5411E	HOUSEWIFE	2400	10	24000
1072	Individual	Other than promoters	Not applicable	ARIHANT JAIN	Equity	1208160054379521	India	M	Income Tax PAN	BMDPJ6016R	STUDENT	3000	10	30000
1073	Individual	Other than promoters	Not applicable	MANISH GOYAL	Equity	1208160056313169	India	M	Income Tax PAN	AWCPG0929Q	PROFESSIONAL	600	10	6000
1074	Individual	Other than promoters	Not applicable	RENU NAGAWAT	Equity	1208160056473031	India	F	Income Tax PAN	AAVPN9035B	BUSINESS	1800	10	18000
1075	Individual	Other than promoters	Not applicable	VISHAL .	Equity	1208160056490431	India	M	Income Tax PAN	AKUPV4071G	PRIVATE SECTOR	600	10	6000
1076	Individual	Other than promoters	Not applicable	UMESH AGRAWAL	Equity	1208160058439658	India	M	Income Tax PAN	ADOPA7280K	PRIVATE SECTOR	2400	10	24000
1077	Individual	Other than promoters	Not applicable	KAMLESH KUMAR MITTAL	Equity	1208160058637941	India	M	Income Tax PAN	AHIPM7184L	BUSINESS	1800	10	18000
1078	Individual	Other than promoters	Not applicable	PARTH SARTHI KHANDELWAL	Equity	1208160059316833	India	M	Income Tax PAN	JXGPK5780R	STUDENT	1200	10	12000
1079	Individual	Other than promoters	Not applicable	SHUBHAM SINGH CHOUHAN	Equity	1208160060299924	India	M	Income Tax PAN	BGMPC5156N	PRIVATE SECTOR	600	10	6000
1080	Individual	Other than promoters	Not applicable	SHEETAL SIPANI	Equity	1208160061925777	India	F	Income Tax PAN	JLKPS3400Q	PRIVATE SECTOR	600	10	6000
1081	Individual	Other than promoters	Not applicable	SAJITH NARAKATH KALATHINGAL	Equity	1208160062102143	India	M	Income Tax PAN	AMXPK0575F	PROFESSIONAL	600	10	6000
1082	Individual	Other than promoters	Not applicable	JITENDRA HARESHK UMAR MEGHANI	Equity	1208160062200244	India	M	Income Tax PAN	ARKPM1263C	BUSINESS	600	10	6000
1083	Individual	Other than promoters	Not applicable	BHAWNA MUDGAL	Equity	1208160062913127	India	F	Income Tax PAN	DZNP5867A	STUDENT	3000	10	30000
1084	Individual	Other than promoters	Not applicable	VISHAL RAJESHBHAI SADHU	Equity	1208160063282032	India	M	Income Tax PAN	GWWPS7446L	PRIVATE SECTOR	600	10	6000
1085	Individual	Other than promoters	Not applicable	RONIL JAIN	Equity	1208160063507592	India	M	Income Tax PAN	CESPJ2211L	BUSINESS	600	10	6000
1086	Individual	Other than promoters	Not applicable	PARUL JAIN	Equity	1208160063530949	India	F	Income Tax PAN	AGDPJ9724B	BUSINESS	3000	10	30000
1087	Individual	Other than promoters	Not applicable	KRISHAN KANT CHANDAK	Equity	1208160064123331	India	M	Income Tax PAN	BJIPC3315C	BUSINESS	600	10	6000
1088	Individual	Other than promoters	Not applicable	VASUDA DINKAR MOHITE	Equity	1208160064147986	India	F	Income Tax PAN	BNMPP7755C	STUDENT	600	10	6000

1089	Individual	Other than promoters	Not applicable	BABITA GUPTA	Equity	1208160064250132	India	F	Income Tax PAN	AAEPG1745N	OTHERS	3000	10	30000
1090	Individual	Other than promoters	Not applicable	NAVIN JHAWAR	Equity	1208160065013826	India	M	Income Tax PAN	ACXPJ1728K	PRIVATE SECTOR	600	10	6000
1091	Individual	Other than promoters	Not applicable	POOJA MEHTA	Equity	1208160065304664	India	F	Income Tax PAN	AOCPM7366M	OTHERS	600	10	6000
1092	Individual	Other than promoters	Not applicable	SAPNA JAIN	Equity	1208160065552771	India	F	Income Tax PAN	AGYPJ1366J	HOUSEWIFE	3000	10	30000
1093	Individual	Other than promoters	Not applicable	ANSHUL KARWA	Equity	1208160065989696	India	M	Income Tax PAN	DWZPK0729Q	PROFESSIONAL	600	10	6000
1094	Individual	Other than promoters	Not applicable	VASUDEV BANG	Equity	1208160066078305	India	M	Income Tax PAN	AJEPB1325L	BUSINESS	1200	10	12000
1095	Individual	Other than promoters	Not applicable	ABHISEK KUMAR CHARAN PAHADI	Equity	1208160066677613	India	M	Income Tax PAN	AMMPC6150H	BUSINESS	600	10	6000
1096	Individual	Other than promoters	Not applicable	KARTIK CHANDAK	Equity	1208160066854230	India	M	Income Tax PAN	BJNPC1793H	BUSINESS	6000	10	60000
1097	Individual	Other than promoters	Not applicable	VIPLOVE KUMAR JAIN	Equity	1208160066976076	India	M	Income Tax PAN	BVMPJ5784N	PRIVATE SECTOR	1200	10	12000
1098	Individual	Other than promoters	Not applicable	SIDDHARTH SINGHVI	Equity	1208160067636618	India	M	Income Tax PAN	LLTPS3780E	STUDENT	2400	10	24000
1099	Individual	Other than promoters	Not applicable	ATUL BABANAPPA CHUKEWAR	Equity	1208160069599789	India	M	Income Tax PAN	ARGPC5175K	OTHERS	4800	10	48000
1100	Individual	Other than promoters	Not applicable	GIRIRAJ AGRAWAL	Equity	1208160070532241	India	M	Income Tax PAN	ABJPA7579G	BUSINESS	600	10	6000
1101	Individual	Other than promoters	Not applicable	NEHA AGARWAL	Equity	1208160072351994	India	F	Income Tax PAN	BRNPA1265N	BUSINESS	600	10	6000
1102	Individual	Other than promoters	Not applicable	ANURAG GUPTA	Equity	1208160073046560	India	M	Income Tax PAN	AKRPG5031E	PRIVATE SECTOR	3000	10	30000
1103	Individual	Other than promoters	Not applicable	SURENDRA KUMAR GOYAL	Equity	1208160073887383	India	M	Income Tax PAN	AEJPG4104N	PRIVATE SECTOR	4800	10	48000
1104	Individual	Other than promoters	Not applicable	SEEMA NIRAV SHAH	Equity	1208160075653418	India	F	Income Tax PAN	AHZPS4357C	HOUSEWIFE	9000	10	90000
1105	Individual	Other than promoters	Not applicable	SANJIV JAMNADAS MODI	Equity	1208160075676524	India	M	Income Tax PAN	AHXPM8626N	BUSINESS	600	10	6000
1106	Individual	Other than promoters	Not applicable	PANKAJ JAIN	Equity	1208160075879951	India	M	Income Tax PAN	AJGPJ4354B	PROFESSIONAL	600	10	6000
1107	Individual	Other than promoters	Not applicable	VIKAS PARWAL	Equity	1208160076051936	India	M	Income Tax PAN	AEAPP3720L	BUSINESS	1800	10	18000
1108	Individual	Other than promoters	Not applicable	MANOJ KUMAR TOTLA	Equity	1208160076190210	India	M	Income Tax PAN	AEFPT6798F	PROFESSIONAL	1800	10	18000
1109	Individual	Other than promoters	Not applicable	SURBHI PARASRAMPURIA	Equity	1208160076270032	India	F	Income Tax PAN	AZXPJ7889A	PRIVATE SECTOR	1200	10	12000

1110	Individual	Other than promoters	Not applicable	SARLA VIJAYVAR GIYA	Equity	1208160076275784	India	F	Income Tax PAN	AGGPV5647N	HOUSEWIFE	600	10	6000
1111	Individual	Other than promoters	Not applicable	MADHU AGNIHOTRI	Equity	1208160076289436	India	F	Income Tax PAN	BNepA6593E	OTHERS	600	10	6000
1112	Individual	Other than promoters	Not applicable	LAVINA ANKIT SHAH	Equity	1208160078140966	India	F	Income Tax PAN	AJXPJ0211A	OTHERS	600	10	6000
1113	Individual	Other than promoters	Not applicable	UTSAV JAIN	Equity	1208160078333627	India	M	Income Tax PAN	BOTPJ6348J	STUDENT	600	10	6000
1114	Individual	Other than promoters	Not applicable	CHANDRA SEKHAR VALLEPAL LI	Equity	1208160078518146	India	M	Income Tax PAN	AIXPV1249F	PROFESSIONAL	600	10	6000
1115	Individual	Other than promoters	Not applicable	RENU KHANDELWAL	Equity	1208160079246964	India	F	Income Tax PAN	BJLPD3565N	HOUSEWIFE	3000	10	30000
1116	Individual	Other than promoters	Not applicable	KANJI PAMA RAVARIA	Equity	1208160079612778	India	M	Income Tax PAN	AFYPR6831H	BUSINESS	600	10	6000
1117	Individual	Other than promoters	Not applicable	SHAKUNTLA DHARWAL	Equity	1208160082510848	India	F	Income Tax PAN	CEDPD6211F	HOUSEWIFE	600	10	6000
1118	Entity	Other than promoters	Body corporate (not mentioned above)	AMITY ELECTRONICS	Equity	1208160082710645	India		Income Tax PAN	ABXFA5570D	BUSINESS	600	10	6000
1119	Individual	Other than promoters	Not applicable	SUCHITA DIDWANI A	Equity	1208160083040791	India	F	Income Tax PAN	ACAPA4079R	HOUSEWIFE	1800	10	18000
1120	Individual	Other than promoters	Not applicable	ARNAV VALECHA	Equity	1208160083583321	India	M	Income Tax PAN	BBUPV7541R	STUDENT	600	10	6000
1121	Individual	Other than promoters	Not applicable	OJASWINI AGARWAL	Equity	1208160083774665	India	F	Income Tax PAN	AKMPA7074J	STUDENT	1200	10	12000
1122	Individual	Other than promoters	Not applicable	NIDHI KHANDELWAL	Equity	1208160084641002	India	F	Income Tax PAN	CBJPK3348D	HOUSEWIFE	5400	10	54000
1123	Individual	Other than promoters	Not applicable	PRASUK JAIN	Equity	1208160086525795	India	M	Income Tax PAN	BZDPJ5877P	STUDENT	1800	10	18000
1124	Individual	Other than promoters	Not applicable	NEHA KHANDELWAL	Equity	1208160087265041	India	F	Income Tax PAN	ALYPG9483C	HOUSEWIFE	600	10	6000
1125	Individual	Other than promoters	Not applicable	SHUBHAM KARWA	Equity	1208160088131542	India	M	Income Tax PAN	CZCPK0253N	BUSINESS	600	10	6000
1126	Individual	Other than promoters	Not applicable	SHULEKHA DARGAR	Equity	1208160089503621	India	F	Income Tax PAN	EFZPD2388G	BUSINESS	600	10	6000
1127	Individual	Other than promoters	Not applicable	ATUL WAMAN LANDE	Equity	1208160092573969	India	M	Income Tax PAN	AAKPL3191P	PRIVATE SECTOR	3000	10	30000
1128	Individual	Other than promoters	Not applicable	MOHIT SONI	Equity	1208160093309106	India	M	Income Tax PAN	CSDPS5001C	PROFESSIONAL	600	10	6000
1129	Individual	Other than promoters	Not applicable	SIMRAN NITIN DHOKA	Equity	1208160093583913	India	F	Income Tax PAN	CSBPD7334R	STUDENT	600	10	6000
1130	Individual	Other than promoters	Not applicable	SAMARTH AGARWAL	Equity	1208160093676436	India	M	Income Tax PAN	DXKPA5997N	STUDENT	600	10	6000

1131	Individual	Other than promoters	Not applicable	HILONI MUKESH SHAH	Equity	1208160094077881	India	F	Income Tax PAN	OUGPS4240L	STUDENT	1800	10	18000
1132	Individual	Other than promoters	Not applicable	POONAM KESHERWANI	Equity	1208160094693926	India	F	Income Tax PAN	AWMPK5929J	HOUSEWIFE	3000	10	30000
1133	Individual	Other than promoters	Not applicable	VINIT AGRAWAL	Equity	1208160095478884	India	M	Income Tax PAN	AMUPA8530F	PROFESSIONAL	600	10	6000
1134	Individual	Other than promoters	Not applicable	NIRMALA AGARWAL	Equity	1208160096099883	India	F	Income Tax PAN	CHSPA1614F	HOUSEWIFE	600	10	6000
1135	Individual	Other than promoters	Not applicable	SAIYAM JUNEJA	Equity	1208160096145082	India	M	Income Tax PAN	BKEPJ7179L	BUSINESS	600	10	6000
1136	Individual	Other than promoters	Not applicable	MANI KUMAR	Equity	1208160096206679	India	M	Income Tax PAN	ESAPK7460Q	BUSINESS	600	10	6000
1137	Individual	Other than promoters	Not applicable	AKSHAT MAHESH WARI	Equity	1208160096649744	India	M	Income Tax PAN	GGTPM2153P	STUDENT	600	10	6000
1138	Individual	Other than promoters	Not applicable	SAHIL JAIN	Equity	1208160096835604	India	M	Income Tax PAN	AJZPJ2460K	PRIVATE SECTOR	1800	10	18000
1139	Individual	Other than promoters	Not applicable	SHASHWAT DAGA	Equity	1208160099495549	India	M	Income Tax PAN	APKPD3401R	PRIVATE SECTOR	3000	10	30000
1140	Individual	Other than promoters	Not applicable	OM PRAKASH METHI	Equity	1208160101827638	India	M	Income Tax PAN	AFZPM0571J	OTHERS	600	10	6000
1141	Individual	Other than promoters	Not applicable	AMAN JAIN	Equity	1208160104458190	India	M	Income Tax PAN	EVAPB0401B	BUSINESS	4200	10	42000
1142	Individual	Other than promoters	Not applicable	PRIYANKA DUGAR	Equity	1208160104481036	India	F	Income Tax PAN	CUQPD0014B	PROFESSIONAL	600	10	6000
1143	Individual	Other than promoters	Not applicable	ARADHNA SHARMA	Equity	1208160105728991	India	F	Income Tax PAN	APGPS2387K	PRIVATE SECTOR	4800	10	48000
1144	Individual	Other than promoters	Not applicable	SHIVANI GOEL	Equity	1208160106028901	India	F	Income Tax PAN	BWRPG3056L	PRIVATE SECTOR	600	10	6000
1145	Individual	Other than promoters	Not applicable	AMIT KUMAR SHARMA	Equity	1208160106848081	India	M	Income Tax PAN	AZCPS5106L	PRIVATE SECTOR	600	10	6000
1146	Individual	Other than promoters	Not applicable	RAJESH MAHESH WARI	Equity	1208160107372111	India	M	Income Tax PAN	AFCPM1559H	GOVERNMENT SERVICES	1800	10	18000
1147	Individual	Other than promoters	Not applicable	KOMAL KOTHARI	Equity	1208160107501651	India	F	Income Tax PAN	CAMPK5831P	BUSINESS	600	10	6000
1148	Individual	Other than promoters	Not applicable	ASHWIN NARPATC HANDBHANDARI	Equity	1208160108048961	India	M	Income Tax PAN	AMLPB5684L	BUSINESS	1200	10	12000
1149	Individual	Other than promoters	Not applicable	SRAVAN KUMAR DAMA	Equity	1208160108628087	India	M	Income Tax PAN	BAAPD9492C	PRIVATE SECTOR	3000	10	30000
1150	Individual	Other than promoters	Not applicable	RAJPAL CHOUDHARY	Equity	1208160109965252	India	M	Income Tax PAN	ALFPC7999A	BUSINESS	600	10	6000
1151	Individual	Other than promoters	Not applicable	JAI BHAGWAN GARG	Equity	1208160110706962	India	M	Income Tax PAN	ALHPB5747K	BUSINESS	600	10	6000

1152	Individual	Other than promoters	Not applicable	NARESH KUMAR	Equity	1208160111052100	India	M	Income Tax PAN	BIXPK0893F	BUSINESS	600	10	6000
1153	Individual	Other than promoters	Not applicable	SOMANSH SHARMA	Equity	1208160116605314	India	M	Income Tax PAN	CCOPS8892L	BUSINESS	600	10	6000
1154	Individual	Other than promoters	Not applicable	JITENDRA KUMAR SARIA	Equity	1208160117217256	India	M	Income Tax PAN	AGCPS3392P	PRIVATE SECTOR	1800	10	18000
1155	Individual	Other than promoters	Not applicable	MEHAK KOTHARI	Equity	1208160118437962	India	F	Income Tax PAN	AXGPK5384C	OTHERS	600	10	6000
1156	Individual	Other than promoters	Not applicable	AKSHIT PURI	Equity	1208160118657535	India	M	Income Tax PAN	CPXPP2018F	OTHERS	1200	10	12000
1157	Individual	Other than promoters	Not applicable	VIDIT KUMAR JAIN	Equity	1208160120219769	India	M	Income Tax PAN	CFDPJ8746N	PRIVATE SECTOR	1200	10	12000
1158	Individual	Other than promoters	Not applicable	MANIKA KARNAWAT	Equity	1208160121008511	India	F	Income Tax PAN	DWSPK5418K	BUSINESS	3000	10	30000
1159	Individual	Other than promoters	Not applicable	DUSHYANT KUMAR SONI	Equity	1208160121450245	India	M	Income Tax PAN	KMBPS9816P	BUSINESS	600	10	6000
1160	Individual	Other than promoters	Not applicable	ANIRUDH KEDIA	Equity	1208160122294922	India	M	Income Tax PAN	BMAPK9642R	PROFESSIONAL	2400	10	24000
1161	Individual	Other than promoters	Not applicable	SANJAY KUMAR DUSAD	Equity	1208160123950099	India	M	Income Tax PAN	GLZPD6254B	BUSINESS	1200	10	12000
1162	Individual	Other than promoters	Not applicable	YASH JAIN	Equity	1208160125374341	India	M	Income Tax PAN	AGJPY2821Q	PRIVATE SECTOR	600	10	6000
1163	Individual	Other than promoters	Not applicable	ANTIMA AGARWAL	Equity	1208160125711208	India	F	Income Tax PAN	EHMPB0353L	BUSINESS	2400	10	24000
1164	Individual	Other than promoters	Not applicable	RAMDEV SITARAM SIKHWAL	Equity	1208160125778451	India	M	Income Tax PAN	AEQPS5310D	PRIVATE SECTOR	600	10	6000
1165	Individual	Other than promoters	Not applicable	BEENA SHARMA	Equity	1208160126247643	India	F	Income Tax PAN	ARJPS7951E	RESIDENT	1800	10	18000
1166	Individual	Other than promoters	Not applicable	SHANMUG ANATHAN KARUPPIAH	Equity	1208160130307744	India	M	Income Tax PAN	AYLPK1891Q	PRIVATE SECTOR	3000	10	30000
1167	Individual	Other than promoters	Not applicable	RITESH GOYAL	Equity	1208160130859141	India	M	Income Tax PAN	ANMPG3932E	PRIVATE SECTOR	3000	10	30000
1168	Individual	Other than promoters	Not applicable	BHAVANA KUMARI	Equity	1208160131379813	India	F	Income Tax PAN	CUYPK9566P	HOUSEWIFE	600	10	6000
1169	Individual	Other than promoters	Not applicable	RAM KUMAR	Equity	1208160131525197	India	M	Income Tax PAN	ACGPK7007B	RESIDENT	3000	10	30000
1170	Individual	Other than promoters	Not applicable	ARYAN MEHTA	Equity	1208160131723869	India	M	Income Tax PAN	FZFPM7386N	BUSINESS	9000	10	90000
1171	Individual	Other than promoters	Not applicable	MUKUL CHAUHAN	Equity	1208160132113231	India	M	Income Tax PAN	AEWPC5121J	BUSINESS	1800	10	18000
1172	Individual	Other than promoters	Not applicable	MADHU GUPTA	Equity	1208160133014276	India	F	Income Tax PAN	AHNP5731G	BUSINESS	600	10	6000

1173	Individual	Other than promoters	Not applicable	TANU RAWAT	Equity	1208160134111267	India	F	Income Tax PAN	BEVPR6652F	PRIVATE SECTOR	2400	10	24000
1174	Individual	Other than promoters	Not applicable	NISHA SINGLA	Equity	1208160135371552	India	F	Income Tax PAN	LPAPS3584K	HOUSEWIFE	4200	10	42000
1175	Individual	Other than promoters	Not applicable	ROOPAL KHANDELWAL	Equity	1208160135711215	India	F	Income Tax PAN	MPTPK4389E	HOUSEWIFE	3000	10	30000
1176	Individual	Other than promoters	Not applicable	SAUMYA JAIN	Equity	1208160136846268	India	F	Income Tax PAN	CDNPJ6012M	PROFESSIONAL	6000	10	60000
1177	Individual	Other than promoters	Not applicable	TUSHITA KARWA	Equity	1208160137319040	India	F	Income Tax PAN	IIGPS6916H	OTHERS	600	10	6000
1178	Individual	Other than promoters	Not applicable	KHYATI MEHUL PATWA	Equity	1208160137576553	India	F	Income Tax PAN	AGWPP6845Q	BUSINESS	600	10	6000
1179	Entity	Other than promoters	Body corporate (not mentioned above)	SMART HORIZON CAPITAL ADVISORS PRIVATE	Equity	1208160139116598	India		Income Tax PAN	ABLCS9782J	BUSINESS	24000	10	240000
1180	Individual	Other than promoters	Not applicable	SAMTA RAHUL SARAF	Equity	1208160139221058	India	F	Income Tax PAN	APCPK5502L	BUSINESS	600	10	6000
1181	Individual	Other than promoters	Not applicable	Manvi Golecha	Equity	1208160139940191	India	F	Income Tax PAN	BWFPG8201D	BUSINESS	600	10	6000
1182	Individual	Other than promoters	Not applicable	MUSKAN AGARWAL	Equity	1208160140030161	India	F	Income Tax PAN	BURPA6330B	BUSINESS	600	10	6000
1183	Individual	Other than promoters	Not applicable	TRILOK CHAND JAIN	Equity	1208160141023768	India	M	Income Tax PAN	ABHPJ4913F	BUSINESS	1800	10	18000
1184	Individual	Other than promoters	Not applicable	EKTA CHOUDHARY	Equity	1208160141339411	India	F	Income Tax PAN	DASPC2992E	STUDENT	1800	10	18000
1185	Individual	Other than promoters	Not applicable	RAJEEV JAIN	Equity	1208160141561777	India	M	Income Tax PAN	AARPJ9743J	PRIVATE SECTOR	1200	10	12000
1186	Individual	Other than promoters	Not applicable	KALPANA GATTANI	Equity	1208160142237056	India	F	Income Tax PAN	ACIPG1127E	HOUSEWIFE	600	10	6000
1187	Individual	Other than promoters	Not applicable	AMIT SHARMA	Equity	1208160142365492	India	M	Income Tax PAN	CDFPS7946K	PRIVATE SECTOR	600	10	6000
1188	Individual	Other than promoters	Not applicable	VIJAY SHARMA	Equity	1208160142460419	India	F	Income Tax PAN	AUTPS5591D	HOUSEWIFE	3000	10	30000
1189	Individual	Other than promoters	Not applicable	BABLI JAIN	Equity	1208160142728388	India	F	Income Tax PAN	ALHPJ4685J	BUSINESS	3000	10	30000
1190	Individual	Other than promoters	Not applicable	MANIKACHAND JAIN	Equity	1208160142986267	India	M	Income Tax PAN	AKKPJ2320C	BUSINESS	600	10	6000
1191	Individual	Other than promoters	Not applicable	YUG KHANDELWAL	Equity	1208160144532904	India	M	Income Tax PAN	OHAPK2132L	STUDENT	1200	10	12000
1192	Individual	Other than promoters	Not applicable	RADHESH YAM AGARWAL	Equity	1208160146735129	India	M	Income Tax PAN	AAYPA4899H	RESIDENT	3000	10	30000

1193	Individual	Other than promoters	Not applicable	HARSH KHANDELWAL	Equity	1208160150477038	India	M	Income Tax PAN	JKZPK2873P	BUSINESS	1200	10	12000
1194	Individual	Other than promoters	Not applicable	GARV KHANDELWAL	Equity	1208160150724862	India	M	Income Tax PAN	MIDPK2381P	STUDENT	600	10	6000
1195	Individual	Other than promoters	Not applicable	MEENU CHOUDHARY	Equity	1208160153771983	India	F	Income Tax PAN	CKQPM1347C	HOUSEWIFE	600	10	6000
1196	Individual	Other than promoters	Not applicable	SHILPA KUMARI	Equity	1208160154218497	India	F	Income Tax PAN	GTGPK4335D	HOUSEWIFE	600	10	6000
1197	Individual	Other than promoters	Not applicable	GOURAV GOYAL	Equity	1208160154361755	India	M	Income Tax PAN	AARPG2281L	BUSINESS	3000	10	30000
1198	Individual	Other than promoters	Not applicable	SANJAY MANGAL	Equity	1208160154982325	India	M	Income Tax PAN	ABRPM5316M	BUSINESS	600	10	6000
1199	Individual	Other than promoters	Not applicable	SATISH GOYAL	Equity	1208160155400742	India	M	Income Tax PAN	ADOPG3613N	BUSINESS	1200	10	12000
1200	Individual	Other than promoters	Not applicable	AMITA PRASHAR	Equity	1208160155675920	India	F	Income Tax PAN	BNMPP4293A	HOUSEWIFE	1200	10	12000
1201	Individual	Other than promoters	Not applicable	LALITA AGARWAL	Equity	1208160155733821	India	F	Income Tax PAN	BDLPA2243J	BUSINESS	600	10	6000
1202	Individual	Other than promoters	Not applicable	VIREN KHANDELWAL	Equity	1208160156048643	India	M	Income Tax PAN	BFPK3404M	PROFESSIONAL	600	10	6000
1203	Individual	Other than promoters	Not applicable	SHILPI KUMARI	Equity	1208160156662051	India	F	Income Tax PAN	EFXPK5667F	GOVERNMENT SERVICES	600	10	6000
1204	Individual	Other than promoters	Not applicable	MANASI SANJAY KOTHARI	Equity	1208160157185266	India	F	Income Tax PAN	BXRPK2527B	OTHERS	3000	10	30000
1205	Individual	Other than promoters	Not applicable	DEEPAK GUPTA	Equity	1208160157842931	India	M	Income Tax PAN	ALRPG9618G	BUSINESS	4200	10	42000
1206	Individual	Other than promoters	Not applicable	VISHNU AGARWAL	Equity	1208160158119639	India	M	Income Tax PAN	ADJPA0322M	BUSINESS	600	10	6000
1207	Individual	Other than promoters	Not applicable	NILAM BIRYANI	Equity	1208160158651591	India	F	Income Tax PAN	BGLPB7853G	OTHERS	600	10	6000
1208	Individual	Other than promoters	Not applicable	Himanshu Somani	Equity	1208160161086687	India	M	Income Tax PAN	GOZPS5112E	STUDENT	1200	10	12000
1209	Individual	Other than promoters	Not applicable	Ankita Rawat	Equity	1208160161291532	India	F	Income Tax PAN	AORPA1740E	BUSINESS	600	10	6000
1210	Individual	Other than promoters	Not applicable	HIMANSHU JOSHI	Equity	1208160164645831	India	M	Income Tax PAN	AXVPJ7593D	BUSINESS	600	10	6000
1211	Individual	Other than promoters	Not applicable	SANTOSH GROVER	Equity	1208160165661264	India	F	Income Tax PAN	BXAPG5094G	HOUSEWIFE	2400	10	24000
1212	Individual	Other than promoters	Not applicable	Sunil Kumar Tambi	Equity	1208160165979399	India	M	Income Tax PAN	ABEPT1888N	BUSINESS	600	10	6000
1213	Individual	Other than promoters	Not applicable	ARUN KRUSHAN ARAO SAWARKAR	Equity	1208160167846183	India	M	Income Tax PAN	FVHPS7472F	OTHERS	600	10	6000

1214	Individual	Other than promoters	Not applicable	Sweta Deepak Shah	Equity	1208160169042300	India	F	Income Tax PAN	ACKPS9426L	HOUSEWIFE	600	10	6000
1215	Individual	Other than promoters	Not applicable	Kiran Garg	Equity	1208160169193435	India	F	Income Tax PAN	DKPPK5973L	HOUSEWIFE	1200	10	12000
1216	Individual	Other than promoters	Not applicable	Sunita Mittal	Equity	1208160172666989	India	F	Income Tax PAN	FOWPS0762A	OTHERS	600	10	6000
1217	Individual	Other than promoters	Not applicable	Anshu Kacker	Equity	1208160175744913	India	M	Income Tax PAN	AJJPK8885E	BUSINESS	600	10	6000
1218	Individual	Other than promoters	Not applicable	MAHESH PRASAD MUNDRA	Equity	1208180000359613	India	M	Income Tax PAN	ACXPM6341H	BUSINESS	2400	10	24000
1219	Individual	Other than promoters	Not applicable	KRISHNA MOHAN SAHU	Equity	1208180003822005	India	M	Income Tax PAN	AJVPS4399A	PRIVATE SECTOR	2400	10	24000
1220	Individual	Other than promoters	Not applicable	AKANKSH A MAHESH WARI	Equity	1208180004445356	India	F	Income Tax PAN	CINPM3754Q	HOUSEWIFE	600	10	6000
1221	Individual	Other than promoters	Not applicable	PARUL JAIN	Equity	1208180006054936	India	F	Income Tax PAN	BBIPJ2808R	STUDENT	600	10	6000
1222	Individual	Other than promoters	Not applicable	ARIHANT JAIN	Equity	1208180007586962	India	M	Income Tax PAN	BRYPJ0676F	PROFESSIONAL	1800	10	18000
1223	Individual	Other than promoters	Not applicable	SOURABH JAIN	Equity	1208180017506859	India	M	Income Tax PAN	BRFPJ8849B	BUSINESS	600	10	6000
1224	Individual	Other than promoters	Not applicable	BALAKRISHNA POPURI	Equity	1208180030680275	India	M	Income Tax PAN	BBTPP4607H	PRIVATE SECTOR	3000	10	30000
1225	Individual	Other than promoters	Not applicable	NARAYAN SINGH THAKUR	Equity	1208180032418608	India	M	Income Tax PAN	BTQPS7089M	PROFESSIONAL	1200	10	12000
1226	Individual	Other than promoters	Not applicable	PRATHAM SINGLA	Equity	1208180039380987	India	M	Income Tax PAN	LTOPS1462E	STUDENT	600	10	6000
1227	Individual	Other than promoters	Not applicable	LOVELEEN RANI	Equity	1208180041328800	India	F	Income Tax PAN	AKWPL2015N	GOVERNMENT SERVICES	6000	10	60000
1228	Individual	Other than promoters	Not applicable	ABHINAV BANSAL	Equity	1208180043064362	India	M	Income Tax PAN	EPCPB6664C	BUSINESS	5400	10	54000
1229	Individual	Other than promoters	Not applicable	NISHANT BHARGAV	Equity	1208180044249706	India	M	Income Tax PAN	CYAPB7567F	BUSINESS	3000	10	30000
1230	Individual	Other than promoters	Not applicable	KRISHNA DEVI	Equity	1208180044611986	India	F	Income Tax PAN	ABNPD7837L	RESIDENT	5400	10	54000
1231	Individual	Other than promoters	Not applicable	SANJEEV BHARGAW	Equity	1208180045957789	India	M	Income Tax PAN	AELPB0346K	BUSINESS	1200	10	12000
1232	Individual	Other than promoters	Not applicable	AJAY KUMAR CHHAPARI A	Equity	1208180047916282	India	M	Income Tax PAN	AATPC2442F	BUSINESS	600	10	6000
1233	Individual	Other than promoters	Not applicable	MANOJ KUMAR KHANDEL WAL	Equity	1208180049831784	India	M	Income Tax PAN	BYCPK4208B	PRIVATE SECTOR	600	10	6000
1234	Individual	Other than promoters	Not applicable	ANMOL SACHDEV A	Equity	1208180069724184	India	M	Income Tax PAN	IVOPS5999R	STUDENT	600	10	6000

1235	Individual	Other than promoters	Not applicable	BISHWAS NATH RAM	Equity	1208180105899885	India	M	Income Tax PAN	BUBPR2329M	PROFESSIONAL	1200	10	12000
1236	Individual	Other than promoters	Not applicable	AJAY RATHAUR	Equity	1208180109927212	India	M	Income Tax PAN	ADRPR1508G	PRIVATE SECTOR	3000	10	30000
1237	Individual	Other than promoters	Not applicable	SIDDHARTH KASLIWAL	Equity	1208180111381044	India	M	Income Tax PAN	AHQPK3024M	BUSINESS	600	10	6000
1238	Individual	Other than promoters	Not applicable	ARUNACHALAM	Equity	1208180121910831	India	M	Income Tax PAN	ALWPA2167R	BUSINESS	3000	10	30000
1239	Individual	Other than promoters	Not applicable	SHIVAM GUPTA	Equity	1208180129452035	India	M	Income Tax PAN	EHNPG3571E	STUDENT	1200	10	12000
1240	Individual	Other than promoters	Not applicable	PUSHPAD EVI BANSILAL VYAS	Equity	1208180132310982	India	F	Income Tax PAN	ASCPV1189P	HOUSEWIFE	6600	10	66000
1241	Individual	Other than promoters	Not applicable	SARBJIT KAUR	Equity	1208180138709751	India	F	Income Tax PAN	JBSPK3124F	HOUSEWIFE	1800	10	18000
1242	Individual	Other than promoters	Not applicable	SHILPA	Equity	1208180139746943	India	F	Income Tax PAN	HHNPS1981K	OTHERS	600	10	6000
1243	Individual	Other than promoters	Not applicable	SNEHA AGARWAL	Equity	1208180141136360	India	F	Income Tax PAN	ASVPA7267N	PRIVATE SECTOR	600	10	6000
1244	Individual	Other than promoters	Not applicable	SOURABH GUPTA	Equity	1208180141489057	India	M	Income Tax PAN	APCPG1672B	PRIVATE SECTOR	1200	10	12000
1245	Individual	Other than promoters	Not applicable	HARISH BHARDWAJ	Equity	1208180144577226	India	M	Income Tax PAN	AFAPB2561G	PRIVATE SECTOR	1200	10	12000
1246	Individual	Other than promoters	Not applicable	DEEPMAL A JAIN	Equity	1208180148591711	India	F	Income Tax PAN	BSKPJ9925Q	HOUSEWIFE	600	10	6000
1247	Individual	Other than promoters	Not applicable	PARMESH WAR OJHA	Equity	1208200000006076	India	M	Income Tax PAN	AAMPO5100H	BUSINESS	600	10	6000
1248	Individual	Other than promoters	Not applicable	KAPIL KUMAR	Equity	120824000115597	India	M	Income Tax PAN	CCUPK2080E	BUSINESS	600	10	6000
1249	Individual	Other than promoters	Not applicable	DUSHASANA MAHANTA	Equity	1208250000265051	India	M	Income Tax PAN	BSXPM2141L	GOVERNMENT SERVICES	3000	10	30000
1250	Individual	Other than promoters	Not applicable	KAPIL SINGHI	Equity	1208250000691022	India	M	Income Tax PAN	AVSPS1052M	PROFESSIONAL	600	10	6000
1251	Individual	Other than promoters	Not applicable	ASHOK SINH BHATI	Equity	1208250001736518	India	M	Income Tax PAN	ABHPB4071E	PRIVATE SECTOR	600	10	6000
1252	Individual	Other than promoters	Not applicable	TANAJI SHAMRAO KAKADE	Equity	1208250007861766	India	M	Income Tax PAN	AXJPK9685R	PROFESSIONAL	600	10	6000
1253	Individual	Other than promoters	Not applicable	MAN SINGH SHEKHAWAT	Equity	1208250027554981	India	M	Income Tax PAN	DDSPS9559C	PRIVATE SECTOR	1800	10	18000
1254	Individual	Other than promoters	Not applicable	RAHUL AGARWAL	Equity	1208250046426053	India	M	Income Tax PAN	CFZPA6977E	OTHERS	1200	10	12000
1255	Individual	Other than promoters	Not applicable	DHIRUBHAI VIRSANGBHAI PATEL	Equity	1208250048515750	India	M	Income Tax PAN	ABEPP8570H	RESIDENT	600	10	6000

1256	Individual	Other than promoters	Not applicable	DEEPALI GUPTA	Equity	12083400 04410680	India	F	Income Tax PAN	BJTPD805 5P	PROFESSI ONAL	600	10	6000
1257	Individual	Other than promoters	Not applicable	SIVAKAMI	Equity	12083400 07996960	India	F	Income Tax PAN	DERPS850 6H	OTHERS	3000	10	30000
1258	Individual	Other than promoters	Not applicable	JYOTHI RAMESH THOLAR	Equity	12083400 09424711	India	F	Income Tax PAN	ALQPT216 4B	HOUSEWI FE	3000	10	30000
1259	Individual	Other than promoters	Not applicable	DARSHAN A AGARWAL	Equity	12083400 10295834	India	F	Income Tax PAN	DHDPA15 92L	OTHERS	1200	10	12000
1260	Individual	Other than promoters	Not applicable	URMILA JAIN	Equity	12083400 11972373	India	F	Income Tax PAN	ACGJP114 3D	RESIDENT	600	10	6000
1261	Individual	Other than promoters	Not applicable	PARAS BANTHIYA	Equity	12083400 13422328	India	M	Income Tax PAN	BAQPB065 3M	PROFESSI ONAL	600	10	6000
1262	Individual	Other than promoters	Not applicable	SHIVEN THARYAMAL	Equity	12083400 20245667	India	M	Income Tax PAN	AGDPT365 1P	OTHERS	1800	10	18000
1263	Individual	Other than promoters	Not applicable	PARAS BANTHIYA HUF	Equity	12084300 03814942	India	M	Income Tax PAN	AAUHP179 3B	BUSINESS	600	10	6000
1264	Individual	Other than promoters	Not applicable	HARESH PRABHUDAS KUNDNANI	Equity	12085500 00064902	India	M	Income Tax PAN	ADSPK150 4C	BUSINESS	600	10	6000
1265	Individual	Other than promoters	Not applicable	DRASHTI LAXMIKANT SOLANKI	Equity	12085500 00117996	India	F	Income Tax PAN	ESBPS125 9C	PROFESSI ONAL	3000	10	30000
1266	Individual	Other than promoters	Not applicable	AMEYA GIRISH VATKAR	Equity	12086700 00038353	India	M	Income Tax PAN	AXHPV917 1D	STUDENT	3000	10	30000
1267	Individual	Other than promoters	Not applicable	RAMDHAN AGRAWAL	Equity	12086700 00881749	India	M	Income Tax PAN	AGEPA304 0N	BUSINESS	600	10	6000
1268	Individual	Other than promoters	Not applicable	MENASHI JAIN	Equity	12086700 04009524	India	F	Income Tax PAN	AENPJ308 4Q	OTHERS	600	10	6000
1269	Individual	Other than promoters	Not applicable	CHETAN OSWAL JAIN	Equity	12086700 04659932	India	M	Income Tax PAN	AGNPJ982 2C	BUSINESS	2400	10	24000
1270	Individual	Other than promoters	Not applicable	NITIN KUMAR KHATER	Equity	12086700 07397993	India	M	Income Tax PAN	AYLPK568 5N	PROFESSI ONAL	2400	10	24000
1271	Individual	Other than promoters	Not applicable	BASANT KUMAR AGARWAL	Equity	12086700 09229069	India	M	Income Tax PAN	ACWPA97 13E	BUSINESS	1800	10	18000
1272	Individual	Other than promoters	Not applicable	DISHA CHHABRA	Equity	12086700 09431194	India	F	Income Tax PAN	BGQPC371 7D	BUSINESS	600	10	6000
1273	Individual	Other than promoters	Not applicable	HRIDAY AGARWAL	Equity	12086700 12222321	India	M	Income Tax PAN	BVQPA550 9Q	STUDENT	600	10	6000
1274	Individual	Other than promoters	Not applicable	APOORV JAIN	Equity	12086700 12560493	India	M	Income Tax PAN	CWUPJ334 5P	STUDENT	1200	10	12000
1275	Individual	Other than promoters	Not applicable	ANUSHRE E SWAMI	Equity	12086700 12942108	India	F	Income Tax PAN	FSGPS889 8B	BUSINESS	600	10	6000

1276	Entity	Other than promoters	Body corporate (not mentioned above)	AADISHU SECURITIES PRIVATE LIMITED	Equity	120886000120144	India		Income Tax PAN	AAICA1689E	BUSINESS	1200	10	12000
1277	Individual	Other than promoters	Not applicable	ANSHIKA JAIN	Equity	1208860004646642	India	F	Income Tax PAN	ANDPJ8434D	HOUSEWIFE	3000	10	30000
1278	Individual	Other than promoters	Not applicable	MANISH AGGARWAL	Equity	1208860005717968	India	M	Income Tax PAN	AAJPA9131F	BUSINESS	3000	10	30000
1279	Individual	Other than promoters	Not applicable	SOURABH KUMAR JAIN	Equity	1208860007560561	India	M	Income Tax PAN	BJBPS1225C	BUSINESS	1800	10	18000
1280	Individual	Other than promoters	Not applicable	PRADIP KUMAR SAHOO	Equity	1208870002104014	India	M	Income Tax PAN	CPIPS7561B	PRIVATE SECTOR	3000	10	30000
1281	Individual	Other than promoters	Not applicable	HARSH KHANDEWAL	Equity	1208870004299308	India	M	Income Tax PAN	JKZPK2873P	STUDENT	600	10	6000
1282	Individual	Other than promoters	Not applicable	ROHIT .	Equity	1208870006271781	India	M	Income Tax PAN	ATLPR0947H	PUBLIC SECTOR	600	10	6000
1283	Individual	Other than promoters	Not applicable	DURGYSH AVADHESH HULANI	Equity	1208870006507819	India	M	Income Tax PAN	ABEPH5472Q	PRIVATE SECTOR	600	10	6000
1284	Individual	Other than promoters	Not applicable	HEMANT AGRAWAL	Equity	1208870008733111	India	M	Income Tax PAN	BKYP9584L	PRIVATE SECTOR	4800	10	48000
1285	Individual	Other than promoters	Not applicable	SUMITKUMAR DHIRUBHAI CHAUDHARI	Equity	1208870015673230	India	M	Income Tax PAN	BCXPC2976B	GOVERNMENT SERVICES	3000	10	30000
1286	Individual	Other than promoters	Not applicable	VRINDA BAGRI	Equity	1208870021019106	India	F	Income Tax PAN	BYRBP5168G	BUSINESS	1200	10	12000
1287	Individual	Other than promoters	Not applicable	POONAM ROSHAN PINGLE	Equity	1208870022224905	India	F	Income Tax PAN	AOOPT0157M	HOUSEWIFE	600	10	6000
1288	Individual	Other than promoters	Not applicable	GAURAV KUMAR	Equity	1208870024531173	India	M	Income Tax PAN	AWNPK2301B	PRIVATE SECTOR	3000	10	30000
1289	Individual	Other than promoters	Not applicable	SNEH KUMAR KASLIWAL	Equity	1208870028919495	India	M	Income Tax PAN	AMJPK4646F	BUSINESS	1200	10	12000
1290	Individual	Other than promoters	Not applicable	ANISHA AGARWAL	Equity	1208870029992485	India	F	Income Tax PAN	CFEPA2620F	STUDENT	600	10	6000
1291	Individual	Other than promoters	Not applicable	SAMEER CHOUDHARY	Equity	1208870036036259	India	M	Income Tax PAN	AEFPC7921K	BUSINESS	1200	10	12000
1292	Individual	Other than promoters	Not applicable	HIMANSHU GOEL	Equity	1208870038638818	India	M	Income Tax PAN	BEMPG4315P	BUSINESS	600	10	6000
1293	Individual	Other than promoters	Not applicable	PANKAJ BAJAJ	Equity	1208870044270000	India	M	Income Tax PAN	AAHPB7600G	BUSINESS	600	10	6000
1294	Individual	Other than promoters	Not applicable	SURENDRA TALERA	Equity	1208870052372982	India	M	Income Tax PAN	AAKPT9859N	PRIVATE SECTOR	600	10	6000
1295	Individual	Other than promoters	Not applicable	PARTH SHARMA	Equity	1208870061458011	India	M	Income Tax PAN	NTUPS7681K	STUDENT	1200	10	12000

1296	Individual	Other than promoters	Not applicable	ABHISHEK	Equity	1208870065059066	India	M	Income Tax PAN	AMMPA3166H	PRIVATE SECTOR	600	10	6000
1297	Individual	Other than promoters	Not applicable	SUBHASH CHOUDHARY	Equity	1208870071359323	India	M	Income Tax PAN	APUPC9481L	BUSINESS	2400	10	24000
1298	Individual	Other than promoters	Not applicable	SHWETA AGGARWAL	Equity	1208870074382961	India	F	Income Tax PAN	ADNPJ0759K	PRIVATE SECTOR	600	10	6000
1299	Individual	Other than promoters	Not applicable	AKANSHA JAIN	Equity	1208870078629451	India	F	Income Tax PAN	ATWPG5939K	PRIVATE SECTOR	3000	10	30000
1300	Individual	Other than promoters	Not applicable	VIPIN MANTRI	Equity	1208870080158291	India	M	Income Tax PAN	CEOPM9141Q	PRIVATE SECTOR	3000	10	30000
1301	Individual	Other than promoters	Not applicable	PRANJAL GARG	Equity	1208870098730172	India	M	Income Tax PAN	CUBPG8269G	PRIVATE SECTOR	600	10	6000
1302	Individual	Other than promoters	Not applicable	SHEELU KHATOD	Equity	1208870100559327	India	F	Income Tax PAN	FQWPK1974C	BUSINESS	600	10	6000
1303	Individual	Other than promoters	Not applicable	MANAK CHAND TALERA	Equity	1208870101881931	India	M	Income Tax PAN	AAKPT2077N	BUSINESS	1200	10	12000
1304	Individual	Other than promoters	Not applicable	SARITA RATHI	Equity	1208870105283762	India	F	Income Tax PAN	AEAPR6438M	HOUSEWIFE	600	10	6000
1305	Individual	Other than promoters	Not applicable	AMIT PARASHAR	Equity	1208870111003070	India	M	Income Tax PAN	BLZPP6865K	PROFESSIONAL	3000	10	30000
1306	Individual	Other than promoters	Not applicable	AKIBUL MONDAL	Equity	1208870111873807	India	M	Income Tax PAN	CKTPM5763M	BUSINESS	600	10	6000
1307	Individual	Other than promoters	Not applicable	GAURAV BENARA	Equity	1208870113417164	India	M	Income Tax PAN	AERP1427R	PRIVATE SECTOR	1200	10	12000
1308	Individual	Other than promoters	Not applicable	JYOTI ROHIT JAIN	Equity	1208870117117640	India	F	Income Tax PAN	BIPPJ7227J	HOUSEWIFE	600	10	6000
1309	Individual	Other than promoters	Not applicable	MOTILAL SHARMA	Equity	1208870118173199	India	M	Income Tax PAN	FDIPS2557A	GOVERNMENT SERVICES	600	10	6000
1310	Individual	Other than promoters	Not applicable	SURAJ JOSHI	Equity	1208870120307966	India	M	Income Tax PAN	BKIPJ4504P	PRIVATE SECTOR	600	10	6000
1311	Individual	Other than promoters	Not applicable	LAXMI JAIN	Equity	1208870136286412	India	F	Income Tax PAN	BFZPJ3498E	HOUSEWIFE	600	10	6000
1312	Individual	Other than promoters	Not applicable	JAYESH KHATRI	Equity	1208870137065968	India	M	Income Tax PAN	IWPPK7571F	BUSINESS	1800	10	18000
1313	Individual	Other than promoters	Not applicable	VIKAS SHARMA	Equity	1208870148112986	India	M	Income Tax PAN	JNBPS6662H	PRIVATE SECTOR	600	10	6000
1314	Individual	Other than promoters	Not applicable	PUNEET TALERA	Equity	1208870156072063	India	M	Income Tax PAN	AEZPT8279D	BUSINESS	1200	10	12000
1315	Individual	Other than promoters	Not applicable	SAKSHAM CHOUDHARY	Equity	1208870156974132	India	M	Income Tax PAN	CVDPC5516R	BUSINESS	600	10	6000
1316	Individual	Other than promoters	Not applicable	MANISH SHANKAR LAL SHARMA	Equity	1208870160284030	India	M	Income Tax PAN	FYMPS0623E	PRIVATE SECTOR	600	10	6000

1317	Individual	Other than promoters	Not applicable	VIKAS JAIN	Equity	1208870168303698	India	M	Income Tax PAN	ABGPJ6488E	BUSINESS	600	10	6000
1318	Individual	Other than promoters	Not applicable	SHIBU KRISHNAN	Equity	1208870185620124	India	M	Income Tax PAN	AGNPK3226B	BUSINESS	600	10	6000
1319	Individual	Other than promoters	Not applicable	KRISHNA MODI	Equity	1208870189850347	India	F	Income Tax PAN	AIFPM6550J	HOUSEWIFE	600	10	6000
1320	Individual	Other than promoters	Not applicable	PULKIT SHEKHRAJKA	Equity	1208870190318139	India	M	Income Tax PAN	RFKPS3194P	STUDENT	600	10	6000
1321	Individual	Other than promoters	Not applicable	YOGESH GOVINDB HAI KACHOT	Equity	1208870198908725	India	M	Income Tax PAN	BXOPK4104K	GOVERNMENT SERVICES	600	10	6000
1322	Individual	Other than promoters	Not applicable	VISHAL SINGH RAJAWAT	Equity	1208870202807681	India	M	Income Tax PAN	CGVPR6943L	BUSINESS	600	10	6000
1323	Individual	Other than promoters	Not applicable	JIGNA SEJALKUMAR SHAH	Equity	1208870205003933	India	F	Income Tax PAN	AKRPS0838H	BUSINESS	600	10	6000
1324	Individual	Other than promoters	Not applicable	REKHABEN YOGESHB HAI KACHOT	Equity	1208870206949581	India	F	Income Tax PAN	HJNPK9326L	BUSINESS	600	10	6000
1325	Individual	Other than promoters	Not applicable	SATISH KUMAR JAIN	Equity	1208870207741565	India	M	Income Tax PAN	ABTPJ9527H	PROFESSIONAL	3600	10	36000
1326	Individual	Other than promoters	Not applicable	VAIBHAV GARG	Equity	1208870209184803	India	M	Income Tax PAN	COPPG3976Q	PRIVATE SECTOR	600	10	6000
1327	Individual	Other than promoters	Not applicable	HARSH MANGAL	Equity	1208870212918446	India	M	Income Tax PAN	HYTPM3448A	STUDENT	600	10	6000
1328	Individual	Other than promoters	Not applicable	KANISHK GUPTA	Equity	1208870217919223	India	M	Income Tax PAN	DMSPG0431C	STUDENT	600	10	6000
1329	Individual	Other than promoters	Not applicable	URVI JAIN	Equity	1208870217940264	India	F	Income Tax PAN	AFWPU9340L	PROFESSIONAL	2400	10	24000
1330	Individual	Other than promoters	Not applicable	PIYUSH KANDPAL	Equity	1208870231785655	India	M	Income Tax PAN	DLZPK3395H	PRIVATE SECTOR	600	10	6000
1331	Individual	Other than promoters	Not applicable	NEHA MODI	Equity	1208870232328258	India	F	Income Tax PAN	GKPPK8347P	PRIVATE SECTOR	600	10	6000
1332	Individual	Other than promoters	Not applicable	MEETU GROVER	Equity	1208870237237837	India	F	Income Tax PAN	AMAPG7923L	BUSINESS	1800	10	18000
1333	Individual	Other than promoters	Not applicable	VIMLA KHANDELWAL	Equity	1208870238068483	India	F	Income Tax PAN	BIRPK6934P	HOUSEWIFE	600	10	6000
1334	Individual	Other than promoters	Not applicable	GAJENDRA SAINI	Equity	1208870238321692	India	M	Income Tax PAN	KNIPS8951M	BUSINESS	600	10	6000
1335	Individual	Other than promoters	Not applicable	REETA GARG	Equity	1208870240671938	India	F	Income Tax PAN	AZAPG9775B	BUSINESS	600	10	6000
1336	Individual	Other than promoters	Not applicable	GOPAL DAMANI	Equity	1208870252064141	India	M	Income Tax PAN	CDIPD9510P	BUSINESS	600	10	6000
1337	Individual	Other than promoters	Not applicable	PADAMJA CHATURVEDI	Equity	1208870255936697	India	F	Income Tax PAN	AQDPC4264D	PRIVATE SECTOR	600	10	6000

1338	Individual	Other than promoters	Not applicable	SRINIVASA RAO ARIGILA	Equity	1208870256757250	India	M	Income Tax PAN	ASMPA2128B	PUBLIC SECTOR	600	10	6000
1339	Individual	Other than promoters	Not applicable	PUNEET KANDPAL	Equity	1208870267997788	India	M	Income Tax PAN	DLZPK2683E	PRIVATE SECTOR	600	10	6000
1340	Individual	Other than promoters	Not applicable	SAINYEM JAIN .	Equity	1208870279438912	India	M	Income Tax PAN	CXDPJ3048M	STUDENT	600	10	6000
1341	Individual	Other than promoters	Not applicable	GAJANAND AGARWAL	Equity	1208870283879157	India	M	Income Tax PAN	AEFPA5612K	BUSINESS	600	10	6000
1342	Individual	Other than promoters	Not applicable	KAMLESH KUMAR JANGIR .	Equity	1208870291923602	India	M	Income Tax PAN	AENPJ4288A	PRIVATE SECTOR	600	10	6000
1343	Individual	Other than promoters	Not applicable	VINOD KUMAR JAT .	Equity	1208870307594103	India	M	Income Tax PAN	BEPPJ1205J	PROFESSIONAL	600	10	6000
1344	Individual	Other than promoters	Not applicable	PRITESH SETHI .	Equity	1208870321396587	India	M	Income Tax PAN	AVPPS9842N	BUSINESS	1800	10	18000
1345	Individual	Other than promoters	Not applicable	ANCHAL GOYAL .	Equity	1208870325153648	India	F	Income Tax PAN	ANVPA0189Q	OTHERS	600	10	6000
1346	Individual	Other than promoters	Not applicable	SAMYAK JAIN .	Equity	1208870326088929	India	M	Income Tax PAN	AJFPJ3957K	OTHERS	600	10	6000
1347	Individual	Other than promoters	Not applicable	ALKA MAHESH WARI .	Equity	1208870330211688	India	F	Income Tax PAN	AKDPM3075C	BUSINESS	600	10	6000
1348	Individual	Other than promoters	Not applicable	ANUJ SABU .	Equity	1208870364266881	India	M	Income Tax PAN	GFLPS3084A	PRIVATE SECTOR	600	10	6000
1349	Individual	Other than promoters	Not applicable	UDAYBHANU SINGH	Equity	1208880003200146	India	M	Income Tax PAN	BKUPS1150G	PROFESSIONAL	600	10	6000
1350	Individual	Other than promoters	Not applicable	MEGHNA MAHESH WARI	Equity	1208880003505225	India	F	Income Tax PAN	BTNPM8656F	OTHERS	1200	10	12000
1351	Individual	Other than promoters	Not applicable	NIRAJ KUMAR AGARWAL	Equity	1208880003592309	India	M	Income Tax PAN	AXSPA7726L	PRIVATE SECTOR	600	10	6000
1352	Individual	Other than promoters	Not applicable	SUKHINDER JEET SINGH	Equity	1208880006650491	India	M	Income Tax PAN	CKBPS6356N	GOVERNMENT SERVICES	3000	10	30000
1353	Individual	Other than promoters	Not applicable	HARSHIT JAIN	Equity	1208880022651254	India	M	Income Tax PAN	BDCPJ8832R	PRIVATE SECTOR	600	10	6000
1354	Individual	Other than promoters	Not applicable	RAJEEV RANJAN SINGH	Equity	1208940003545391	India	M	Income Tax PAN	BEDPS4917N	BUSINESS	600	10	6000
1355	Individual	Other than promoters	Not applicable	DEVANG SHAH	Equity	1208940004468895	India	M	Income Tax PAN	BFQPS9500F	BUSINESS	600	10	6000
1356	Individual	Other than promoters	Not applicable	VARUN patel	Equity	1209000002814666	India	M	Income Tax PAN	ARJPP3970E	BUSINESS	600	10	6000
1357	Individual	Other than promoters	Not applicable	GITA DEVI SARAF	Equity	120902000122638	India	F	Income Tax PAN	AFEPS7726N	HOUSEWIFE	600	10	6000
1358	Individual	Other than promoters	Not applicable	HEMLATA MALOO	Equity	120904000002500	India	F	Income Tax PAN	ADRPM9179N	HOUSEWIFE	3000	10	30000

1359	Entity	Other than promoters	Others	RAHUL RAWAT-PROP	Equity	120917000004284	India	M	Income Tax PAN	AEXFS0492R	BUSINESS	10800	10	108000
1360	Individual	Other than promoters	Not applicable	SANGINI NAGPAL	Equity	1209210000483523	India	F	Income Tax PAN	BBTPN6246A	OTHERS	600	10	6000
1361	Individual	Other than promoters	Not applicable	SARITA DEVI BAID	Equity	120923000015522	India	F	Income Tax PAN	ABFPB2898D	HOUSEWIFE	600	10	6000
1362	Individual	Other than promoters	Not applicable	YOGITA KABRA	Equity	1209290005417753	India	F	Income Tax PAN	CEJPM4787B	PRIVATE SECTOR	2400	10	24000
1363	Individual	Other than promoters	Not applicable	NITIN AGARWAL	Equity	1209290020966274	India	M	Income Tax PAN	AEZPA8039G	BUSINESS	1200	10	12000
1364	Individual	Other than promoters	Not applicable	ADITI BANSAL	Equity	1209500000497110	India	F	Income Tax PAN	EESPB2554E	PRIVATE SECTOR	6000	10	60000
1365	Individual	Other than promoters	Not applicable	NARESH KUMAR	Equity	1209500005373011	India	M	Income Tax PAN	OMVPK0186G	BUSINESS	600	10	6000
1366	Individual	Other than promoters	Not applicable	DHRUV TANEJA	Equity	1209550001947379	India	M	Income Tax PAN	AVWPT2818G	PRIVATE SECTOR	1200	10	12000
1367	Individual	Other than promoters	Not applicable	SHRAVYA BAKLIWAL TANEJA	Equity	1209550014840293	India	F	Income Tax PAN	CFDPB1491N	BUSINESS	600	10	6000
1368	Individual	Other than promoters	Not applicable	Deepika Sharma	Equity	1209550027185160	India	F	Income Tax PAN	GLEPS4481N	PRIVATE SECTOR	600	10	6000
1369	Individual	Other than promoters	Not applicable	SUNNY JAIN	Equity	1209600001428392	India	M	Income Tax PAN	AGZPJ4659F	PRIVATE SECTOR	600	10	6000
1370	Individual	Other than promoters	Not applicable	MAHESH KUMAR CHHIPA	Equity	1209680000094886	India	M	Income Tax PAN	AHKPC5700A	BUSINESS	1200	10	12000
1371	Individual	Other than promoters	Not applicable	KESHAV KOTHARI	Equity	1209680000216804	India	M	Income Tax PAN	NDNPK3945R	BUSINESS	600	10	6000
1372	Individual	Other than promoters	Not applicable	CHANDA DEVI DARGAR	Equity	1209680000303817	India	F	Income Tax PAN	ERRPD7102L	HOUSEWIFE	600	10	6000
1373	Individual	Other than promoters	Not applicable	DIVYA MAHESH WARI	Equity	1301240001239311	India	F	Income Tax PAN	CNSPM0038F	STUDENT	600	10	6000
1374	Individual	Other than promoters	Not applicable	SUNIL KUMAR SONI	Equity	1301240001893808	India	M	Income Tax PAN	ADDPS8508H	BUSINESS	600	10	6000
1375	Individual	Other than promoters	Not applicable	KARAN SINGH SHEKHAWAT	Equity	1301240002909088	India	M	Income Tax PAN	CPLPS1891D	BUSINESS	600	10	6000
1376	Individual	Other than promoters	Not applicable	NAVEEN BANSAL	Equity	1301240004821082	India	M	Income Tax PAN	COCPB3960G	BUSINESS	600	10	6000
1377	Individual	Other than promoters	Not applicable	RITU DANGAYACH	Equity	1301240005867526	India	F	Income Tax PAN	AGTPD4773G	HOUSEWIFE	5400	10	54000
1378	Individual	Other than promoters	Not applicable	RIDDHIMA DANGAYACH	Equity	1301240006309538	India	F	Income Tax PAN	GIJPM4038R	STUDENT	3000	10	30000
1379	Individual	Other than promoters	Not applicable	SWEETY GUPTA	Equity	1301240006309713	India	F	Income Tax PAN	AEYPG2297R	HOUSEWIFE	6000	10	60000

1380	Individual	Other than promoters	Not applicable	ANIRUDD HSINH A. BHATI	Equity	1301520000163479	India	M	Income Tax PAN	AWEPB6150E	STUDENT	2400	10	24000
1381	Individual	Other than promoters	Not applicable	JAYESH SURYAKANT SHETH	Equity	1301870000170111	India	M	Income Tax PAN	BCCPS6242P	BUSINESS	3000	10	30000
1382	Individual	Other than promoters	Not applicable	MAHESH KUMAR SONTHALI A	Equity	1302340000065205	India	M	Income Tax PAN	AHVPS9157Q	BUSINESS	600	10	6000
1383	Individual	Other than promoters	Not applicable	SURENDRA KUMAR HOLANI	Equity	1302340000575784	India	M	Income Tax PAN	ABDPH9848K	BUSINESS	600	10	6000
1384	Individual	Other than promoters	Not applicable	PRAMOD KUMAR SIOTIA	Equity	1302340000582620	India	M	Income Tax PAN	AQMPS4123Q	BUSINESS	2400	10	24000
1385	Individual	Other than promoters	Not applicable	MADHULIKA SIOTIA	Equity	1302340000582918	India	F	Income Tax PAN	AHVPS8633D	HOUSEWIFE	2400	10	24000
1386	Individual	Other than promoters	Not applicable	RAUNAK RAWAT	Equity	1601430102083031	India	M	Income Tax PAN	ASJPR8327A	STUDENT	600	10	6000
1387	Individual	Other than promoters	Not applicable	RTESH CHITLANGIA	Equity	1601430104539365	India	M	Income Tax PAN	ADDPC4483D	BUSINESS	3000	10	30000
1388	Individual	Other than promoters	Not applicable	KUNAL JAIN	Equity	1601430105980599	India	M	Income Tax PAN	AWTPJ7893D	BUSINESS	600	10	6000
1389	Entity	Other than promoters	Others	KAUSHIK SHAH SHARES AND SEC PVT LTD	Equity	1601480000574488	India		Income Tax PAN	AAACK1702C	BUSINESS	24600	10	246000

JPS & ASSOCIATES

COMPANY SECRETARIES

'Shree Dham', 3rd Floor,
R-20, YudhishterMarg,
'C'- Scheme, Jaipur-302 005
Ph. 0141- 4021472,4021474
E-mail id:- jpsassociates@hotmail.com
Website : www.jpsnassociates.com

Form No. MGT-8

[Pursuant to section 92(2) of the Companies Act, 2013 and rule 11(2) of Companies (Management and Administration) Rules, 2014]

CERTIFICATE BY A COMPANY SECRETARY IN PRACTICE

We have examined the registers, records and books and papers of **M/s Goyal Salt Limited** (the Company) as required to be maintained under the Companies Act, 2013 (the Act) and the rules made thereunder for the financial year ended on 31st March, 2025. In our opinion and to the best of our information and according to the examinations carried out by us and explanations furnished to us by the company, its officers and agents, we certify that:

- A. The Annual Return states the facts as at the close of the aforesaid financial year correctly and adequately.
- B. During the aforesaid financial year the Company has complied with provisions of the Act & Rules made there under in respect of:
 1. Its status under the Act i.e. a Public Limited Company, listed on National Stock Exchange EMERGE platform;
 2. The Company has kept and maintained all registers as stated in **Annexure 'A'** to this certificate, as per provisions of the Act and the rules made thereunder and all entries therein have been duly recorded;
 3. The Company has duly filed the forms and returns as stated in **Annexure 'B'** to this certificate, with the Registrar of Companies, Regional Director, National Company Law Tribunal or other authorities within the time prescribed under the Act and the rules made thereunder;
 4. The Company duly called and convened meetings on dates as stated in the annual return in respect of which meetings, proper notices were given and the proceedings including the circular resolutions, have been properly recorded in the Minutes Book maintained for the purpose and the same have been signed;
 5. The Company has not closed its Register of Members during the year under review;
 6. The Company has not advanced any loan to its directors and/or persons or firms or companies referred in section 185 of the Act;
 7. The Company has entered into Contracts/arrangements with related parties as specified in section 188 of the Act and complied with necessary provisions of the Act in this regard;
 8. The Company has not issued any shares, debentures or other securities during the financial year;
 9. The Company has not required to keep in abeyance the rights to dividend, rights shares and bonus shares pending registration of transfer of shares in compliance with the provisions of the Act;



JPS & ASSOCIATES

COMPANY SECRETARIES

'Shree Dham', 3rd Floor,
R-20, YudhishterMarg,
'C'- Scheme, Jaipur-302 005
Ph. 0141- 4021472,4021474
E-mail id:- jpsassociates@hotmail.com
Website : www.jpsnassociates.com

10. The Company did not declare any dividend during the year and it has no amount due to be transferred to Investor Education and Protection Fund;
11. The audited financial statement of the Company duly signed as per the provisions of section 134 of the Act and report of directors as per sub - sections (3), (4) and (5) thereof;
12. The Board of Directors of the Company is duly constituted. The following changes in the Composition of board and KMPs have been made:-

Sl. No.	Name of Director/KMPs	DIN/PAN	Event Date	Nature of Change
1.	Mr. Narendra Dev Garg	10554720	08.08.2024	Regularization from Additional directors to Independent Director

13. The directors have disclosed their interest in other firms/companies to the Board of Directors pursuant to the provisions of the Act.
14. The Company has duly made ratification of re-appointment of auditors as per the provisions of section 139 of the Act;
15. The company was not required to obtain any approvals of Central Government, Regional Director, Registrar, National Company Law Tribunal or such other authorities under the various provisions of the Act, except National Stock Exchange for its Initial Public Offer (IPO), which was duly obtained;
16. The Company has not invited /accepted/ renewed deposits during the financial year and repaid during the year;
17. The amount borrowed by the company from financial institutions and bank during the financial year ending 31st March, 2025 are within the borrowing powers of the company.
18. The Company has duly modified and satisfied the charge on its assets during the financial year and has made proper compliances in this regard. However, there was no creation of any charge on its assets during the financial year.
19. The company has not given Guarantee/loan/Investment to other body corporate as specified in section 186 of the Act and complied with necessary provisions of the Act in this regard.;
20. The Company has not altered of the provisions of the Memorandum of Association of the Company during the financial year;
21. The Company has not altered of the provisions of the Articles of Association of the Company during the financial year;



JPS & ASSOCIATES

COMPANY SECRETARIES

'Shree Dham', 3rd Floor,
R-20, YudhishterMarg,
'C'- Scheme, Jaipur-302 005
Ph. 0141- 4021472,4021474
E-mail id:- jpsassociates@hotmail.com
Website : www.jpsnassociates.com

DATE : 30.12.2025
PLACE : JAIPUR



FOR JPS & ASSOCIATES
COMPANY SECRETARIES

(JAI PRAKASH SHARMA)

PARTNER

COP- 5161

UDIN- F005664G003035460

JPS & ASSOCIATES

COMPANY SECRETARIES

'Shree Dham', 3rd Floor,
R-20, Yudhishter Marg,
'C'- Scheme, Jaipur-302 005
Ph. 0141- 4021472,4021474
E-mail id:- jpsassociates@hotmail.com
Website : www.jpsnassociates.com

Annexure-A

Statutory Registers as maintained by the Company		
1.	Register of Members (Maintained by RTA)	88(1)(a)
2.	Register of Charges	85(1)
3.	Register of Share Transfer(Maintained by RTA)	88 (1)
4.	Minutes Books of the Board Meetings and General Meetings.	118(2)
5.	Register of Contracts, Companies and firms in which Directors are interested	189 (1)
6.	Register of Directors, Managers and Secretaries	170 (1)

Annexure :- B

Forms and Returns filed by the Company with Registrar of Companies during the financial year ending 31.03.2025							
S. No.	Form No. / Return	Filed under Section	For	Date of filling	Date of payment	Whether filed within prescribed time Yes/No	If delay in filling whether requisite additional fee paid Yes/No
1	Form MGT-14	179	Approval of Audited Financial statement and Appointment of Internal Auditor and Secretarial Auditor	22.05.2024	22.05.2024	Yes	No
2	Form DPT-3	Rule 16 of Deposits Rules	Return of Deposits as on 31.03.2024	08.06.2024	08.06.2024	Yes	No
3	Form CHG-4	82	Satisfaction of charge	22.06.2024	25.06.2024	Yes	No
4	Form CHG-1	77, 78, 79	Modification of charge	25.06.2024	01.07.2024	No	Yes
5	Form MGT-14	179	Approval of Directors Report and borrowings	25.07.2024	25.07.2024	Yes	No
6	Form ADT-1	139	Re-appointment of Statutory Auditor	21.08.2024	21.08.2024	Yes	No
7	Form MGT-15	121(1)	Report on Annual General Meeting	21.08.2024	21.08.2024	Yes	No
8	Form DIR-12	149, 152	Change in designation of Narendra Dev Garg as Independent Director	28.08.2024	28.08.2024	Yes	No



JPS & ASSOCIATES

COMPANY SECRETARIES

'Shree Dham', 3rd Floor,
R-20, YudhishterMarg,
'C'- Scheme, Jaipur-302 005
Ph. 0141- 4021472,4021474
E-mail id:- jpsassociates@hotmail.com
Website : www.jpsnassociates.com

9	Form MGT-14	117	Filing of Resolutions passed in AGM	28.08.2024	30.08.2024	Yes	No
10	Form AOC-4XBRL	137	filing XBRL document in respect of financial statement and other documents as on 31.03.2024	05.09.2024	05.09.2024	Yes	No
11	Form MGT-7	92 (1)	Annual Return	04.10.2024	04.10.2024	Yes	No
12	Form CHG-1	77, 78, 79	Modification of charge	15.10.2024	16.10.2024	No	Yes
13	Form CHG-1	77, 78, 79	Modification of charge	15.10.2024	16.10.2024	No	Yes
14	Form CHG-1	77, 78, 79	Modification of charge	06.01.2025	07.01.2025	Yes	No

Forms and Returns filed by the Company with Regional Director, Central Government or other authorities under the Act during the financial year ending 31.03.2025

NIL

